SANT

HEMHEH TR
CNC CUTTING TOOLS

O EAMETSFEMES INS O

EEkNA

SANT CHNC TOOLS

EXREFH/GHI/ALMINR/ITRRS

SANT PRECISION TOOL FOR TURNING / MILLING / DRILLING/TOOLING SYSTEMS

2018-2019 FE = mBU R
CATALOGUE 2018-2019

2018-2019h

éﬂﬁﬁl]!]][

ontactinformation of dealer

%16102-81L0¢C

© EMEEDHNAERA

WWW, hnsant com
SANT zZHUZHOU SANT CUTTING TOOLS CO. ,LTD.



HRINZIRIHEITI R BRINZIXTIEIZIR

ZHUZHOU SANT CUTTING ZHUZHOU SANT CUTTING

SANT / A&
INTRODUCTION

Zhuzhou Sant Cutting Tools Co., Ltd is a modern joint-stock company specializing in the
designing, producing and selling of CNC cutting tools and cemented carbide tools. Located in
- — Zhuzhou,one of the biggest manufacturing bases of cemented carbide cutting tools in China,our
company mainly produces various cnc turning tools, milling tools, drilling tools, cnc inserts, tooling

HRANRIATIETIRERATE—REWRIT, SIEREESRIARERSSTRT . A L S
THESANERSEEEE——1tkill. 2EEREE~REG: #dz%7]). =), FLnINA. We have strong design team and complete quality-testing system and have passed the 1S09001
iz B . TERAGRZEERSSHR Certification of Quality Management System. Besides, ERP system is adopted to improve the efficient
- v L EHRE = s o _ o = e o = and accurate management. More importantly, we have various kinds of processing equipment,
ATHREEARIRITHER, EBidTISO001REEEARIAIL; RAERPRFHTHIERNE including MAZAK five-axis linkage high precision machining center, ANCA five-axis linkage high
2. HEEEMAZAKRMEDISREEIN LS. ANCARHEGISEEES IR OMERNZaEEEINT precision grinding center.In order to make sure the quality of "SANT" series products always stands at
¢ . . e 5% the front of the industry, we have established collaboration relationships with many outstanding

fEXZ&R, LUAR “SANT” RFF-maIRERAR % FTI MK E.

With the experience of designing and manufacturing cnc cutting tools for many years, we can

LEARSFNRIT RIS ARERSEF-miVER, REARFIRHSSEMII], 1B provide customers with various non-standard tool holders,and can also provide a complete set of
SRR ET RN TIrEN ) EREAXZREZRKEHESSHR. A FF% ‘FESE—, REEL" ® supporting scheme for required tools during the processing as well as varies carbide tools. In
S, SetHEirss sy T RN AIE accordance with the principle"Quality First, Service Supreme", we have established long-term friendly
iy =3 s s | o

cooperation relationships with many customers all over the world.




BHR() H=(E)

CONTENTS CONTENTS

A RHITJBE—E

PRI po1~P06 P96~P100
Proudut Preview INDEXABLE MILLING TOOLS OVER CIEW
SRl E 5T B S ER ~ S o
ISO-INDEXABLE EXTERNAL Ttﬁgwme ToOoL C?E}E KEY A2t - Dgfi&iﬁi”ﬁ%&i%;?ﬂ% P101~P102
MZ SMNEZET]  pp9~pP20
M TYPE EXTERNAL TURNING TOOL HOLDERS ARSI T] B S Z 103 PADR
PR SNEIZET] P21~P28 INDEXABLE MILLING TOOLS CODE KEY
P TYPE EXTERNAL TURNING TOOL HOLDERS
SHE SMNAEIZET] ~
S TYPE EXTERNAL TURNING Togfg;%sr{s P29~P40 EJ%TE%%UHE%EU
C TYPE EXTERNAL TURNII&%?I%EJR]S P41~P44 S
EIREY]
DR HNEIZET] PA5~P52 FACE ELLING Tcuc?L'sl P105~P148
D TYPE EXTERNAL TURNING TOOL HOLDERS AT 5]
W TYPE EXTERNAL TURN?&%?IF%EE P53~P54 s S e
stz IAEYl
PROFILE MILLING TOOLS P168~P174
CEE LTI =
INTER TURNING TOOL HOLDER SCUTDE KEY P55 CIDE AND;EELﬁJgfﬂ P175~P181
ME! WFLZET]
M TYPE INTERNAL TURNING TOOL HOLDERS P56~P63 CHAMFﬁJﬁLﬁ?T’f‘OﬁLE P182~P184
PES 97,2 7] ~ ~
P TYPE INTERNAL TURNING ToclijI HO%ERS At Ao ﬁﬁ?@?pésﬁ%ﬁe)cﬁzg P185~P191
SE WFLET] 1
S TYPE INTERNAL TURNING TOOL HOLDERS P67~P76 e END%E?%E%\E%;{! P192~P193
S BIETIFF B o
S TYPE INTERNAL TURNING TOOL HOLDERS P775R79 Mﬁ%{ﬁ%ﬁﬁ P194~P198
R ZE T B S5 B
THREADING TOOL HOLDERS ggf KEY P80 o ¥ LEFLEE RS P199~P215
INDEXABLE U DRILL
IMRZET]
EXTERNAL THREADING TOOLS P&l
REEZET]
INTERNAL THREADING TOOLS P82
EDHT) T2 S 583 P83
PARTING AND GROOVING HOLDERS CODE KEY
ERIIET]  pga.~pgs

PARTING GROOVING TURNING TOOLS



H=x(=)

CONTENTS

ZHIJIE | TURNING TOOLS

Bz E8E%3 Top and hole clamping

BRI TR P216~P221

Collet chuck arbors

o = .
%*@ fl;ﬂ';#\- E*&*Mﬁ*ﬂ‘%ﬂﬁ% @:T:tn Top and hole clamping dualclamp.

Extens}l%‘rl-;tga?r hee Draigieatunes %@h%ﬁﬁﬁ?ﬂlﬂ ~ EJHEIA. Great fastenering fastening force.
Eﬁﬁ%%nﬁ P223~P224 T REEMB , EiFTHA. Indexable inserts, economy and durability.

Power milling chuck arbors

MIE=7I4% P225~P227 MCBNR/L MCLNR/L MCKNR/L MDJNR/L
Side lock end mill chuck
EXPETIR P228~P232

Shell end mill arbors

ERERCHIE P233~P234

Morse taper with tang MDQNR/L MSBNR/L MSRNR/L MSKNR/L
Tolm R EGHEAR P235~P236
Morse taper without tang [
MTGNR/L i MTJNR/L \ [MTUNRL®B) i
MTENN * MVJINR/L - MVVNN i MVQNR/L
| @ - '...

MRDNN q MRGNR ﬂ MWLNR/L q

WP HﬁE%ﬁ Hole clamping

PCBNR/L PCLNR/L PDJNR/L PDNNR/L PRDCN
g - - -

THREGEGRRISHRTR #1552 kM thwww hnsant.com

 =ETISETIE P237~P238
Tool shank for side milling cutter
TERSMH P239~P245

Tool system accessories

TERGFAGEE P246~P252

Tool system technical information

For more details please visitwww.hnsant.com



ZHIJIH | TURNING TOOLS

FEETISS Product Overvie

#H = 71 B

#H = 71 B

[ | C% Eﬁﬁgﬂ Top clamping

ZHIJIH | TURNING TOOLS

oduct Overview F=EATlM

CCLNR/L

CTINR/L \

CTUNR/L

\

CSKNR/L

|\

CSDNN

PRGCR/L \ PSBNR/L PSKNR/L 1 PSSNR/L

3 Ad
PTFNR/L q PTTNR/L ﬂ PTGNR/L ﬂ PWLNR/L
WSk BETERI screwon

+ ;éﬁﬁﬂ%fﬂgiﬁk_t%o Using screw for direct clamping.
é:é':*@ ¢v,§\: %*@ﬁ%ﬁﬂ'ﬁ:&l\a Simple structure,fewer parts.
Design features #& ~ I HA. Apply For Micro And Medium Processes.
SCACR/L SCLCR/L SDACR/L SDJCR/L SDNCN
- - -

SVJCR/L

SVJBR/

\

SVACR/L

SVVCN

(VA

STACR/L

\
\

SSBCR/L

\

SSKCR/L q

SSSCR/L

STTCR/L q

SWACR/L

SRACR/L

\

SRDCN

\

THRAGEFBERIERB X #HEEKMNwww.hnsant.com

HWwW ﬂﬂ_‘.gﬂ Wedge clamping

CDJNR/L

CSRNR/L

WTQNR/L

| |

W DE EERN

WTENN \

WTJNR/L

\|

WWLNR/L

Wedge clamping

DCBNR 1 DCKNR

\

DDQNR \

THRAGEFBREBE R #EFEEMRMN‘Ewww.hnsant.com

For more details please visit:www.hnsant.com

For more details please visit:www.hnsant.com



ZHIJIH | TURNING TOOLS

FEERTIES Product Overview

B &= 71 A

lj*] }Liﬂ Internal toolholders

[ | M% E‘.?.'J:T-Jéit Top and hole clamping

MCKNR/L | MCLNR/L MDQNR/L MDUNR/L MDZNR /L

\

MSKNR /L MVQNR/L MVUNR/L MVWNR/L MVXNR /L
MWLNR/L MTFNR /L MTQNR/L MTJNR/L MTUNR/L

MTWNR/L

[ | P% #IFH:EQ%;‘:Q Hole clamping

PCLNR/L PDSNR/L PDUNR/L PSKNR/L PTFNR/L

PWLNR/L

THRAKEFBERERBE X #EEZMNwww.hnsant.com

#H = 71 B

[ | S# !',%%TEE%;‘:Q Screw on

ZHlIJ718 | TURNING TOOLS
ey SMNEIZETIHIRS AN

SCLCR/L

SCLCR/L-H \

SCKCR/L \

SCLPR/L \

SDQCR/L

\

SDUCR/L

\

SDZCR/L

SDXCR/L 1

SDWCR/L ‘

SSKCR/L

SSSCR/L

A\

STWCR/L \

STFCR/L

STFPR/L

STUPR/L

AVA

STUCR/L

\

SVQCR/L

SVQBR/L

SVUCR/L

SVWCR/L

A\

SVXCR/L

\

SVZCR/L

. Sgé gﬁiﬂﬁl?l,ﬂﬁ Tungsten steel Internal Turning tools

SCLCR

T

sDQC

SDUC

Y

STFC

\

STUP

W\
Ll

Swu

TRACEFBREHE X ¥EBEEMMNBwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI %#I718 | TURNING TOOLS

SNEIZETIRVBLEFRHIN 1SO-indexable Inse ools Code Key 4MNEZEJIRIBLE RN

P S C D R R
BRZC 7 H)) J] H Threading tools [E} {{li:z
HAPIEE BEETHER Q — E
Hole clamping Screw on
SWR/L(H) SNRIL(H)
S T \"/ L
ja g =
Top and hole clamplng Top clamplng
D w N
P)Wr )48 7] H. Parting, grooving tools @ ‘ T
) 80°
[ | 9" N iﬁﬁtﬂ ﬁﬂ”‘gﬂﬁ External Parting, Surface Grooving Tools 1. E% A clamping system 2. 715 4R Insert shape I 5.31H 75 W
Cutting direction
Juf5 Example | | 1
ZQ KGBR/L QE[COR/L QLIDR/L(HZY) I
RE ' L M c L N R
QFCIR/L(LE! ) QFCIRR(HE!) QFCILL(LE! ) MGEHR/L MGIVR/L ‘ 471K G
37]§ﬁ§'t5$ﬁﬁ Holder style and leading angle Insert clearance angle
C o0 D E F N
90
ﬂ “‘T] 0N D
COO-QODRIL QE[IS PHS B
75° o
107°30’ = 95° 50 c
70
117°30" 10730
o B NE L
D
\'} W X 15°
X 72730’ 60’ -
E

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




S | INYS

ZHIJIH | TURNING TOOLS

SMN&RZET] External turning toolholde

SUBR R4 % f:h=8mm, 5 408

Integers to be proceeded by 0

eg:h=8 indicated by 08

Sebsl | e

12 12 )

16 16 h,
20 20

25 25

32 E7)

40 40

50 50

6.71 R = E Tools-tip height

|
25 25 M 12
|

Svobsl | B
12 12
16 16
20 20
25 25
32 2
40 40
50 50

7.7MABEE shank width

B o= 7 A

=

5:b=8mm, 5 408
Integers to be proceeded by 0
eg:b=8 indicated by 08

8.7MNAKE
Tool length
Re | K RS | K
Code |Length Code |Length
E 70 b} §
F 80 7)) E
G| % - 8
H | 100 c| g
K | 125 <| &
N
M | 150 = g
P 170

9*]]%"]7]'& Cutting edge length

VADARIZ)N
Insert Shape

R

O

-

In@c}r%ied Cuu?gﬁ”ﬂ]‘[’ﬁfg
Circle g Edge Length
5.556 09
6.350 06 07 11
9.525 09 11 09 09 16 16
12.700 12 15 12 12 22 22
15.875 16 19 15 15 27
19.050 19 19 19 33
25.400 25 25 25 44

THRAKEFBERERBE X #EEZMNwww.hnsant.com

#H = 71 B

MCLNR/L

95°

ZHIJ71IH2 | TURNING TOOLS

Dimension(mm) LA

Applicable Inserts
IR

Clamping screw
BEKERET

Shim
JI3

Wrench

WF

Clamp
JEsAiR

ernal turning toolholders 4NgEIZET]

(lamping stud
HET

MCLNR/L 1616H12 16| 16 [100| 16 | 21 | 30
WS061025
2020K12 20| 20 |125| 20 | 25| 28
2525M12 25| 25 (15025 | 32 | 82| CN oo 120400 MC1204 s3 MCL1814 | MSP617
3225P12 32| 25|170| 32 | 32| 32 WS061030
3232P12 32| 32(170| 32 | 39| 32
2525M16 25| 25150 | 25 | 32| 38
3225P16 32| 25(170| 32 | 33| 38| CNoo 160600 WS061030 | MC1604 3 MCL2114 | MSP821
3232P16 32| 32(170| 32 | 40| 38
3232P19
821321170132 1 40143 1\ 190600 WS081030 | MC1904 S4 MCL2217 | MSP1021
4040R19 40| 40 |200| 40 | 50 | 43

75°

Dimension(mm) FEA R~

Applicable Inserts
IR

Clamping screw

XK IEET

Shim
T

Wrench

T

Clamp
A

(lamping stud
HiET

MCBNR/L 2020K12 20| 20 |125| 20| 17 | 32 WS061025
2525M12 25| 25(150| 25| 22 | 32| CNoo 120400 MC1204 3 MCL1814 | MSP617
WS061030
3225P12 32| 25|170| 32 | 22 | 32
2525M16 25| 25 [150| 25 | 22 | 36
3995P16 30| 25 170| 32| 22| 35| CNoo 160600 WS061030 | MC1604 S3 MCL2114 | MSP821
3232P16 32| 32(170| 32| 27 | 35
3232P19 32|32 (170| 32| 27 | 40
CNoo 190600 WS081030 | MC1904 S4 MCL2217 | MSP1021
4040R19 40| 40200 40 | 35 | 40

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI7182 | TURNING TOOLS §BHI §Au1 ZHI7JH | TURNING TOOLS

4MEIZET] External turning toolholders External turning toolholders §Mg|ZE7]

MCKNR/L MDPNN
75° J 62°30'

5 ‘db Jb 9

Clamp Clampjng stud

JEsAi FHET Clmpingscrew ~~— Shim Wrench ~ Clamp  Clamping stud
- XEKIRAET Pak: T AR |
MCKNR/L 2020K12 20 | 20 |125 | 20 | 25 | 28 WS061025
2595M12 | 25 | 25 | 150 | 25 | 32 | 28 | CNoo 120400 MC1204 s3 MCL1814 | MSP617 MDPNN 1616H11 16 | 16 |100| 16 | 8 | 35 WS5061025
3225P12 32 | 25 [170 | 32 | 32 | 28 Ws061030 2020K11 20 | 20 | 125 | 20 | 10 | 34 D 1103 s2 wcL1sia | mspst3
2525M11 25 | 25 | 150 | 25 |12.5| 36 | DNom1104an s3
2525M16 25 | 25 (150 | 25 | 32 | 30 WS061030
3905P16 | 32 | 25 | 170 | 32 | 32 | 30 | CNoo 160600 WS061030 |  MC1604 3 MCL2114 | MSP821 3225P11 3271250 7077827 2:57 785
2020K1504/06 20 | 20 [125| 20 | 10 | 42
3232P16 | 32 | 32 (170 | 32 | 38 | 30 WS061025
3032P19 2525M1504/06 | 25 | 25 | 150 | 25 |12.5| 42 | DNos 1504cc o | ucprn | 2OV
> | 32 |170 | 32 | 4
2040R1 io 8 03 01 36 | Noo 190600 WS081030 |  MC1904 54 MCL2217 | MSP1021 3225P1504/06 32 | 25 [170 | 32 [125| 42 | DNoo150600 | wsoet030 | MD1304 06:MSP619
40 | 200 | 40 | 48
36 3232P1504/06 32 32 170 32 16 42
MDJNR/L MDQNR/L

107°30’

93°

: : . (lamping Screw Shim Wrench Clamp  (Clamping stud Clamping Screw Shim Wrench Clamp  Clampingstud
Dimension(mm) A/ SCLET % RF IR BT : : AOLET  E RF R AT
MDJNR/L 1616H11 16 | 16 | 100 | 16 | 20 | 30 MDQNRL 1616H11 16 | 16 | 100 | 16 | 21 | 30 WS061025
WS061025
2020K11 20 | 20 | 125 | 20 | 25 | 32 | DNoo 1104ao s2 st 2020K11 20 | 20 (125 | 20 | 25 | 32 DN 1104 WD 1103 s2 wcLis1a | MsP513
MD1103 MCL1814 | MSP513 65 110400
2525M11 25 | 25 | 150 | 25 | 32 | 32 WS061030 s3 2525M11 25 | 25 | 150 | 25 | 30 | 30 WS061030 s3
3225P11 32 | 25 |170 | 32 | 32 | 32 3225P11 2 || E5 | | €2 | 2 || &0
2020K1504/06 | 20 | 20 | 125 | 20 | 25 | 36 WS061025 2(5);(5);1155%‘://%(; 20 | 20 | 125 | 20 | 27 | 36 WS061025
2525M1504/06 | 25 | 25 | 150 | 25 | 32 | 38 | DNao 150400 04:MSP617 25 125 180 25 | 32 | 39 PNos 150400 3| McL2114 omspeT?
N 3225P1 504/06 32 25 170 32 32 35 DNoo 150600 WS061030 MD1504 06:MSP619
3225P1504/06 32 | 25 |170| 32 | 32 | 38 DNoo 150600 WS061030 | MD1504 53 MCL2114 . ’
06:MSP619 3232PT504706 | o5 | a2 | 170 | a2 | 40 | a5
3232P1504/06 | 32 | 32 | 170 | 32 | 40 | 38
4040R15 40 | 40 | 200 | 40 | 48 | 40 DNoo 150600

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS §BHI

SMN&EZEJ] External turning toolholders

MSBNR/L
75°

Applicable Inserts Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) %A R~ AR REISET IR wRTF JEAR AT

MSBNR/L 2020K12 20| 20 [125| 20| 17 | 34 WS061025
2525M12 25| 25 [150| 25| 22 | 32 | SNoo 120400 MS1204 s3 MCL1814 | MSP617
3225P12 32 | 25 [170| 32 | 22| 32 W5061030
2525M15 25| 25 [150| 25 | 22 | 38
SNoo 150600 WS061030 | MS1504 s3 MCL2114 | MSP821
3232P15 32| 32(170| 32| 29 | 38
3232P19 32| 32(170| 32| 27 | 45
SNoo 190600 WS081030 | MS1904 S4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 35 | 45
4040825 40 | 40 |250| 40 | 34 | 60 | SNoo 250900 WS101035 | MS2508 4, 5 MCL3220 | MSP1229
75° -

Applicable Inserts Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FARR~F CURE[inpA)ey KL MEET JIH wRF JEAR AT

o) o* ol &
MSRNR/L 2020K12 20| 20 [125] 20 | 22 | 32 WS061025
2525M12 25| 25150| 25 | 27 | 32| SNoo 120400 MS1204 S3 | MCL1814 | MSP617
3205P12 32| 25 |170| 32 | 27 | 32 W5061030
2525M15 25| 25 150 25 | 27 | 38
SNoo 150600 | WS061030 | MS1504 $3 | MCL2114 | MsP821
3232P15 32| 32170 32 | 35 | 38
3232P19 32| 32 |170| 32 | 35 | 43
SNoo 190600 | WSO81030 | MS1904 s4 | McL2217 | MsP1021
4040R19 40| 40 |200| 40 | 43| 43
4040525 40| 40 |250] 40 | 43| 55|  SNoo 250900 |WS101035 | MS2508 S5 | MCL3220 | MSP1229

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

§nu1 #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

MSKNR/L
75°

Applicable Inserts ~ Clamping screw ~ Shim Wrench ~ Clamp  Clamping stud
R REkgET TR T i BiET

MSKNR/L  2020K12 20| 20 [125| 20 | 25 | 28 WS061025
2525M12 25| 25 [150| 25 | 32| 27 | SNaoo 120400 MS1204 S3 MCL1814 | MSP617
WS061030
3225P12 32| 25 [170| 32| 32 | 27
2525M15 25| 25 [150| 25 | 32 | 32
SNao 150600 WS061030 |  MS1504 s3 MCL2114 | MSP821
3232P15 32| 32 |170| 32| 38 | 32
3232P19 32|32 [170| 32| 38 | 36
SNao 190600 WS081030 | MS1904 4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 50 | 40
4040525 40| 40 |250| 40 | 50 | 45 | SNoo 250900 WS101035 | MS2508 $4, S5 | MCL3220 | MSP1229

45°

Applicable Inserts (lamping screw Shim Wrench  Clamp (lamping stud
Dimension(mm) FEA R~} I XEKIBAT TR WF Ji A AT

MSDNN 2020K12 20| 20 (125 20 | 10| 34 WS061025
2525M12 25| 25 |150| 25 |(12.5 34 SNoo 120400 MS1204 S3 MCL1814 MSP617
WS061030
3225P12 32| 25 |170| 32 |12.5 34
2525M15 25| 25 [150| 25 |12.5] 42
3232P15 32| 32|170| 32 | 16 | 42 SNoo 150600 WS061030 MS1504 S3 MCL2114 MSP821
3232P19 32| 32170 32 | 16 | 45
SNoo 190600 WS081030 MS1904 S4 MCL2217 MSP1021
4040R19 40 | 40 [200| 40| 20 | 50
4040825 40 | 40 |250| 40 | 20 | 60 SNoo 250900 WS101035 | MS2508 S4, S5 MCL3220 | MSP1229

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI7]JH | TURNING TOOLS

4MEIZT] External turning toolholders

MSSNR/L

45°

Dimension(mm) 45 X~

Applicable Inserts
Edgiliva)ay

(lamping screw

XK HRET

Shim
PAK:!

Wrench
W

B o= 7 A

Clampd
FA

(lamping stud
FHAT

MSSNR/L  2020K12 20| 20 |125| 20 | 25 | 36 WS061025
2525M12 25| 25 [150| 25 | 30 | 36
SNoo 120400 WS061030 | MS1204 S3 MCL1814 | MSP617
3225P12 32| 25(170| 32 | 30 | 33
3232P12 32| 32170/ 32| 38 35
2525M15 25| 25 [150| 25 | 30 | 40
SNoo 150600 WS061030 | MS1504 S3 MCL2114 | MSP821
3232P15 32| 32 [170| 32 | 38 | 40
32| 32 [170| 32 | 38 | 45
s23aR0D) SNoo 190600 WS 081030 | MS 1904 S4 MCL2217 | MSP1021
4040R19 40 | 40 |200| 40 | 46 | 45
4040825 40 | 40 |250| 40 | 50 | 60 SNoo 250900 WS101035 | MS2508 S4, S5 | MCL3220 | MSP1229
90°
H j
€ L

Dimension(mm) 7 R~

Applicable Inserts

FEHTT

(lamping screw

WRIRET

Shim
YA

Wrench
WF

Clamp
AR

(lamping stud
HHET

MTGNR/L 2020K16 20| 20 [125] 20 | 25 | 32 WS061025
2525M16 25| 25 150| 25 | 32 | 30| TNao 160400 MT1603 5523 MCL1814 | MSP513
WS061030
3225P16 32| 25 170 32 | 32| 30
2525M22 25| 25 |150| 25 | 32| 36
3205P22 32| 25 [170| 32 | 32| 36 | TNuo 220400 WS061030 | MT2204 s3 MCL2114 | MSP617
3232P22 32| 32 |170| 32| 38| 36

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

B = 71 A

MTJNR/L
93°

Applicable Inserts (lamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA R~} I N A Ak:] T JEAR HH4T

MTINR/LL 1616H16 16| 16 [100| 16 | 20 | 28 WS061025
2020K16 20| 20 |125| 20 | 25 | 32
52,
2525M16 25125150] 25|32 | 32 | TNy, 160400 | WS061030 | MT1603 <3 | MCL1814 | MsP513
3225P16 32| 25170 | 32 | 32 | 32
3232P16 32| 32170 32| 32| 32
2525M22 25| 25150 25 | 32 | 36
3232P22 32| 32170/ 32| 38 36

Applicable Inserts (lamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) %jx)i‘ﬂ“ IR XL WRET JI# wF JERR AHET

MTJNR/L 1616H16B 16 | 16 [100| 16 | 20 | 28 WS061025
2020K16B 20| 20 125 20 | 25 | 32
52,
2525M16B 25| 251150| 25| 82| 82 | No1604on | WS061030 | MT1603 P MCL1814 | MSP513
3225P16B 32| 25 [170| 32 | 32| 32
3232P16B 32|32 [170| 32 | 32| 32
2525M22B 25| 25 [150| 25 | 32 | 36
3005P20B 30| 25 |170| 32 | 32 | 36| TNoo 220400 | WS061030 | MT2204 $3 MCL2114 | MSP617
3232P22B 32| 32170 32 | 38 | 36

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI71H2 | TURNING TOOLS §BHI §BHI Z #7182 | TURNING TOOLS

4MEZET] External turning toolholders External turning toolholders §Mg|ZE7]

MTFNR/L MTENN
90°

Applicable Inserts ~ Clamping screw Shim Wrench Clamp  Clamping stud

Applicable Inserts ~ Campingscew ~~ Shim ~ Wrench ~ Clamp  Clamping tud Dimension(mm) &4 U5 I WIRE] TR IER JiAR AT

Dimension(mm) 7R~ GUsiliapALEy KRBT WAk WF AR HHAT

@ A M sdaca»
MTENN 1616H16 16| 16 |100| 16 | 8 |32
MTFNR/L 1616H16 16| 16 [100| 16 | 21| 28 WS061025 SOS0K16 20 1 20 1125 20 | 10 | 24 W5061025
2222;112 Zz zz 122 zz ZZ ZZ %2, 2525M16 25| 25 |150| 25 [12.5| 32 |  TNao 160400 MT1603 Z MCL1814 | MSP513
TNoo 160400 WS061030 | MT1603 $3 MCL1814 | MSP513 3039P16 32| 32 |170| 32 | 16 | 32 WS061030
3225P16 32| 25(170| 32 | 32 | 32
3232P16 32| 32 (170| 32| 38 | 32
2525M22 25| 25 [150| 25 | 32 | 36
3005P22 32| 25 1170| 32 | 32 | 36| TNoo 2204a0 WS061030 | MT2204 s3 MCL2114 | MSP617
3232P22 32| 32|170| 32| 38 | 36 MVJNR/L
MTQNR/L <

105°

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) AR~ AEHRI R BEKIRET T #F HEA 5T

Applicable Inserts  Clamping screw Shim Wrench Clamp  (Clampingstud

Dimension(mm) SA R W ok 0E RE RR B ’ <= ¢ ) &
’ MVJINR/L 1616H16 16| 16 [100| 16 | 22 | 43
WS061025
2020K16 20| 20 [125| 20 | 26 | 45
VNoo 160400 S2
MTQNR/L 2020K16 20 | 20 [125| 20 | 29 | 25 WS061025 2525M16 25|25 |150| 25| 82| 45| 1y gy MV1603 o MCL2414 | MSP513
2525M16 25|25 150| 25| 35| 28| TNoo 160400 wsos1030 | MT1603 5523 MCL1814 | MSP513 3225P16 s2|25|170 32| 32| 45| WSs061030
3225P16 32| 25(170| 32 | 35| 25 3232P16 32| 32 |170| 32 | 40 | 45
2525M22 25| 25 |150| 25 | 38 | 36 MT2204 3 MCL2114 | MSP617
TNoo 220400 WS061030
3232P22 32| 32 |170| 32 | 46| 36

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI7]JH | TURNING TOOLS §BHI

4MEIZT] External turning toolholders

MVVNN
72°30

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
JiS HET

Dimension(mm) FEA R ) ERTI A XK MRET JIH T JEHR

MVVNN 2020K16 20| 20 (125 20| 10| 45 WS061025
25| 25 |150| 25 (12.5| 45 S2
ailie VNoo 160400 WS061030 MV1603 . MCL2414 MSP513
32| 25 |170| 32 |12.5| 45
3225P16 U bR R T
3232P16 32| 32(170| 32| 16 | 45
93°

Applicable Inserts

Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA s} CazE[sapaYay

WKIRE] TR IR FsAR BT

MVUNR/L 1616H16 16| 16 |100| 16 | 20 | 45
WS061025
2020K16 20 | 20 (125| 20 | 25 | 45
VNoo 160400 S2
2525M16 25| 25 (150| 25 | 32 | 45 MV1603 MCL2114 | MSP513
HEERE T S3
3225P16 32| 25(170| 32 | 32 | 45 WS061030
3232P16 32| 32|170| 32 | 40 | 45

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

MVQNRI/L
117.5°

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
EHRI R NEKIBET T #F H AR 5T

MVQNR/L 1616H16 16 | 16 |100| 16 | 24 | 36 WS061025
2020K16 20| 20|125| 20 | 27 | 36 Mo 1604 .
2525M16 25| 25|150| 25| 33 | 36 | 1o gkt ) MV1603 5 MCL2114 | MSP513
3225P16 32| 25(170| 32 | 33 | 36 WS061030
3232P16 32| 32(170| 32 | 40 | 36
95°
H a
S 0 b
e L

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA R IR XNEKIRET T T JEAR AT

MWLNR/L 2020K06 20| 20 [125| 20 | 25 | 28 WS061025 S2

WNoo 060400 MWO0603 MSP513
2525M06 25| 25(150| 25 | 32 | 30 WS061030 s3
2020K08 20 | 20 [125| 20| 26| 28 WS061025

MCL1814

2525M08 25| 25(150| 25 | 32| 35

WNoo 080400 MWO0804 S3 MSP617
3225P08 32| 25[170| 32| 32 | 35 WS061030
3232P08 32| 32]170| 32 | 40| 35

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

4MNEZET] External turning toolholders

MRGNR

Dimension(mm) A R~

Applicable Inserts ~ Clamping screw

MR

BEKERET

P

Shim
PAE:S

Wrench

T

B o= 7 A

Clamp
AR

(lamping stud
HHET

" 4

MRGNR/L 2020K12 20| 20 |125| 20 | 25 | 28 WS061025
2525M12 25| 25 [150| 25 | 32| 32 s
RNoo 120400 MR1204 MCL1814 | MSP617
3225P12 32| 25 [170| 32| 32| 32 WS061030
3232P12 32| 32(170| 32| 39 | 32
s
h a
Gl(@ b
- —P,
e
L

Dimension(mm) AR~

IR

Applicable Inserts

(lamping screw

BEKBRET

Shim
A

Wrench
T

Clamp
A

Clamping stud
HYET

4

MRDNN  2020K12 20| 20 [125] 20 | 10| 30
2525M12 25| 25 |150] 25 [12.5] 32
3225P12 32| 25|170| 32 |12.5| 30
3232P12 32| 32 [170] 32| 16| 30

RNoo 120400

WS061025

WS061030

MR1204

S3

MCL1814

MSP617

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

B = 71 A

PCBNR/L
75°

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) JEA R~} fERI] R BRET JJH WF ALAT R

PCBNR/L 2020K12 20|20 |125| 20 | 17 | 30
2525M12 25| 25|150| 25 | 22 | 26 CNoo 120400 VHX0821 PC12318 S3 Lv4 SP4
3232P12 32| 32|170| 32 | 29| 27
2525M16 2512511901 25| 22 | 82 CNoo 160600 VHX0825 PC16476 S3 LV5 SP5
3232P16 32| 32(170| 32 | 27 | 33
3232P19 32| 832|170 32 | 27 | 38
4040519 40 | 20 |250| 40 | 35 | 38 CNoo 190600 VHX1027 PC19476 S4 LvVé SP6
404082507 40 | 40 |250| 40 | 37 | 50 CNoo 250700
404052509 40 40 |250| 40| 37| 50| e 280900 | P | PO $5 v sP8

PCLNR/L

95°

Applicable Inserts Wrench Lever Shim pin
Dimension(mm) FEA< R~} AEFIT F ATAF R

PCLNR/L 1616H09 16| 16 [100| 16 | 20 | 20
2020K09 20| 20 [125| 20| 25| 22| CNoo 0903mo VHX0613 | PC09318 S25 Lv3 SP3
2525M09 25| 25 [150| 25 | 32 | 22
2020K12 20| 20 [125| 20 | 26 | 28
2525M12 25| 25 [150| 25 | 32| 28| CNoo 120400 VHX0821 | PC12318 S3 V4 SP4
3232P12 32| 32[170| 32 | 39 | 32
2525M16 251251180125 |32 | 36| \os 160600 VHX0825 | PC16476 S3 V5 SP5
3232P16 32| 32|170| 32 | 39 | 36
3232P19 32| 32 170| 32| 40 | 40
4040519 20| 40 |250| 40 | 29 | 20 CNoo 190600 VHX1027 | PC19476 sS4 V6 SP6
404052507 CNoo 250700
o | | o oz o | s | 5| w | s

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI7IHE | TURNING TOOLS §BHI §Au1 ZHIJIH | TURNING TOOLS

PDJNR/L PSBNR/L

93° 5¢ 75° a
\h a
fENDED PR N b
s b L
)
93°
€ L

Applicable Inserts screw Shim Wrench Lever Shim pin

Applicable Inserts screw Shim Wrench Lever Shim pin

g Dimension(mm) % S R TIF YRET pak:: wF ATAT Pl
Dimension(mm) H:A R < I BE O mF AR R (mm) HEAJF . = &
PSBNR/L 1616H09 16| 16 |100| 16 | 13 | 21 o5
PDJNR/L 1616H11 16| 16 |100| 16 | 20 | 25 2020K09 S G B S B SNoo 0903co VHX0613 | PS09318 . Lv3 SP3
2020K11 20| 20 |125/ 20 | 25| 25 DNoo 110400 VHX0613 | PD11270 2.5 v3 SP3 S 20 | 20 1128l 20 | 17 | 28
2525M11 25| 25 1150| 25| 30 | 30 2525M12 25| 25 |150| 25 | 22 | 28
2020K15 20| 20 | 125/ 20 | 25 | 32 a995P 12 so | 52 [170] 30 | 2 | 26 SNoo 120400 VHX0821 | PS12318 s3 V4 SP4
2595M15 o5 | 25 |150| 25| 32 | 35 DNoo 150600 VHX0825 | PD15318 s3 Lv4B SP4 3039P12 a5 | 39 [170l 32 | 29 | 28
3232P15 32|32 |170| 32 | 38 | 35 2525M15 25| 25(150| 25 | 22 | 32
SNoo 150600 VHX0825 | PS15476 s3 LV5 SP5
2020K15-3 20 | 20 |125| 20 | 25 | 35 3232P15 3232|170 32 | 28 | 32
2525M15-3 25| 25 |150| 25 | 32 | 35 DNoo 150400 VHX0821 | PD15318 S3 Lv4 SP4 3232P19
82132170132 | 36| 45 SNoo 190600 | VHX1027 | PS19476 54 LV6 SP6
3232P15-3 32|32 /170 32| 38| 35 4040819 40| 40 |250| 40 | 35 | 45
SNoo 2507 PS25634
4040S2507 40| 40 |250] 40 | 35 | 50 oo oo X123 52563 <5 8 sps
PDNNR/L 404082509 40| 40 |250| 40 | 35 | 50 SNoo 250900 PS25476
63° PSDNN
o 45° 8.5°/
h a h a
S © s b
& e 5‘_1_@0 b - —o v
L
4550 L

Applicable Inserts Shim Wrench Lever Shim pin
Dimension(mm) JEA U~} fER ) R TIE T KLAF EE

o O

Applicable Inserts screw Shim Wrench Lever Shim pin

Dimension(mm) %E4s R~ TR A 25T PAE wF ATLAF )

P

PSDNN  2020K12 20| 20 [125| 20 | 10 | 30
PDNNR/L 202015 20/ 20125/ 20 8 | 57 2525M12 25 | 25 |150| 25 [12.5) 32 SNoo 120400 VHX0821 PS12318 S3 Lv4 SP4
2595M15 25| 25 [150| 25 |12.5| 37 DNoo 150600 VHX0825 | PD15318 S3 LV4B SP4 3930P12 a2 | a2 |170| 32 | 16 | 30
e e e e e e 2525M15 25| 25 |150] 25 |12.9 40 SNoo 1506 VHX0825 PS15476 S3 V5 SP5
3232P15 32|32 (170| 32 | 16 | 37 3535P15 an |33 1170l 35 | 16 | 46 oo oo
2020K15-3 20|20 |125/ 20| 8 |37 3232P19 a2 | 32 |170| 32| 16 | 40
DNoo 150400 VHX0821 | PD15318 S3 Lv4 SP4 SNoo 190600 VHX1027 PS19476 S4 V6 SP6
2525M15-3 25| 25 [150| 25 |12.5| 37 4040S19 40 | 40 |250| 40 | 20 | 40
3232P15-3 32|32|170| 32| 16 | 37 404052507
3 3 40 | 40 [250| 40 | 20 | 50 SNoo 250700 VHX1236 PS25634 S5 V8 P8

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




B o= 7 A

ZHI7JH | TURNING TOOLS

% 7] External turning toolholders

PSKNR/L
75°

Applicable Inserts screw Shim Wrench Lever Shim pin

Dimension(mm) 34 s} T WEAT PAE:S |_T ATAF R4

PSKNR/L 1616H09 16| 16 [100| 16 | 20 | 17
S0P0KOS oo s Lisal 50 1 55 | 5 SNoo 090300 VHX0613 | PS09318 S2.5 v3 SP3
2020K12 20| 20 |125| 20 | 25 | 26
2525M12 25| 25 |150| 25 | 30| 26 SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3232P12 32| 32170/ 32| 38| 26
2525M15 25| 25|150| 25 | 32 | 32
e ws | 32 |170| 32 | 38 | 32 SNoo 150600 VHX0825 | PS15476 S3 V5 SP5
9292P19 8232|170/ 52| 38 | 36 SNoo 190600 VHX1027 | P519476 S4 LV6 SP6
4040819 40| 40 |250| 40 | 48| 32
404082507 40| 40 |250| 40 | 50 | 40 |  SNoo 250700 1236 PS25634 <5 W8 sps
404082509 40 | 40 |250| 40 | 50 | 40 SNoo 250900 PS25476

PSSNR/L
/ ——

45°

Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) JEA <} CuEE VAl WRAET WAE T FLAF R

PSSNR/L 1616H09 16| 16 [100| 16 | 18 | 25 SNoo 090300 VHX0613 | PS09318 $2.5 v3 sP3
2020K12 20| 20 [125| 20 | 25 | 28
2525M12 25| 25 [150| 25 | 30 | 32 SNoo 120400 VHX0821 | PS12318 s3 Lv4 SP4
3232P12 32|32 (170 32 | 38 | 32
2525M15 25| 25 |150| 25 | 30 | 35
SNoo 150600 VHX0825 | PS15476 s3 V5 SP5
3232P15 32| 32170 32 | 38 | 35
3232P19 32|32 |170| 32 | 38 | 40
SNoo 190600 VHX1027 | PS19476 54 V6 SP6
4040819 40 | 40 |250| 40 | 48 | 50
404082507 40 | 40 |250| 40 | 48 | 50 SNoo 250700 PS25634
S5 V8 sP8
4040582509 40 | 40 |250| 40 | 48 | 50 SNoo 250900 VHX1236 | bor5476

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

B = 71 A

PRDCN

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

(=}
e

Dimension(mm) %4 R~

%
H

\

/

Applicable Inserts
R

RET

Shim
T

Wrench

WF

O

Lever

AHF

Shim pin
Pt

PRDCN 2020K12 20 | 20 |125| 20| 10 | 25
RCMX 120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25| 25|150| 25| 125 | 25
2525M16 25| 25|150| 25| 10 35
RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32 |32|170| 32| 16 32
3232P20 32| 32|170| 32| 16 40
RCMX200600 VHX0825 | PR 2004 S3 LCL20C SP5
4040720 40 | 40 |300| 40 | 20 45
3232P25 32| 32|170| 32| 16 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040725 40 | 40 |300| 40 | 20 50
{
\

Applicable Inserts SCEEeW Shim Wrench Lever Shim pin
Dimension(mm) k4 i il BRET i T A R
PRACR/L 2020K12 20 | 20 125 | 20 | 30
RCMX120400 VHX0613 | PR 1204 S2.5 LCL12C SP3
2525M12 25 | 25 | 150 | 25 30
2525M16 25 25 | 150 | 25 35
RCMX160600 VHX0621 | PR 1604 S2.5 LCL16C SP4
3232P16 32 32 | 170 | 32 35
3232P20 32 | 382|170 | 32 40
RCMX20060 VHX0825 | PR 2004 S3 LCL20C SP5
4040T20 40 | 40 | 300 | 40 50
3232P25 32 32 | 170 | 32 45
RCMX250700 VHX1030 | PR 2506 S4 LCL25C SP6
4040T25 40 40 | 300 | 40 50

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




%4718 | TURNING TOOLS §AHI §AHI %#I718 | TURNING TOOLS

External turning toolholders 4NRIZET]

PRGCR/L o) PTFNR/L

hl\ a N 90° 5

Applicable Inserts screw Wrench Lever Shim pin
Dimension(mm) FEA LA BRET T LA i
Applicable Inserts screw Shim Wrench Lever Shim pin
" o Dimension(mm) H:A R R WA R WmF A R
PRGCR/L 2020K12 20 [ 20 | 125 | 20 | 25
RCMX 120400 VHX0613 | PR 1204 52.5 LCL12C SP3
2525M12 25 | 25 | 150 | 25 32
2525M16 25 |25 150 | 25 | 35 RCMX 160600 VHX0621 | PR 1604 52.5 LCL16C SP4 PTFNR/L 1616H16 16 | 16| 100| 16 | 20 | 20
3232P16 32 |32 | 170 | 32 | 42 2020K16 20 | 20 |125| 20 | 25 | 20 TNoo 160400 VHX0617 PT16 S2.5 Lv3 SP3
3232P20 32 | 32 | 170 | 32 40
RCMX200600 | VHX0825 | PR 2004 53 LCL20C | SP5 2525M16 25251150/ 25| 30 | 25
A040720 0.190.1.900.0.99 4,20 2525M22 2525180/ 25 | 32 | 80 TNoo 2204 VHX0821 PT22 S3 Lv4 SP4
3232P25 32 | 32| 170 | 32 | 45 oo oo
RCMX250700 | VHX1030 | PR 2506 54 LCL25C | SP6 3232P22 32| 32(170| 32| 38 | 30
e Olies 20 | 40 | 300 | 40 | 56 3032P27 32 32|170| 32 | 38 | 35
TNoo 270600 VHX0825 PT27 S3 V5 SP5
PTGNR[L 4040827 40 | 40 |250| 40 | 50 | 34
90° 5/
(o]
s O b 60
(2) a
905
e I . =7 = e e D I Y I
b|
(+)
Applicable Inserts screw Shim Wrench Lever Shim pin
Dimension(mm) A4 R FER IR WRET AR T ALAF Ry L NG
Applicable Inserts screw Shim Wrench Lever Shim pin
PTGNR/L 1616H11 16 | 16 |[100| 16 | 19| 18 Dimension(mm) JEA4 3 <t GOz [apaYa HRET JIE T AL P
2020K11 20 | 20 |125| 20 | 24 | 20 TNoo 110300 VHX059B - S2 Lv2 —
2525M11 25 | 25 |150| 25 | 29 | 20
1616H16 16 | 16 |100| 16 | 19 | 22
202016 201201125 20 | 23] 25 | o 1604 VHX0617 PT16 S25 Lv3 SP3
oo oo : PTTNR/L 1616H16 16| 16 |100| 16 | 13 | 25
2525M16 25| 25 |150| 25 | 29 | 25 TNoo 160400 VHX0617 PT16 S2.5 Lv3 SP3
3232P16 32 | 32 |170| 32 | 37 | 32 2020K16 20| 20 |125| 20 | 17 | 25
250522 2525M22 25| 25 [150| 25 | 22 | 32 TNoo 220400 VHX0821 PT22 S3 Lv4 SP4
2512511501 25 1 30|30 | 1 . 220400 VHX0821 PT22 S3 Lv4 SP4
3232P22 32| 32 (170 82 | 37 | 32
3232P27
821821170182 | 837138 | TNos 270600 VHX0825 | PT27 s3 Lv5 sp5
4040S27 40 | 40 |250] 40 | 47| 38

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI718 | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

PWLNR/L
95°

Applicable Inserts screw Shim Wrench Lever Shim pin

Dimension(mm) FEA4% ) REFT )y BT Ak WF FLAT R

PWLNR/L 1616H06 16 | 16 [100| 16 | 19 | 22
2020K06 20 | 20 [125/ 20 | 23| 25| WNao 060400 VHX0617 | PW06270 2.5 v3 SP3
2525M06 25| 25 |150| 25 | 28 | 25
2020K08 20 | 20 [125| 20 | 25 | 26
2525M08 25|25 |150| 25| 29| 26 |  WNoo 080400 VHX0821 | PWO08318 S3 Lv4 SP4
3232P08 32| 32170/ 32| 37| 26

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

§AHI #1718 | TURNING TOOLS

External turning toolholders 4NRIZET]

SCACR/L
90°

o
o

>
 —
_—

2218\ [
—

Applicable Inserts

Dimension(mm) JEA R FEFRI A

Stock 77

R|L
SCACR/L 1010E06 10 | 10 | 70 | 10 [10.5| 10 CCoT 060200 L60M2.5X5 T08
1212F09 12 | 12| 80 | 12 |12.7] 16 CCoT 09T3uo L60M4 X 8 T15

SCLCR/L

Applicable Inserts

U lsapaiy
SCLCR/L 1212F09 12 | 12 | 80 | 12 | 15 | 16
1616H09 16 | 16 | 100 | 16 | 20 | 16 CCaT 097300 L6OM4X 8 T15
2020K09 20 | 20 |125| 20 | 23 | 20
2020K12 20 | 20 [125| 20 | 24 | 25
2525M12 25 | 25 | 150 | 25 | 20 | 25
3225P12 32 | 25 |170| 32 | 29 | 25 CCeT 120400 Loom3 12 20
3232P12 32 | 32 |170| 32 | 36 | 38

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




Z #7182 | TURNING TOOLS §BHI §BMI Z #7182 | TURNING TOOLS

4MEIZET] External turning toolholders External turning toolholders §Mg|ZE7]

SDACR/L SDNCN
90° 0y 62° 30 0
L a AV
P > 5 & b
9 ] e L

Applicable Inserts Applicable Inserts
Dimension(mm) A ) FERFIIY Dimension(mm) FA4s ) SRR
Stock [i77
a S e
R|L
SDACR/L 1010E07 10 | 10 | 70 | 10 |10.5| 15 DCoT 0702co L60M2.5X5 TO8 SDNCN 1010E07 10| 10|70 | 10 | 5 16
DCoT 070200 L60M2.5X5 Tos
1212F11 12 [ 12 | 80 | 12 [12.5] 20
DCAT 11T3em L6OMA X3 15 1212F07 12|12 |80 |12 | 6 | 20
1616H11 16 | 16 | 100 | 16 |16.7 | 20 1212H11 12 | 12 [100 | 12 | & | 22 DCoT 117300
1616H11 16 | 16 [100 | 16 | 8 | 22 L6OMA X8 s
SD J cn /L 2020K11 20 | 20 |125 | 20 | 10 | 22 DCoT 11T3co
2525M11 25 | 25 [150 | 25 |125| 22

93°

SR X SVJCR/L
s 5 b
93°
€ L

Applicable Inserts
Dimension(mm) A< s TR
Applicable Inserts
v A
SDJCR/L 1010E07 10 [ 10 | 70 | 10 | 12 | 15 ook

1212F07 12 [ 12 |80 | 12 | 14 | 15 DCaT 070200 L60M2.5X 5 Tos S a s e

W 1018 100 L 18 | 18 L T8 SVJCR/L 1212F11 12 |12 |80 | 12 | 14 | 20

2020K07 20 | 20 (125 | 20 | 22 | 18 1616H11 16 | 16 |100 | 16 | 18 | 22
1616H11 16 | 16 |100 | 16 | 19 | 20 P0S0KA 1 o0 T30 Tas a0 155 1 57 VCoT 110300 L60M2.5 5 T08

2020K11 20 | 20 |125 | 20 | 23 | 26 DCaT 117300 L60M4 X 8 T15 2525M11 25 | 25 (150 | 25 | 27 | 35

£o2aM1l i e s B 1616H16 16 | 16 100 | 16 | 18 | 32

. 8225P11 || | 82|25 1170 | 82 | 28 | 26 2020K16 20 | 20 [125 | 20 | 22 | 32
3232P11 32 | 32 170 | 32 | 35 | 31 2525M16 25 | 25 [150 | 25 | 27 | 35 VCaT 160400 L60M4 X 8 T15

3225P16 32 |25 |170 | 32 | 27 | 35

3232P16 32 | 32 |170 | 32 | 35 | 45

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

ZHI7JE | TURNING TOOLS

4MNEZET] External turning toolholders

#H = 71 A

B = 71 A

SVJBR/L

93°

SVACR/L

90°

. . Applicable Inserts Applicable Inserts
Dimension(mm) Jkf7 - BT A Dimension(mm) JEA X} RIS
Stock [i77
a s | e
R | L
SVJBR/L 1212F11 12 | 12 | 80 | 12 | 14| 27 SVACRIL 1616H16 16 | 16 | 100 | 16 |16.5 | 32
1616H11 16 | 16 | 100 | 16 | 18 | 27 2020K16 20 | 20 |125 | 20 [20.5| 32
VBoT 110300 L60M2.5% 5 08 VCeT 160400 L60M4X 8 T15
2020K11 20 | 20 (125 | 20 | 22 | 27 2525M16 25 | 25 [150 | 25 |25.5| 38
2525M11 25 | 25 |150 | 25 | 27 | 27
1616H16 16 | 16 [100 | 16 | 18 | 36
2020K16 20 | 20 [125 | 20 | 22 | 41 SVVBN
2525M16 25 | 25 |150 | 25 27 41 VBT 160400 L60M4 X 8 T15
o 1
3225P16 32 | 25 [170 | 32 | 27 | 41 72° 30 L0
3039P16 32 | 32 [170 | 32 | 35 | 41 . L} \_. \ -
s}
SVABR/L g b s
0 . 17.5°
90 07 .
\h 1 a
Applicable Inserts
Dimension(mm) 7 R~ R
s b x

SVABR/L

Stock [77
R|L

Applicable Inserts
R

1616H16 16 | 16 | 100 | 16 |16.5| 32
2020K16 20 | 20 | 125| 20 |20.5| 32
2525M16 25 | 25 | 150 | 25 |25.5| 38

VBoT 160400

L60M4 X 8

T15

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

SVVBN

1212F11 12 | 12 | 80 | 12 6 22
1616H11 16 | 16 | 100 | 16 8 27
VBoT 110300 L60M2.5X 5 TO8
2020K11 20 | 20 |125 | 20 | 10 | 30
1616H16 16 | 16 | 100 | 16 8 33
2020K16 20 | 20 (125 | 20 | 10 | 33
2525M16 25 | 25 | 150 | 2 .
5. 125 38 VBoT 160400 L60M4 X 8 T15
3225P16 32 | 25 |170 | 32 |125| 38
3232P16 32 | 32 |170 | 32 | 16 | 38

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHIJJE | TURNING TOOLS

4MEIZET] External turning toolholders

SVVCN

72° 30'

(0
\
h \_' \ a
S » b
72°30
e

Dimension(mm) A R

Applicable Inserts
AEHRIR

Stock [7
SVVCN 1212F11 12 |12 |80 |12 | 6 | 22
1616H11 16 | 16 |100 | 16 | 8 | 27
VCaT 110300 L60M2.5%5 T8
2020K11 20 | 20 |125 | 20 | 10 | 30
1616H16 16 | 16 [100 | 16 | 8 | 33
2020K16 20 | 20 |125 | 20 | 10 | 33
2525M16 25 | 25 | 150 12.
> 5|38 VCoT 160400 L60M4 X 8 T15
3225P16 32 | 25 |170 | 32 [125]| 38
3232P16 32 | 32 |170 | 32 | 16 | 38
75° o/
oL I
)] 3 o
e .
e

SSBCR/L

Applicable Inserts
R

(N v

e
1212F09 12 12 80 12 11 14

SCoT 09T3oo L60M4 X 8 T15

1616H09 16 | 16 |100 | 16 | 13 | 16
2020K12 20 | 20 |125 |20 | 17 | 25
2525M12 25 | 25 |150 | 25 | 22 | 25 SCaT 120400 L60M5 X 12 T20
3232P12 32 | 32 |170 | 32 | 27 | 28

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

SSDCN

ZHI7JH | TURNING TOOLS

External turning toolholders 4NRIZET]

Dimension(mm) %E4s R~

Applicable Inserts
AEHIR I

Stock FEf7
a S e L
L
SSDCN 1212F09 12 12|80 |12 | 6 | 16
1616H09 16 | 16 [100 | 16 | 8 | 16
2020K09 20 | 20 T12s 120 10 | 16 SCoT 09T3oo L60M4 X 8 T15
2525M09 25 | 25 |150 | 25 |125| 25
2020K12 20 | 20 (125 |20 | 10 | 25
2525M12 25 | 25 |150 | 25 |125| 25 SCoT 120400 L60M5 X 12 T20
3232P12 32 | 32170 |32 | 16 | 25
SSKCR/L
75°

SSKCR/L

o/

o

v

©A@

l

Applicable Inserts
Dimension(mm) &4 ] <) R
Stook *
L

1616H09 16 | 16 |100 | 16 | 20 | 13

SCoT 09T30o L60M4 X 8 T15
2020K09 20| 20 |125 | 20 | 25 | 18
2020K12 20| 20 |125 | 20 | 25 | 18
2525M12 25| 25 |150 | 25 | 32 | 22 SCoT 120400 L60M5 X 12 T20
3232P12 32| 32 [170 | 32 | 40 | 27

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




Z #7182 | TURNING TOOLS §BHI §AMI Z #7182 | TURNING TOOLS

4SMN&EZET] External turning toolholders External turning toolholders 4NRIZET]

SSSCR/L STFCR/L

45° o7 91° 0y
1
" \ h 2 h \ a
S /
@ > S '9)0/' ) b
45

Applicable Inserts

Applicable Inserts
Dimension(mm) 34 R

Dimension(mm) JEA R ~J I

Stock [%77 (
SSSCR/L 1616H09 16 |16 100 | 16 | 20 | 16 STFCRIL 1212F11 12 112 |80 | 12 | 14 | 14
SCT 097300 L6OM4 % 8 5
2020K09 20 |20 |125 | 20 | 25 | 20 1616H11 16 | 16 |100 | 16 | 18 | 16 TCoT 110200 LeOML.5 x5 o8
2020K12 20 |20 125 |20 | 25 | 23 2020K11 20 | 20 [125 | 20 | 22 | 16
2525M12 25 |25 |150 | 25 | 32 | 25 SCT 12040 L6OM5 X 12 20 1616H16 16| 16 100 | 16 | 18 | 19
3232P12 32 |32 |170 | 32 | 38 | 28 2020K16 20 | 20 |125 | 20 | 22 | 19 TCoT 16T300 L60M4X 8 T15
2525M16 25 | 25 (150 | 25 | 27 | 24
STACR/L STGCR/L
91° 0y 91° o7
S : LY :
s ( b
s A b ()
91) q,\oe
e L L

Applicable Inserts

Applicable Inserts Screw Wrench fERITI

Dimension(mm) AR~} fEHI 24T RF

Stock 75 * ’/ v
a S e
R|L
STACR/L 1212F11 12 | 12 | 80 | 12 [12.5 | 14 TCaT 110200 L60M2.5X 5 T08 STGCR/L Ceee 08 |08 |60 | B |10 M TCoT 090200 L60M2.2X5 To6
1010E09 10 |10 |70 | 10 | 11| 11
1212F11 12 |12 |80 | 12 | 14| 14
TCoT 110200 L60M2.5X5 TO8
1616H11 16 16 | 100 16 17 16
2020K16 20 |20 |15 ] 20 | 22 | 2 TCaT 16T3 L60M4 X 8 T15
o oo
2525M16 25 | 25 |150 | 25 | 27 | 21

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




ZHIJ7JE | TURNING TOOLS

4NEIZET] External turning toolholders

STTCR/L
600 0"/
t h a
e
60° '
e L

Applicable Inserts
FERIRIT

Dimension(mm) 34 7~} WRET T

— v
a S e
R|L
STTCR/L 1616H11 16 | 16 | 100 | 16 | 13 | 14 TCoT 110200 L60M2.5x 5 TO8
1616H16 16 | 16 | 100 | 16 | 13 | 19
TCoT 16T3uo L60M4 x 8 T15
2020K16 20 |20 [125 |20 |17 | 19

I w
O
SN
o

Applicable Inserts

Dimension(mm) A ) IR

Stock fif7 “
a S e
R|L

SWACRI/L 1010E04 10| 10| 70 | 10 [105]| 10
WCoX 040200 L60M2.5 x 5 TO8

1212F04 12 12 | 80 12 |125] 14
1616H06 16 16 | 100 | 16 |16.5| 20 WCoX 06T300 L60M3 x 7 TO9
2020K08 20 | 20 | 125| 20 |20.5| 24 WCoX 080400 L60M4 x 8 T15

THREKERFBEREHE] X #1555 MBwww.hnsant.com

ZHIJJE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

of
0 ol T o |
-
S ]
e
L
Applicable Inserts e e e e
D - O = - Hi th 7 hE =
he
waalinee O Ve @ W
20 20 | 125| 20 | 10 | 11
SRDCN  2020K06 RCoT 060200| L60M2.5x 5 T08 — — —
2525M06 25 | 25 [ 150 | 25 125 11
2020K08 20 20 |125| 20 | 10 | 16 RCoT 080300| L60M3x 7 To9
2525M08 25 25 | 150 | 25 |125| 16
2020K10 20 | 20 | 125| 20 | 10 | 25 |RG.T 10T300| LEOM3.5x 10 15 _ _ _
2525M10 25 25 | 150 | 25 |125| 25
2020K12 20 20 |125| 20 | 10 | 35
2525M1 2 25 25 150 25 [12.5 35 RCoT 120400 | L60M3.5x 12 T15 - - -
3225P12 32 25 1170 | 32 | 16 | 35
2525M16 25 25 | 150 | 25 |125| 35
RCoT 160600| L60M4 x 16 T20 R16BS SMO0614 S4
3232P16 32 32 |170| 32 | 16 | 40
3232P20 32 32 | 170 | 32 16 | 40
RCMX2006 |L60M5 x 16-8.1 T20 R20BS SM0814 S5
4040S20 40 40 | 250 | 40 | 20 | 40
o7
[T ) AP
0’
1 B ! =9/
o
L
Applicable Inserts e e e e
D - O = - A th 7 hE -
he
a £
2. O e @ P
SRGCR/L 2020K10 20 | 20| 125 | 20 | 25
2525M10 25 | 25| 150 o5 32 RCoT 10T30a0| L60M3.5x 10 T15 - - -
2020K12 20 | 20| 125 20 27
2525M12 25 | 25| 150 25 32 |RCoT 120400 | L60M3.5x 12 T15 - - -
3232P12 32 | 32| 170 32 32
2525M16 25 | 25/ 150 25 82 RCoT 160600| L60M4 x 16 T20 R16BS SM0614 S4
3232P16 32 | 32| 170 | 32 | 40
3232P20 32 | 32| 170 32 40
RCMX2006 [L60M5 x 16-8.1 T20 R20BS SM0814 S5
4040S20 40 | 40| 250 40 48

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

SRACR/L

0°/

#H = 71 A

ZHIJJE | TURNING TOOLS

External turning toolholders SN&EZET]

B = 71 A

CCLNR/L
95°

AR RS RE o @ VWV
2020K06 20 | 20 | 125 | 20 | 15
SRACR/L RCoT 060200| L60M2.5x 5 708 - - -
2525M06 25 | 25 | 150 | 25 | 23
2020K08 20 | 20 | 125 | 20 | 18 |RC.T08030n| L6OM3x7 09 _ _ _
2525M08 25 | 25 | 150 | 25 | 23
2020K10 20 | 20 | 1256 | 20 | 20 BT 10T300| L6OM3.5x 10 15 _ _ _
2525M10 25 | 25 | 150 | 25 | 25
2020K12 20 | 20 | 125 | 20 | 28
2525M1 2 25 25 150 25 28 RCoT 120400 | L60M3.5x 12 T15 - - -
3225P12 32 | 25 | 170 | 32 | 28
2525M16 25 | 25 | 150 | 25 | 35
RC.T 16060:| L60M4 x 16 5 R16BS SM0614 sS4
3232P16 32 | 32 | 170 | 32 | 40
3232P20 32 | 32 | 170 | 32 | 40
RCMX2006 |L60M5x 16-8.1  T20 R20BS | SM0814 S5
4040520 40 | 40 | 250 | 40 | 55

THREKERFBEREHE] X #1555 MBwww.hnsant.com

Applicable Inserts Shim Wrench Clamp Clamp screw screw

20| 20 |125| 20 | 26| 32
CCLNRA. 2020K12 CN oo 120700 | MC 1204 | S4,S3 CCL2612 | DM 0625 | DSP 0612
2525M12 25| 25 150| 25 | 31| 31
2525M16
2512515012532 | 36 | o\ 1606un | MG 1604 s4 CCL2816 | DM 0830 | DSP 0812
3225P16 32| 25(170| 32 | 32 | 36

93°

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) JEA EHIRT IR T B FebR  EARIRZ BRET
CDJNR/L 2525M15 25| 2515025 | 32| 40
3225P15 32| 25(170| 32 | 32| 40 | DN oo 150700 | MD 1504 S4,83 CCL2612 | DM 0625 | DSP 0612

THREKEFBREHE] X 15152 Miwww.hnsant.com



Z|J7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

CSKNR/L
75°

Applicable Inserts Shim Wrench Clamp Clamp screw Screw
Dimension(mm) FEA IR T T i FeAR i 22 BRET

- \

CSKNR/L 2020K12 20| 20 |125| 20 | 26| 28
2525M12 25| 25|150| 25| 32| 30 | SN oo 120700 | MS 1204 S4,53 CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25(170| 32 | 32| 30

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) H:7s X~ EFAII Ak P F IEfR  ERRIERZZ IRET
CSDNN  2020K12 20| 20 [125[20 | 10 | 36
2525M12 25| 251150 25 [12.5/ 36 | gN o 120700 | MS 1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612
3225P12 32| 25|170| 32 [12.5) 36

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

CSRNR/L
75°

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) ZEA R~ BRI I8 T i RBURZ T

CSRNR/L 2020K12 20| 20 |125| 20 | 22| 32
2525M12 25)25150| 25| 27 | 32 | gN 5120700 | MS1204 | S4,S3 | CCL2612 | DM 0625 | DSP 0612

3225P12 32| 25|170| 32 | 27 | 32

32| 25|170| 32| 32| 40
3225P15 SN oo 150705 | MS 1504 s4 CCL2816 | DM 0830 | DSP 0812

4040R15 40 | 40 |200| 40 | 43 | 40

«O); °

.
‘ ) “

]

Applicable Inserts ~ Shim Wrench Clamp Clamp screw
Dimension(mm) &4 K ~f R R PAE:S WwF JEMR JEAR IR 22
CRDNN  2020K12 20| 20 {125/ 20 | 10 | 36
2525M12 25| 25|150| 25 [12.5| 36 | RN oo 120700 MR1204 S3,54 CCL2612 DM 0625 DSP 0612
3225P12 32| 25170 | 32 |12.5| 36

THREKEFBREHE] X 15152 Miwww.hnsant.com



Z|J7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

CTJNR/L
93°

Applicable Inserts ~ Shim Wrench Clamp Clamp screw screw

&

CTJUNR/L 2020K16 20| 20 [125| 20 | 26 | 32
TN oo 160700 | MT 1603 | S4,S3 | CCL2612 | DM 0625 | DSP 0510

2525M16 25| 25 |150| 25 | 31 | 32

93° .

Applicable Inserts ~ Shim Wrench Clamp  Clamp screw screw
Dimension(mm) 7 R~ IR TIH WF EA EBURZ WRET

a

2525M16 25| 25(150| 25 | 32 | 32| TN oo 160700 MT 1603 S4,83 CCL2612 | DM 0625 DSP 0510

CTUNR/L  2020K16 20| 20 |125|20 | 25| 32

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

DCLNR/L

95°

. . plicable Inserts Shim Wrench  Clamp  Clampscrew screw
Dimension(mm) JEA R ) IR JJ3 wF et AR WRET
DCLNR/L 2020K12 20|20 |125| 20 | 27| 32
2525M12 2525|150 25| 32| 30|  CNoo1204c0 | MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32| 32(170| 32| 39| 30

75°

)

Fw__
[\'\@
-

Applicable Inserts Shim Wrench Clamp Clamp screw SCrew
Dimension(mm) FEA R ~F bR ya) JIE RF JEAR JEMRIR 22 WRET

DCBNR/L 2020K12 20| 20 |125|20 | 17 | 34
2525M12 25| 25|150| 25 | 22| 36 |  CN oo 120400 MC 1204 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
3232P12 32| 32 |170| 32 | 29| 34

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZFHJ7JB | TURNING TOOLS §AHI §AHI ZHI7JE | TURNING TOOLS

4NEIZET] External turning toolholders External turning toolholders FMNEZ7]

DDJNR/L
93°

DCKNR/L
75°

o AP?%%E%G-‘ |f}:?“—‘> Shim  Wrench  Clamp Clampscrew  screw
Appicabelrserts | Shim | Wrench) [ Clamp: | Clamp saew Dimension(mm) 34 /s V) T T IS IS T A )
Dimension(mm) %E4s X~} R VAE:S WF SR ks (mm) FEAR) 2
DDJNR/L 2020K11 20| 20 [125| 20 | 25| 32
2020K12 20| 20(125|20 | 26 | 28 . .
DCKNR/L 2505M11 25| 25 150 25 | 30 | 32 DN oo 1104 MD 1103 S3 DCL2211 | DM 0520 | DSP 0510
2525M12 25| 25(150| 25 | 32 | 28 CN oo 120400 MC 1204 | S3. S4 | DCL2612 | DM 0625 | DSP 0612
2020K1504 20| 20 |125|20 | 25| 40
3232P12 32| 32[170/32 | 39 | 28
2525M1504 25| 25150 | 25 | 31| 40 DNoo 150400
SRR 82| 3217032 | 39| 40 MD 1504 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
2020K1506 20| 20 [125| 20| 25| 40
2525M1506 25| 25[150| 25| 31| 40 DNoo 150600
3232P1506 32| 32[170| 32| 39| 40

62.5°

Is
{@\
b

]

Applicable Inserts Shim Wrench  Clamp  Clampscrew  screw

Dimension(mm) J A4 TR aE: T IR sbige 4T S ) S Apg%gﬁtél;jljn;erts Sjr%rg Wg%ch C}%"ip Cg;}g;gz S;%[Z}N
. = g
DCMNN  2020K12 20 | 20 |125| 20 | 10| 36 DDPNN  2020K11 20 | 20 |125| 20 | 10| 32
2525M12 25| 25(150| 25 [12.5/ 36 | CNoo120400 | MC 1204 | S3. S4 | DCL2612 | DM 0625 | DSP 0612 —— o5 | 25 150 | 25 |12.5 35| DNeo1104co | MD1103 | 83 | DCL2211 | DM 0520 | DSP 0510
3232P12 32| 32]170/ 32| 16 | 36 2020K1504 20| 20125/ 20 | 10 | 36
2525M1504 25 | 25150 | 25 |12.5| 36 DNoo 150400
3232P1504 9282|170/ 32 | 16 | 36 MD 1504 | S4,S3 | DCL2612 | DM 0625 | DSP 0612
2020K1506 20| 20 [125| 20 | 10 | 36
2525M1506 25| 25 |150| 25 [12.5] 36 DNa 150600
3232P1506 3232|170/ 32 | 16 | 36

THRAKEFBERERB X #EEZEMNwww.hnsant.com THREKEFBREHE] X 15152 Miwww.hnsant.com



& | INUS

ZHIJ7JE | TURNING TOOLS

4MEIZET] External turning toolholders

DDQNR/L

107.5°

A

icable Inserts Wrench  Clamp  Clamp screw
Dimension(mm) &4 R~ HEFTIR WF JEb EAERZZ
DDQNR/L 2020K11 20| 20 [125|20 | 25| 28
DN oo 110400 MD 1103 | S4,S3 | DCL2211 | DM 0520 | DSP 0510
2525M11 25| 25|150| 25 | 31| 28
2020K1504 20| 20 |125|20 | 26 | 36
2525M1504 25| 25|150| 25 | 32| 36 DNoo 150400
3232P1504 32| 32(170|32 | 38 36 MD 1504
T 00| 20|125| 20| 26| 36 S4,S3 | DCL2612 | DM 0625 | DSP 0612
2525M1506 25| 25150/ 25| 32| 36|  DNoo 150600
3232P1506 32| 32(170| 32| 38| 36
75°

Applicable Inserts

IR

Wrench  Clamp
T AR

ol

Clamp screw
PR 22

B )

DSBNR/L 2020K12 20| 20| 125| 20| 18 | 34
2525M12 25| 25/ 150| 25| 23 | 32
3232P12 32| 32/170| 32| 30| 33

SN 0o 120400

MS 1204 83,54 DCL 2612 | DM 0625 | DSP 0612

THREKERFBEREHE] X #1555 MBwww.hnsant.com

DSDNN

ZHIJJE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

Dimension(mm) A N~

Applicable Inserts Wi h Clam
R RE OER

B ¢ -

Clamp screw SCrew
JE AR IE 22 BRET

L

DSDNN  2020K12 20 | 20| 125/ 20| 10 | 36
2525M12 25| 25| 150| 25|12.5| 36 SN oo 120400 MS 1204 | S3,S4 | DCL2612 | DM 0625 | DSP 0612
3232P12 32| 32 |170] 32|12.5/ 36

45°

Dimension(mm) 24X~

Applicable Inserts W h Cl
T fhil

o B -

Clamp screw
FEARIR 22

L)

DSSNR/L  2020K12 20| 20| 125 20| 25 | 36
2525M12 25| 25|150| 25 30| 35
3232P12 32| 32/170| 32| 38| 35

SN oo 120400 MS 1204 S3,54 DCL 2612 | DM 0625| DSP 0612

THREKEFBREHE] X 15152 Miwww.hnsant.com



Z|J7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

DSKNR/L

75°

Applicable Inserts Shim Wrench Clamp Clamp screw screw
Dimension(mm) A X~ TR R J)H WF EAR b 24T

O B -
DSKNR/L  2020K12 20| 20| 125| 20| 26 | 28
2525M12 25| 25|150| 25| 36 | 28 SN oo 120400 MS 1204 | S3,S4 | DCL2612 | DM 0625| DSP 0612
3232P12 32| 32|170| 32| 38| 32

Applicable Inserts Shim Wrench  Clamp  Clamp screw screw

L a3

DTGNR 2020K16 20|20 [125]20 | 24| 28
Zilie 251251150125 | 30| 28| g\ 1604cc | MT1603 | S3 | DCL2211 | DM0520 | DSP 0510
3225P16 32| 2517032 | 30 | 28
3232P16 32|32 [170 | 32 | 38 32

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

DTFNR

==
Q

? .% "
QY
.« ©

Applicable Inserts Shim Wrench  Clamp Clamp screw screw
Dimension(mm) 7 R~ AT Ak w"T i i AN )

A a3

DTFNR/L 2020K16 ® | ® 20| 20|125|20 | 25| 28
[ BN J
Gl 2525150 25 | 30 | 26 TN oo 160400 MT 1603 S3 DCL 2211 | DM 0520 DSP 0510
3225P16 ® | ® 32| 2517032 | 30 | 26
3232P16 ® | ® 3232|1701 32 | 38| 26

f

Applicable Inserts Shim Wrench  Clamp Clamp screw SCrew
Dimension(mm) A ) bRyl JIH T JEf AR Z BRAT

A7 | | | A

DVVNN 2020K16 20 | 20 |125|20 | 10 | 45
A 25251150 25 |12.5) 45 VN oo 160400 MV 1603 S3 DCL 3113 | M5X25 DSP 0510
3225P16 32| 25 |170| 32 [12.5| 45 (R~ )
3232P16 3232|170 32 | 16 | 45

THREKEFBREHE] X 15152 Miwww.hnsant.com



Z|J7JE | TURNING TOOLS §AHI

4MEIZET] External turning toolholders

DVJNR

93°

Applicable Inserts Shim Wrench  Clamp  Clampscrew screw
Dimension(mm) A R - BRI I WwF JEfR AR jota)

DVJNR/L 2020K16 20| 20 |125| 20 | 26 | 45
2525M16 25| 25|150| 25 | 32 | 45 VN o 160400 MV 1603 s3,54 oL a113| Msx2s 0P 0510
3225P16 32| 25|170| 32 | 32 | 45 Y
3232P16 32| 32|170| 32 | 40 | 45

95°

Appliceble Inserts ~~ Shim ~ Wrench ~ Clamp  Campsuew v
Dimension(mm) JEA K~ MHIA J)H WwF JEAR JERRIZL,  WBAT

DWLNR/L 2020K08 20| 20125 20| 25 | 32
s4
2525M08 25| 25]150| 25 32| 31| N .1, 08040 MW 0804 | DCL 2612 | DM 0625 | DSP 0612
3205P08 32| 25|170| 32| 32 | 31
3232P08 32| 32|170| 32| 39| 31
20| 20| 125| 20 25
2020K06 25 WN o5 060300 MW 0603 |  S3 DCL2211 | DM 0520 | DSP 0510
2525M06 25| 25|150 25| 30 | 25

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

External turning toolholders SMNEIZE 7]

WTQNR/L
105°

€
e

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) FEA4< ) R WRAT PAE:] T J A VY

WTQNR/L 2020K16 20| 20 [125| 20| 30 | 27
2525M16 25| 25 (150| 25 | 35 | 27 | TNoo 16040s MT 1603 Sszf WTL16 | SZ0515
3232P16 32| 32|170| 32 | 45| 32 WMO0525
2525M22 25 | 25 |150| 25 | 38 | 36
TNoo 2204 00 MT2204 | S3S4 | WTL22 | SZ0618
3232P22 32| 32 |170| 32 | 45 | 36

6°

93°

/30

Applicable Inserts  Clamping screw Shim Wrench Clamp  Clamping stud
Dimension(mm) A R I LT Ak B"F AR O Y 2

rac &/
WTJINR/L 1316H16 13| 16 |125[ 31 | 20 | 20
1616K16 16 16 |125| 31 | 22 | 32
2020K16 20| 20|125/ 31 | 25| 32|  TNoo 1604as MT 1603 | S5 WTL16 | SZ0515
2525M16 25 | 25 |150| 31 | 32 | 32 WMO525
3232P16 32 |32|170| 31| 39 | 36
2o25M22 2512511501 2532 | 38| o 020400 MT2204 | $354 | WTL22 | SZ0618
3232P22 32|32 (170 32 | 39 | 38

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHJJJE | TURNING TOOLS

SMEI%ET] External turning toolhold:

Dimension(mm) A4

WTENN 2020K16
2525M16

20 | 20 12520 10| 34|

licable Inserts

i

25 | 25 150| 25 12.5 33 |  TNoo 160400

Clamging screw Shim : Clamp  Clamping stud
g R SR B LR

,

525

| | MT 1603 ) WTL16 | SZ0515
|| 2 e
3232P16 ‘ | |s2|a2|170| 32| 16| 33| WMO525
2525M22 | | | 2525(150| 2512533 | L o0, MT2204 | S3S4 | WTL22 | SZ0618
3232P22 | | |82 s2|170 32| 16 83| .
*
95 h T a T
L /\4—
57 il _
1 I—/ |
| b I'-. b |
5 I \
> o
561 b
€

Applicable Inserts

Dimension(mm})

WWLNR/L  2020K08 20 | 20 125 25 | 27|32
2525M08 25| 25 150/ 32 | 32| 32
3232P08 | 20|32 /170 40| 38 32|

IR

WNoo 080400

Shim Wrench Clamp {lampi[rg stud
T (5 S

arr ¢/

WMO0525 | MW 0BO4 53 WwwLos SZ 0618
S4

Clampig screw
B2

e BT AR A7

THEAEFHASYEE R #HIHEEMEwww hnsant.com

ZEH|7JE | TURNING TOOLS

al turning toolholders RFLET]

il % Symbol A E C S X ] —

41

TR | et | BESET | ERSSH AT (IR | .
Type of shank | O;t:td f;hn:n:;le car:}gf:::h}f C:r::;ie Steel Shank Sixil?i:is:nn
' Oil Cooling Hole
1.71#%%= Tool holder type L ——
#if Example I I Tool holder diameter
|
3.7 KE Tool length 4E¥®AX Clamping system 5.7AHR Insert shape
c T W
i B

M P
| i
100 i125 150 160‘180‘ EUOi 250‘ 300‘ 350i 400 ﬁ

H K M N‘Q‘R‘S‘T‘U‘V A B
Top and hole clamping

u K
s IS = R
L F

6.713%®4 Tool holder style

= e o

LB %38 @ D
Hole clamping e 6

s
P

Wl lds

g '/';aa

L]

I 7.71FE# Insert clearance angle

L M

R 09

8.41M% @ Cutting direction
R L
= i | i — c

TREGEGFNRIERRT X FHHSEMEwww hnsant.com

l 9.4#M# Cutting edge length

&R
i A LI



ZFHJ7JB | TURNING TOOLS §AHI §AHI ZHI7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]

MCKNR/L MDQNR/L

750 6% --------------- 1 07 30
il I

Dmin

Applicable Inserts Shim Clampingstud ~ Clamp ~ Campingscrew — Wrench Shim Clampingstud ~ Clamp ~ Clamping screw Wrench

Dimension(mm) ZE4 X} fHR0 ) Ak e Feb XCKIRET RE T RS ET AR BT
S20Q-MCKNR/L12 26|20 | 18 | 180 | 14 | 35 S$20Q-MDQNR/L1504 26|20 | 18 | 180 | 13 | 40 MCL1810| WS 061020
X MSP 613 | MCL1810 | WS 061020| S2.5,S3 X MSPS13 825,53
S25R-MCKNR/L12 32| 25 | 23 | 200 | 16.5| 35 S25R-MDQNR/L1504 32|25 | 23 | 200 | 17 | 45 o
1504
S32S-MCKNR/L12 40| 32 | 30 | 250 | 22 | 50 S32S-MDQNR/L1504 40| 32 | 30 | 250 | 20 | 55 R
CNoo 120400 MSP617
S50U-MCKNR/L12 60 | 50 | 48 | 350 | 30 | 60 S32S-MDQNR/L1506 40|32 | 30 | 250 | 20 | 55
DNao 150600 MSP619
S40T-MDQNR/L1506 50| 40 | 38 | 300 | 24 | 55
95° 93°

Applicable Inserts Shim  Clampine stud Clampil Applicable Inserts ; g .
Dimension(mm) JEA R ) I JIH agg%su c;;—f%%p X;Tgﬁng% W;fr&en%Ch Dimension(mm) FEA R~ fEHI ) R sjgg Clﬂggr}éftud C,;_?’rg)]zp _}Elxa"‘_/l’l‘gms%g% Wﬁgﬁch

S20Q-MCLNR/L12 26|20 | 18 | 180 | 13 | 40 MCL1810 | WS 061020 S20Q-MDUNR/L1504 28 | 20 | 18 | 180 | 17 | 40 MCL1810 |WS 061020

X MSP 613 $2.5,83 X MSP613 $2.5,83
S25R-MCLNR/L12 32|25 | 23| 20 | 16 | 40 S25R_MDUNR/L1504 32 | 25| 24 | 200 | 19 | 40 e 1508 MCL1814
— oo 0o
$32S-MCLNR/L12 40| 32 | 30 | 250 | 20 | 50 | ONoo1204a0 = 40 | 32| 30 | 250 | 22 | 45
MCL1814 | WS 061025 s3 SEZE PILIAY TS0 MSP617
S40T-MCLNR/L12 50| 40 | 37 | 300 | 26 | 55 MC 1204 | MSP617 S40T-MDUNR/L1504 50 | 40 | 37 | 300 | 26 | 55
MD1504 MCL2114 WS061025 S3
SS0U-MCLNR/L12 60 50 46 | 350 | 31 | 70 S32S-MDUNR/L1506 40 | 32| 30 | 250 | 22 | 45
DNco 150600 MSP619
S40T-MDUNR/L1506 50 | 40 | 37 | 300 | 26 | 55

THRAKEFBERERB X #EEZEMNwww.hnsant.com THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders

MDZNR/L

93° :

#H = 71 A

Dmin

ZHIJJE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

B = 71 A

Applicable Inserts — Shim  Clampingstud  Clamp  Campigscew Wrench
Dimension(mm) 34 R WREIH T3 R Tl GOORET | F
S25R-MDZNR/L1504 36 | 25|23 |200| 22 | 35 | 11 X | MsPe13 52.5,53
S32S-MDZNR/L1504 43 |32 | 30250 | 26 | 40 | 12 DNoo 150400
S40T-MDZNR/L1504 50 |40 | 37 |300 | 29 | 50 |11.5 N MSP617 | McL1814 | wsos1025|  S3
$32S-MDZNR/L1506 43 |32 30|250| 26| 40| 12
DNoo 150600 MSP619
S40T-MDZNR/L1506 50 | 40| 37 300 29| 50 [11.5
75°
6’ '
II-_-_-I_ ----------- —
h
|
S o
75\OV—
L

Applicable Inserts
MR

Shim
Pak:

(lamping stud
5T

Clamp
JEAR

(lamping screw

XK MRET

Wrench
w"T

0] B B > de
O
S20Q-MSKNR/L12 26 | 20| 18 [180| 13|157| 31 X MSP613 MCL1810 | WS061020
S25R-MSKNR/L12 32 | 25| 23|200| 17|12°| 35
- o SN 12040001 MCL1814| WS061025 | S2.5,S3
S32S-MSKNR/L12 40 | 32| 30 |250| 22 |17°| 40 MS 1204 | MSP617
S40T-MSKNR/L12 50 | 40 | 37 |300| 27 | 15°| 50

THREKERFBEREHE] X #1555 MBwww.hnsant.com

Dimension(mm) %A R~}

Applicable Inserts
R R

Shim
PAE:

=

MVQNR/L
117°30° e ——————
h Dmin
| /Z ’\
_,\4.,_ ) e | (907 —
S ,\'\ o, 7d AN /,/
e S

BIET

(lamping stud

Clamp
AR

(lamping screw

XK IRET

Wrench
EE

40 | VYN 16040000

S25R-MVQNR/L16 32 | 25| 23 |200| 17 | 12°| 40
S32S-MVQNR/L16 42 | 32| 30 |250| 22 | 17°
S40T-MVQNR/L16 50 | 40 | 37 |300| 27 | 15° | 50

X

MSP510

MCL1814

MV 1603

MSP513

MCL2414

WS061025

52,83

MVUNR/L

93°

Dimension(mm) FE4s R~}

Applicable Inserts
FEF IR

Shim
PAE:

=

(lamping stud
55T

Clamp
JEAR

(lamping screw

XK IRET

Wrench
w"T

8 | VNOII 1604L1C]

S25R-MVUNR/L16 36| 25| 23|200| 20 | 40 | 8
S32S-MVUNR/L16 42| 32 | 30 | 250 | 23 | 40
S40T-MVUNR/L16 50 | 40 | 37 |300 | 27 | 55 | 10

X

MSP510

MV 1603

MSP513

MCL1814

WS061025

S2,S3

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHEI|7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

MVWNR/L

Applicable Inserts Shi : .
Y R T T i e

" 4

S25R-MVWNR/L16 36| 25|23 | 200 | 22 | 35 | 10 X MSP510
S32S-MVWNR/L16 48 |1 32130 | 250 | 25 40 | 10 | VNOI[I 1604000 MCL1814 | wsos1025| 2.3
S40T-MVWNR/L16 56| 40|37 | 300 | 29 | 45 | 11 MV 1603 | MSP513 ’
96°

Dmin

N /

Applicable Inserts S
Dimension(mm) 34 BT VAR

Clampingstud ~ Clamp  Clampingstrew — Wrench

AT JEB BCKIRET /T

S25R-MVXNR/L16 32| 25| 23 | 200 | 17 | 55 X MSP510

S32S-MVXNR/L16 42132 | 30 | 250 | 21 | 60 | yNr] 16040000 MCL2414 | WS061025 | 52,53
MV 1603 | MSP513

S40T-MVXNR/L16 50| 40 | 38 | 300 | 25 | 68

THREKERFBEREHE] X #1555 MBwww.hnsant.com

B = 71 A

MWLNR/L

95°

Dimension(mm) 45 K~ Oyl Sﬂi*é 5T

ZHIJJE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

Applicable Inserts him

Clampingstud ~ Clamp ~ Clampingscrew  Wrench
FEAR REKIRET  WF

O & ele®

S20Q-MWLNR/L08 25|20 | 18 180 | 145 | 36
X MSP613 | MCL1810 | WS061020 | S2.5,S3
S25R-MWLNR/L08 32| 25| 28 200 17 40
S32S-MWLNR/L0O8 41|32| 30 250 22 50 | WNLICJ 0804011
S40T-MWLNR/L0O8 50| 40| 37 | 300 27 55 MW 0804 MSP617 | MCL1814 |WS061025| S3

91°

Dmin

Applicable Inserts Shim Clampingstud ~ Clamp ~ Clampingsurew — Wrench

Dimension(mm) %E4s R~ W) R Pak:! AT JEAC  XCKIZET iRT

0 —

$20Q-MTFNR/L16 25| 20| 18| 180 | 13 | 35 oLta10 | weoetozn
S25R-MTFNR/L16 32| 25|23 | 200 | 16 | 40 X | MSP510

$325-MTFNR/L16 40| 32| 50| 250 | 20| 45 | TN 1604 |y yeral o |MOLIEH4 | wsostoas 52,83
S40T-MTFNR/L16 0| 4037 | 300 | 25 | s0

THREKEFBREHE] X 15152 Miwww.hnsant.com



Z|J7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

MTQNR/L

107.5°

sHo75e /% 1 \

Applicable Inserts  Shim  Clamping stud Clampi
Dimension(mm) A< WO 79 MO R R

S20Q-MTQNR/L16 25 | 20 | 18| 180 | 14 | 35 X MsP510 | MCL1810 | WS061020
S25R-MTQNR/L16 32 | 25 | 23| 200 | 18 | 35 sos3
TNOO 16040001 :
$32S-MTQNR/L16 40 | 32 | 30| 250 | 21 | 40 MCL1814 | WS061025
MT 1603 | MSP513
S40T-MTQNR/L16 50 | 40 | 37| 300 | 25 | 50

93° 6% ______________ -

Applicable Inserts Shim Clampingstud 1 Clamping screw
Dimension(mm) ZE7 R~ I R Ak ’f%’%gT JE%%D xxii%iﬂ ngzch

S25R-MTJUNR/L16 32 | 25 | 23 | 200 | 15 | 40 X MSP510
$32S-MTJNR/L16 40 | 32 | 30 | 250 | 18 | 45

TNOO 16040000 | MT 1603 | MSP513 | MCL1814/WS061025| S2,S3
S40T-MTJINR/L16 50 | 40 | 37 | 300 | 24 | 55

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

MTUNR/L
93° 6% ______________ -
Dmin
h o~ N
sfox 1T % _ \@>
e L d e

Applicable Inserts  Shim  Clamping tud Capi
Dimension(mm) &4 raz PN 7]1*2 aggr}%su C!%?&p X;fimgé!% W*r&en%ch

S20Q-MTUNR/L16 25 | 20 | 18 | 180 | 13 | 31 X MsP510 | MCL1810 WS061020
- 32 | 25 23 200 17 35
S25R-MTUNR/L16 TNCI] 160401 s2.53
- 40 | 32 30 250 22 40 MCL1814 |WS061025
S325-MTUN&/L16 MT 1603 | MSP513
S40T-MTUNR/L16 50 | 40 | 37 | 300 | 23 | 50
60° )
6 S ——— —
|
Dmin
h .
—_—— . ] & | \\
S| 60O — 7
260 d =
e
L

Applicable Inserts Shim  Clmpingstud ~ Clamp ~ Campingstrew ~ Wrench

Dimension(mm) AU eI PAE: BT B XCKIBET RF

l o*

S20Q-MTWNR/L16 27| 20| 18 | 180 | 15 | 31 « MSP510 MCL1810| WS061020

S25R-MTWNR/L16 32| 25| 23 | 200 | 17 | 35

S32S-MTWNR/L16 40 | 32 | 30 | 250 | 22 | 42 | TNLCIC) 16040000 MCL1814 |WS061025| S2,S3
MT 1603 | MSP513

S40T-MTWNR/L16 50 | 40 | 38 | 300 | 27 | 50

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders

PCLNR/L
95°

Applicable Inserts
FERIIRII A

Screw

BT

Wrench

T

#H = 71 A

Lever

FLAT

Shim Shim pin
JIH ki

S16Q-PCLNR/L09 20 | 16 | 15 |180| 10 |-12°| 30
S20Q-PCLNR/L09 25|20 | 18 |180| 12 |-11°| 30 | CNoo 090300 VHX0509 S2 Lv3C - -
S25R-PCLNR/L09 32| 25| 23|200| 15 |-10° 35
S20Q-PCLNR/L12 25|20 | 18 |180| 13 |-11° 35

VHX0613 | S2.5 LV4A — -
S25R-PCLNR/L12 32 | 25| 23 [200| 15 | 12°| 40
S32S-PCLNR/L12 44 | 32 | 30 |250| 22 |-10°| 50

CNoo 120400

S40T-PCLNR/L12 54 | 40 | 37 |300| 24 |-10°| 55 VHX0821|  S3 Lv4 PC12318| SP4
S50U-PCLNR/L12 63 | 50 | 47 | 350| 27 |-10° 58
S50U-PCLNR/L19 63 | 50 | 47 |350| 32 |-10°| 70 | CNoo 190600 | VHX1027 | S4 LV6 PC19476| SP6
62° 30'

Applicable Inserts

Dimension(mm) JEA U~ R

Screw
WRET

Wrench
HF

Lever

ALAT

Shim Shim pin
T

—

S32S-PDSNR/L15 40| 32| 30| 250 |23.5| 45 | 9

DNoo 150600 | VHX0821 S3 Lv4B | PD15318 SP4
S40T-PDSNR/L15 50 | 40 | 37 | 300 |28.5| 43 | 11
S32S-PDSNR/L15-3 40| 32| 30| 250 |23.5| 45 | 9

DNoo 150400 | VHX0821 S3 Lv4 PD15318 SP4
S40T-PDSNR/L15-3 50 | 40 | 37 | 300 |28.5| 43 | 11

THREKERFBEREHE] X #1555 MBwww.hnsant.com

ZHIJJE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

B = 71 A

PDUNR/L
93°

Dmin

Shim
PR

Lever
KA

Applicable Inserts Screw  Wrench
R R WRET T

Shim pin

Dimension(mm) FEA4 R~} B

S20Q-PDUNRIL 11 25 | 20 | 18 | 180 13 |—16° 30 B B
S25R-PDUNRIL 11 32 | 25| 23 | 200| 17 |-139 35 | DNooitodo | VHXOS12 1 S2 | LV3D
S32S-PDUNR/L 11 40 | 32 | 30 | 250| 22 |-16°| 40 VHX0617 | S2.5 Lv3 | PD11270| SP3
S32S-PDUNR/L 15 40 | 32 | 30 [250| 22 |-16°| 50

DNoo 150600 | VHX0821| 3 LV4B | PD15318| SP4
S40T-PDUNR/L 15 50 | 40 | 37 | 300| 27 |-11°| 50
S325-PDUNRIL 15-3 40 | 82 | 80 | 250| 22 |-167) 50 DNao 1504 VHX0821|  S3 LV4 PD15318 | SP4

oo (u]u]

S40T-PDUNR/L 15-3 50 | 40 | 37 |300| 27 |-11°| 50

75° %IF_(__: _____________

Shim
T

Lever

FLAT

Applicable Inserts Screw  Wrench
fER ) JRET T

g

Shim pin
fry

S25R-PSKNR/L 12 32| 25| 23 |200| 17 |-12°| 42 VHX0613 | S2.5 LV4A - -
S32S-PSKNRIL 12 44 | 32 | 30 |250| 22 |-10°| 45 | SNoo 120400 Vhix S P P

0821 3 12318 4
S40T-PSKNR/L 12 54 | 40 | 37 | 300| 27 |-10° 50

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZFHJ7JB | TURNING TOOLS §AHI §AHI ZHI7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders Internal turning toolholders HFLZE7]

PTFNR/L SCLCR/L
90° 95°

Applicable Inserts Screw  Wrench  Lever Shim Shim pin Applicable Inserts
Dimension(mm) FEA Gzl HRET T FLAF DAk e Gzl
StockEff
od s e
R|L

S16Q-PTFNR/L 11 20| 16| 15 | 180 | 11 | 28 S07K-SCLCR/L 06 9 | 7 6 125 46 | 15

. 25|20 | 18 | 180 | 13 | 31 | TNoo 1103 - - o 10 | 8 7 125 45 | 14
S20Q-PTFNR/L 11 oo oo VHX0509 S2 LVv2 S08K-SCLCR/L 06 CCuT 060200 L60M2.5X5 Tos

S25R-PTFNRI/L 11 32| 25| 23 | 200 | 17 | 35 S10K-SCLCRI/L 06 2 10| 9 | 125 6 | 17

S25R-PTFNR/L 16 32 | 25| 23 | 200 | 17 | 42 VHX0512 | S2 Lv3B - - S12M-SCLCR/L 06 16 | 12 | 11 150 7 17

S32S-PTFNR/L 16 44 |32 | 30 | 250 | 22 | 50 | TNoo 160400 S12M-SCLCR/L 09 16 | 12 | 11 150 8 25

VHX0613| S2.5 LV3  |PT16476 SP3

S40T-PTFNR/L 16 54 | 40 | 37 | 300 | 27 | 55 S16Q-SCLCR/L 09 20 | 16 | 15 180 9 27
- CCoT 097300 L60M4X8 T15

S20Q-SCLCR/L 09 25 | 20 | 18 180 11 28

S25R-SCLCR/L 09 32 | 25 23 200 14 35

PWLN RI L S25R-SCLCRIL 12 32 | 25 | 23 200 17 38
o5° S32S-SCLCRI/L 12 36 | 32 | 30 | 250 18 | 45 CCaT 120400 LEOMSX12 T20

6%&1_@_ _______________ S40T-SCLCR/L 12 50 | 40 | 37 | 300 | 27 | 60

i ]
- SCLCR/L-H
= 95°

Appliczble Inserts ~~ Screw ~ Wrench ~ Lever ~ Shim  Shim pin

Dimension(mm) JEA R ) I BT w"F AT Ak P
Applkaplelm
S16Q-PWLNR/L06 20 | 16| 15 |180| 11 |-13° 25 RERIE TR
S20Q-PWLNR/L06 25| 20| 18 |180| 13 |-139 32 | WNoo0604sn | VHX0512 |  S2 | LV3B - -
S25R-PWLNR/L06 32 | 25| 23 |200| 17 |-13° 35
S20Q-PWLNR/L08 25| 20| 18 |180| 13 |-13° 32
S25R-PWLNR/LOS 52| 25| 28 200 17 |18 45 |\ osoans | o) S2O LA T - SO8K-SCLCR/L 06HO9 o | 8 | 7 |125 | 43 |-15°| 15
S32S-PWLNR/L08 40 | 32| 30 |250| 22 (-13°| 50 S10K-SCLCR/L 06H11 11 | 10 9 | 125 | 55 |-13°| 16 CCuoT 060200 L60M2.5X5 TO8
S4OT_PWLNRILOS 50 | 40| 42 |300| 30 |12l 55 vexoe21| 3| Ly |Pwosats| sPa S12M-SCLCR/L 06H13 13 12 | 11 |150 | 65 |-10° | 17
516Q-5CLCR/L O9H17 17 | 16 | 15 | 180 | 85 -12°| 27 CCoT 097305 L6OM4X8 T15

THRAKEFBERERB X #EEZEMNwww.hnsant.com THREKEFBREHE] X 15152 Miwww.hnsant.com



S | INUS

ZHIJ7JE | TURNING TOOLS

AZFLZET] Internal turning toolholders

#H = 71 A

SCKCR/L
75°

0%

=

Dmin

Applicable Inserts Screw
FERKIT ) LT

Wrench
#F

Stock [77 ”
s | 6 | e

R|L
S08K-SCKCR/L06 10 8 75 | 125 | 55 | 13° | 15
S10K-SCKCR/L06 13 10 9 125 7 12 15 CCo T 060200 L60M2.5X5 Tos
S12M-SCKCR/L06 16 12 11 150 8 10° 20
S12M-SCKCR/L09 16 12 11 | 150 8 12° | 20
S$16Q-SCKCR/L09 20 16 15 | 160 10 10° 25 CCo T 09T300 L60M4X8 T15
$20Q-SCKCR/L09 24 20 19 | 180 | 13 | 8&° 30
S25R-SCKCR/L09 31 26 24 | 200 | 16 | 8&° 35

SDQCR/L
107°30'

Applicable Inserts
Dimension(mm) ZEAs R~ Gaz Nyl

S08K-SDQCR/LO7 10| 8 | 7 [125| 6 | -8

$10K-SDQCR/L 07 13 10| 9 1125 7 |8/ 20 | it o70m0s LEOM2.5%5 08
S12M-SDQCR/L 07 16 | 12| 11 [150| 9 | -8°| 22

$16Q-SDQCR/L 07 20| 16 | 15| 180| 11 | -6°| 27

$20Q-SDQCR/L 11 25| 20| 18 |180| 13 | -6°| 35 DCoT 11T3oo L60M4X8 T15
S25R-SDQCR/L 11 32| 25| 23 |200| 17 | -6°| 38

THREKERFBEREHE] X #1555 MBwww.hnsant.com

B = 71 A

SDXCRI/L

120°

ZHIJJE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

Applicable Inserts
ERIRIT P
S10K-SDXCR/L 07 13| 10| 9 | 125 7 -8° | 18
S12M-SDXCR/L 07 16 | 12| 11 | 150 8 -8° | 20 DCoT 070200 L6OM2.5X5 To8
S16Q-SDXCR/L 07 20 | 16 | 15 | 180 10 -6° | 25
S20Q-SDXCR/L 11 25| 20| 18 | 180 13 -6° | 33
S25R-SDXCR/L 11 a0 | 25| 23 | 200 16 & | 32 DCoT 11T3on L60M4X8 T15

62°30'

Applicable Inserts
fER )R

S12M-SDWCR/L 07 19| 12| 11 |125| 11| -8°| 15| 55

S16Q-SDWCRI/L 07 23| 16 | 15 | 180|12.5 -8 | 15 5 DCoT 070200 L60M2.5X5 To8
S20Q-SDWCR/L 07 27 | 20 | 19 | 180|14.5| -8°| 22 | 55

S20Q-SDWCR/L 11 27 | 20 | 19 | 180|14.5 -6°| 25 6

S25R-SDWCR/L 11 32| 25| 24 (200| 18 | -6°| 25 7 DCoT 11T3oo L60M4X8 T15
S32S-SDWCRI/L 11 40 | 32| 30 |250|21.5| -6°| 40 | 6.5

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHEI|7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

SDUCR/L
93°
éj __
\ o I h Dmin
O?;S r/o/'j_ NJ:: \/CU\/
e L d \3. -

Applicable Inserts
R

Stock {7
od s | 6| e | f

R|L
S08K-SDUCR/LO7 13 )08 | 75125 8 | -8° 4
S10K-SDUCR/L 07 13|10 | 9 | 125| 7.7 | -8° 3 DCao T070200 L60M2.5X5 T08
S12M-SDUCR/L 07 16 | 12 | 11 | 150| 85| —-8°| 22 | 3
$16Q-SDUCR/L 07 20 | 16 | 15 | 180| 11 | -6°| 27 | 3.5
$20Q-SDUCR/L 11 25 | 20 | 18 | 180|14.5| -6°| 30 | 5.5 DCo T11T3m0 L60M4X8 T15
S25R-SDUCR/L 11 32|25 | 23 | 200|185| -6°| 35 | 7

SDZCR/L

93°
0°, '
1
e h Dmin
g r=h)
s 7
f 4
d —
e L 0

Applicable Inserts Screw Wrench
R WEAT HF

Stock [77
R | L
S20Q-SDZCR/L11 27 | 20 | 18 | 180 | 16 | -6°| 20 | 7.5
S25R-SDZCR/L 11 33 25 | 23 | 200 | 19 -6°| 30 7.5 BCo T11T300 L6OMAXE 15
S32S-SDZCRI/L 11 40 | 32 | 30 |250 | 23 | -6°| 35 | 8.4
S40T-SDZCR/L 11 50 | 40 | 37 | 300 | 28 | —4°| 50 | 9.4

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

SSKCR/L
75° D
S/ | ]
=SS i ] o
. h J
A — —
S @ ] [ 0
e mi
L

. . Applicable Inserts
Dimension(mm) FEA N~ IR

S12M-SSKCR/L 09 16 | 12 | 11 | 150| 9 |-10°| 25
S16Q-SSKCR/L 09 20 | 16 | 15 | 180 | 11 | -11°| 30
S20Q-SSKCR/L 09 25 20 18 180 | 13 | —g° 35 SCo T 09T30o L60M4X8 T15
S25R-SSKCR/L 09 32 | 25 | 23 | 200| 17 | —-8° | 40
S25R-SSKCR/I _g°

L12 82 | 25 | 23 | 200 17 | 8% 40 SCo T 120400 L6OM5X12 T20
8325-SSKCR/L 12 40 | 32 | 30 | 250 | 22 | —10°| 45

SSSCR/L
45°

Applicable Inserts
fEHT] R

S12M-SSSCR/L 09 17 12 | 11 | 150 | 10 | -10°| 15 | 4.5
S16Q-SSSCR/L 09 22 16 | 15 | 180 | 13 | -11°| 25 | 5.5
S20Q-SSSCRI/L 09 25 | 20 | 18 | 180 | 15 | -° | 30 | & SCo T 09T3a0 L60M4X8 T15
S25R-SSSCR/L 09 32 25 | 23 | 200| 17 | -8° | 35 | 55
S25R-SSSCR/I _g°

L12 82 | 25| 28 | 200| 17 | 8" | 35 | 55 | oo T120400 | L6OMSX{2 T20
S32S-SSSCRI/L 12 40 | 32 | 30 | 250 | 22 | -10°| 40 7

THREKEFBREHE] X 15152 Miwww.hnsant.com



Z|J7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

STFCR/L

91°

Dmin

Applicable Inserts

IR

w
S08K-STFCR/L09 10 08| 7 | 125 | 55| 8
S10K-STFCR/L09 12 10 9 125 6.8 10 TCo T 090200 L60M2.2X6 TO6
S12M-STFCR/L09 16 12 11 150 8 10
S12M-STFCR/L11 14 12 11 150 6.5 25
S16Q-STFCR/L 11 18 16 15 180 9 25 TCo T 110200 L60M2.5X5 TO8
S20Q-STFCR/L 11 25 20 18 180 11 25
S25R-STFCR/L 16 32 25 23 200 17 40
S32S-STFCRIL 16 s6 | 3 | s | 20 | 18 | so | 00T LOM4X8 Tis
S40T-STFCR/L 16 50 | 40 | 37 | a00 | 25 | 60

J |

— e

Applicable Inserts
R
S10K-STWCRI/L 11 14 |1 10 9 | 125 | 8 |-10°| 14
S12M-STWCRI/L 11 16 | 12 11 | 150 | 9 |-13°| 25
S16Q-STWCRI/L 11 20 | 16 | 15 | 180 | 11 |-10°| 30 TCo T 110200 L60M2.5X5 T08
S20Q-STWCRI/L 11 25 | 20 | 19 | 180 | 13 | —6° | 30
S25R-STWCRI/L 11 32 | 25 | 24 | 200 | 17 | -6° | 35
S20Q-STWCRIL 16 25 | 20 | 19 | 180 | 145| -3° | 36
S25R-STWCRI/L 16 32 | 25 | 24 | 200 | 17 | —6° | 49
S32S-STWCRIL 16 39 | 32 | 30 | 250 | 22 | _10°| 50 TCo T 16T300 LBOM4X8 Ti5
S40T-STWCR/L 16 50 | 40 | 37 | 300 | 25 | _g° | 50

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

o
91 0°
[
Dmin
h
5179112
e L 9
Applicable Inserts
GaELpALS
S08K—STFPR/L09 10 | o8 7 | 125 5 |-10°| 14 TPo T 090200 (i)
S10K-STFPR/L11H11 11 10 9 125 | 55 | -13°
S12M-STFPRIL 11H13 13 | 12 | 11 | 150 | 6.8 | ~10° TPO T 110800 zeceny | -0OME2XS To8
S16Q-STFPR/L 11H17 17 16 15 | 180 | 8.8 | —6°
93° oY
~L_I5
Dmin
S
[l )

Applicable Inserts N5 Wrench
R0 WRET T

Stock 17 /\
od s 5} e

S08K-STUCR/L09 11 | o8 | 7 |125| 55 |-15°

. - 11 16 125 | 55 | -15° | 24
SOOIl Lo |E 15 TCo T 090200 L60M2.2X6 Toe
S10K-STUCR/L09 13 10 9 125 6 |-13°| 10
S10K-STUCR/L09-A16 13 16 15 | 125 7 |-18 | 30
S10K-STUCR/L11 13 10 9 125 7 |[-12°| 10
S10K-STUCR/L11-A16 16 16 15 | 125 7 |-12°| 30

—. 16 12 11 | 150 7 |-10° | 25
S12M-STUCR/L11 TCo T 110200 L60M2.5X5 TO8
S12M-STUCR/L11-A16 16 16 15 | 150 7 |-10° | 30
S16Q-STUCR/L11 20 16 15 | 160 9 | -8 | 25
S20Q-STUCR/L11 25 20 19 | 180 | 11 |-6° | 25
S25R-STUCR/L11 31 25 24 | 200 | 15 | -4 | 34
S20Q-STUCR/L16 25 20 19 | 180 | 13 | -8° | 36
S25R-STUCR/L16 31 25 24 | 200 | 17 | -6 40 TCo T 16T300 L6OMAXE _
S32S-STUCR/L16 39 32 30 | 250 | 18 | -4° | 50
S40T-STUCR/L16 50 40 38 | 300 | 25 | -2° | 60

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHEI|7JE | TURNING TOOLS §AHI

AZFLZET] Internal turning toolholders

SVQCR/L
107.5°

Applicable Inserts Screw
R IR4ET

Stock [/
Dmin| ¢d | h | L s | ¢ e f
R|L
S20Q-SVQCRI/L16 27 | 20 | 18 | 180| 15 | -8° | 40 | 6.0
S25R-SVQCR/L16 32 | 25 | o3 | 200 |18.5|-8° | 45 | 6.9 VCo T 16040 o L60M4X8 T15
S32S-SVQCRI/L 16 40 | 32 | 30 |250| 22 | _g° | 56 | 8.4
S40T-SVQCR/L 16 50 | 40 | 37 |300| 27 | _g° | 64 | 9.4

SVQBR/L
107.5°

Applicable Inserts Wrench
FERIT w"F

S20Q-SVQBR/L16 27 | 20| 18 |180| 15 | -8°| 40 | 6.0
S25R-SVQBR/L16 32 | 25| 23 1200 185 -8’ 45 | 6.9 VBo T 16040 o L6OM4X8 Ti5
S32S-SVQBRI/L 16 40 | 32| 30 | 250 | 22 | _8°| 56 | 8.4
S40T-SVQBR/L 16 50 | 40| 37 |300| 27 | _g°| 64 | 9.4

THREKERFBEREHE] X #1555 MBwww.hnsant.com

§nu1 ZHI7JE | TURNING TOOLS

Internal turning toolholders RFLZEJ]

SVUCR/L
93° T e e — al
l;; b

Applicable Inserts

I

S$16Q-SVUCR/L11 22 | 16 | 15 | 180 | 135 | 24 | 6 VCo T 110800 L60M2.5X5 Tos
S20Q-SVUCR/L16 31 | 20 | 19 | 180 | 19 | 32 | 95
825R-SVUCR/L16 35 | 25 | 23 | 180 | 20 | 32 | 8.4 VCo T 160400 L60M4X8 T15
S325-SVUCR/L 16 42 | 382 | 30 | 250 | 22 49 | 8.4
S40T-SVUCR/L 16 51 | 40 | 37 | 300 | 27 | 49 | 11
SVWCR/L

Dmin

N /

NIE

Applicable Inserts

IR

Stock 77 @ ’

R | L
S16Q-SVWCR/L11 25| 16 | 15 | 180 | 14 | 25 | 6.9 VCo T 110300 L60M2.5X5 To8
S20Q-SVWCR/L16 32| 20 | 18 | 180 | 22 | 25 |129
S25R-SVWCR/L16 36| 25 | 23 | 200 | 22 | 30 | 10 VCo T 160400 L60M4X8 T15
S32S-SVWCRIL 16 45| 32 | 30 | 250 | 27 | 42 |122
S40T-SVWCR/L 16 55| 40 | 37 | 300 | 30 | 50 | 11

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZEE|7JE | TURNING TOOLS

MFLZET] Internal turning toolholders

SVXCR/L

# = 71 A

Applicable Inserts Screw
A EpAY WRAT
S16Q-SVXCR/L11 20| 16 | 15 180 | 95 | 35 | 2 VCo T 110300 L60M2.5X5 T08
S20Q-SVXCR/L16 25| 20 | 18 180 13 | 40 | 4
S25R-SVXCR/L16 32| 25| 23 200 | 145 | 40 | 3 VCu T 160400 L6OMAXS 5
S32S-SVXCRI/L 16 40 | 32 | 30 250 | 21 62 | 6
S40T-SVXCR/L 16 50 | 40 | 37 300 24 | 62 |55

SVZCR/L

93

Dimension(mm) JE4s K~

Applicable Inserts

SEHETI

Screw
WRAT

S16Q-SVZCR/L 11 22|16 | 15 | 180 | 185| 15 | 6.5

VCo T 110300 L60M2.5X5 T08
S20Q-SVZCR/L 11 28 | 20 | 18 180 16 22 | 75
S25R-SVZCR/L 16 34 |25 | 23 | 200 | 21 30 | 10
S32S-SVZCR/L 16 40 | 32 | 30 | 250 | 23 | 35 | 9 VCo T 160400 L60M4X8 T15
S40T-SVZCRI/L 16 50 | 40 | 37 300 29 40 | 11

THREKERFBEREHE] X #1555 MBwww.hnsant.com

#H o= 7 A

SWUBR/L

CO5H-SWUBR/L06

ZHIJJE | TURNING TOOLS

2n steel Internal Turning tools 35X FLZET]

Applicable Inserts
R R

Screw
HRET

W

—. Dmin
O
< N—
@Q)d o =
H

4.5

100

-18°

C06J-SWUBR/L06

5.5

110

3.5

-13°

WBoT060100

L60M2.0X4.3

T06

SCLCR/L

Applicable Inserts
R

C07K-SCLCR/L06 10 | 7 |65 | 125 | 45 |-15°| 8
C08K-SCLCR/L06 10 8 | 75 | 125 5 | -15°| 8
C10M-SCLCR/L06 12 | 10 | 95 150 | 6 |-13°| 14 CCaT0602 00 Lo0M2.5X5 To8
C12Q-SCLCR/L06 14 | 12 | 11 [ 180 | 7 |-10°| 14
C12Q-SCLCR/L09 16 | 12 | 11 | 180 | 8 |-10°| 14
C14Q-SCLCR/L09 16 | 14 | 13 | 180 | 8 |-12°| 18
C16R-SCLCR/L09 18 | 16 | 15 | 200 | 9 |-12°| 20 CCoT09T3an L60M4XS8 T15
C20S-SCLCR/L09 22 | 20 | 19 | 250 | 11 | _g°| 26
C25T-SCLCR/L09 28 | 25 | 23 | 300 | 14 | —6°| 29

T BRARALDFRITRATRSNATR WM ESHE LR

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZFHJ7JB | TURNING TOOLS §AMI §AUI ZHI7JE | TURNING TOOLS

24NN FLZEJ] Tungsten steel Internal Turnin ten steel Internal Turning tools $35XAFLZET]

STFCR/L SDQCR/L

Applicable Inserts Screw
FER T AT

Applicable Inserts
fERINTI R

CO8K-STFCR/L09 10 ) 8 | 75)125| 5 | -10| 8 C10M-SDQCR/L07 13 | 10 | 95 |150 | 7 | -8° | 14

C10M-STFCR/L09 12 1 10 | 95 | 150 | 6 | -10| 14 TCoT090200 L60M2.2X6 To6 C12Q-SDQCR/L07 16 | 12 | 11 | 180 | 9 | -8 | 14 DCoT0702m0 L60M2.5X5. 0 T08
C12Q-STFCR/L09 16 | 12 | 11 | 180 | 8 | -5 | 14 C16R-SDQCR/L07 20 | 16 | 15 | 180 | 13 | —-6° | 20

C12Q-STFCR/L11 16 | 12 | 11 | 180| 8 | -6 | 14

C16R-STFCR/L11 18 | 16 | 156 | 200| 9 | -6 | 20 TCoT110200 L60M2.5X5.0 Tos

C20S-STFCR/L11 25 | 20 | 19 | 250 | 12 | -6 | 26 SDUCR/L

STUPR/L

Applicable Inserts
fERINTI R

Applicable Inserts
FEIG I _TF: C10M-SDUCR/LO7 13| 10| 95150 7 | -8 | 14
C12Q-SDUCR/L07 16 | 12 | 11 | 180 | 9 | -8 14 DCLT0702 L60M2.5%5. 0 108
. ) C16R-SDUCR/L07 20 | 16 | 15 | 200 | 11 | -8° | 20
C20S-SDUCR/L07 25 | 20 | 19 | 250 | 13 | -6° | 16
C08K-STUPR/L09 1|8 |75/125)55 10| 8 T - BRAENILTR D TR RS RIS N TR S (PR
C10M-STUPR/L09 13 | 10 | 95|150| 6.5| -8 | 14 TP5T090200 () L60M2.5X5.0 Tos Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.
C12Q-STUPR/L09 16 | 12 | 11 |180| 75| -6 | 14
C12Q-STUPR/L11 16 | 12 | 11|180| 75| -6 | 14
C16R-STUPR/L11 18 | 16 | 15 |200| 9 | -6 | 20 TPoT110300 (RE) L60M3.0X7 T10
C20S-STUPR/L11 25|20 | 19 |250| 12| -6 | 26

T | BIMAEALDTRETRETRSIAFRSHIP I SHEPEE

Note:Tungsten steel Anti-shaking Internal Turning tools with collant hole or without collant hole both can be offered.

THRAKEFE RSB X #HEEEMNEwww.hnsant.com THRAKCEFBRERE X #HEEZENBEwww.hnsant.com




S | INUS

ZHIJ7JE | TURNING TOOLS

IR TINELS RN Threading tool

R
T h %
4t Right
HURRTEREEEL B:h=8mm, #7508
Integers to be proceeded by 0
L eg:h=8 indicated by 08
e BTIAT 002
ZeY) Left
3.E0HIA M ANNRE=E
Cutting direction Tools-tip height
3EH Example I
1LEEAR

|
2%%2152:‘& Type of thread

Clamping System

C
JEAR R X
Top clamping
N WIZ 4 Internal
S
W | 424 Extemal
BRET He X 5K
Screw on

A b
O
f5]:b=8mm, ¥ 4 08

Integers to be proceeded by 0
eg:b=8 indicated by 08

v IR ST AR R

5.7 E shank width

B o= 7 A

H 100
K 125
M 150
P 170
Q 180
R 200
T 250

6.7] FF-[:&}E Tool holder length
|

|
25 25 M 16

7.71F R~ Insert dimension

éch‘iDjé Cutt%gﬁ eﬁzgiili(:ngth Inscribeljc? Jgle dia.
11 11 6.305

16 16 9.525

22 22 12.70

27 27 15.89

THREKERFBEREHE] X #1555 MBwww.hnsant.com

#H = 71 B

ZHIJJE | TURNING TOOLS

Threading toolholders 1847]

IMBN%ET] External threading tools

SEavSEEpl]

Dimension(mm) HEAs R~}

Applicable Inserts
FEFTT

Screw
JIW24ET

Shim
T

Shim Screw
JIHIEET

1010H11H 10| 10| 10| 100| 16
1212H11H 12| 12| 12 100| 16
CieteHieH | | | 16| 16| 16| 100| 20
2020K16H 20| 20| 20 | 125] 25
2525M16H 25| 25| 25 | 150| 32
3225P16H 32| 32| 25 |170| 32
3232P16H 32| 32| 32 |170| 40
2525M22H 25| 25| 25 |150| 32
3225P22H 32| 32| 25 [170| 32
3232P22H 32| 32| 32 |170| 40
4040S22H 40 | 40| 40 |250| 50

R/LT16.01W-0oGM

R/LT22.01W-0oGM

L60 M2.5 x 6 — — T08
T15
L60 M3.5x 12| TT16-00 SS04008
S2.5
T20
L60 M5 x 16 TT22-00 SS04008 25

*iFH: BRETNREWNSEK.IMEEA Note:The insert is Zccet brand.

SWR/L

Applicable Inserts Screw Shim Screw
Dimension(mm) 4% R~} FERITT ) JIF 24T k)
1010H11 10 10 101100} 16 11ERL L60 M2.5x 6 — — T08
B33 N T 121212 10016 |
1616H16 16 | 16| 16 |100| 20
2020K16 20| 20| 20 |125| 25
2525M16 25 | 25| 25 |150| 32 16ER/L L60 M35x12| TT16-an $504008 ST;E;
3225P16 32 | 32| 25 |170| 32
3232P1 6 32 32 32 1 70 40 ....................................................................................................................................
2525M22 25 | 25 | 25 |150| 32
3225P22
828225 170| 32 22ER/L L60M4x16 | TT22-oo
3232P22 32 | 32| 32 [170| 40
5504008 T20
4040822 40 | 40 | 40 |250| 50 $2.5
3232P27 32 | 32| 32 |170| 40
27ERIL L60M6x16 | TT27-o0
4040827 40 | 40 | 40 |250| 50

*iEM: BETHEWSEISOEIRTI F . Note:The insert is ISO brand.

THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHIJ7JE | TURNING TOOLS

¥2477] Threading toolholders

IR ET] Internal threading tools

=
P ——tiv
S I (‘ 5<
SRV REDS] L1 .

Applicable Inserts

Dimension(mm) A R~} FEF 0 )y

Stock 17

)

AT

B o= 7 A

Shim Screw
JIRIRET

SNR/LO010K11H 10 125 | 12| 6 |95/32| LT11.01N=0oGM
_ SNR/ALOO12K1H| ~  [12]125] |16 6 /115 32| RT11.01N-00GM
SNR/L0O013M16H 13 |150 16|10 [15.5| 32
SNR/LO016M16H 16 |150 20 (12 [155] 40
_— —t - “| LT16.01N-0oGM
SNR/L0020Q16H 20 (180 2514 19.5] 40
SNR/L0025R16H 25 |200| | 30|16 |24 | a5| 1 16-01N-0oGM
SNR/L0032S16H 32 (250 3820 |30 | 55
CSNRLO025R22H | | 25200/ | 30|18 24 | 45| RT20 01N-5oGM
_ SNR/L0032S22H . |82]250] 13822130 |55 |T22.01N-ooGM
SNR/L0040T22H 40 (300 46 |26 | 38 | 60

L60 M2.5x5

L60 M3.5x8

L60 M5 x 16

SS04008

S§S04008

*EH: RETDHREZWSEZkMNEA. Note:The insertis Zccct brand.

Applicable Inserts

v

Shim Screw
JIRIZET

Dimension(mm) A< R~} FEF 0
Stock JF 47
SNR/LO010K11 10 [125 12| 6 |95 32 111IR/L
CSNRLOOT2KTTY (| 12[125] 166 {15182 ) L
SNR/L0013M16 13 [150 16 |10 [15.5] 32
SNR/LO016M16 16 [150 20|12 (15.5| 40
~ SNR/L0020Q16 |20 /180 | 25|14 [195] 40
SNR/L0025R16 25 {200 30|16 |24 | 45 161R/L
 SNR/LO032S16 | | a2 250 | 38|20 |30 | 55
SNRMOO2SRe2 | | 25200 |30|18|24las| |
SNR/L0032S22 32 |250 38|22 |30 |55 22IR/L
SNRLOOAOT22 | |40/a00 |46 26|38 |60
__SNR/L0032S27 .| 82250 | 40|24 |30 | 55
SNR/L0040T27 40 300 50 |30 | 38 | 60 27IRIL

TT27

L60 M2.5x5

L60 M4 x 16

L60 M6 x 16

S§504008

SS04008

S§S04008

*iEB: BRENREWNS#EISOEMRIIF, Note:Theinsertis ISO brand.

THREKERFBEREHE] X #1555 MBwww.hnsant.com

ZHIJJE | TURNING TOOLS

g holderscode key YIRTIIETIFF a2 NI

B = 71 A

W B i4E 714 an B AN

Parting and grooving holders code key

SN S i D) WD)k ) A

External and surface cutting

1. IETIRS 2, IRIBH
Q : YFTE E : SMEIYDHE] 5. YETITIEE 6. YIETITIAREE 8. mANIHIRE
P {IkR F: ummEtlHEl

Q F G D 25 25 R 22 52 H

] ] ] ] I
| | | |
3. BUMKSSIE 4 NEIA e
HEGTOELS  BIDSKS N 1o, smINTIER
—HHN R —ET] S: &7J . b = e H:HEL L:Zs
il S N : FREEE (SRR )
WIS T H
Internal cutting
1. PIENEEAR 2. JJHER 5. EERS 6. XTI 7%
| | | '
I
C 32 S-Q@ G D R 11-44

—

9. AT FE

3. JIHKE

— |

4. PEIRS 8. RAUHIRE

FIT- DI TR ) T

Height of blades

P H S 32 32

| | I L L
i i | |
1. tIETIE 2. YIMTTIEERE 3. METIR 7 4. TIEEHIAG 5. TIREE

THREKEFBREHE] X 15152 Miwww.hnsant.com




2| INUS

ZFHJ7JB | TURNING TOOLS §AHI §AHI ZHI7JE | TURNING TOOLS

YIWrtIsET]  Parting and grooving toolho g and grooving toolholders  HIRFHIIET]

” ] m N ) E 7l E External Parting, Grooving and Turning Tools ,P 1 m B *E y =] External Parting, Grooving and Turning Tools
> aw . A

|

W L

e

b T

o

HEA ]S} Dimension(mm) |,'173e}jts \fl)%erfh Type ARSI bimension(mm) |,173e)is Sdli?\;v v?rzerfh
HxB L S w ﬁajfmﬁ]af / = H L s w sajfnt‘)gig / ( (
1616R/L10 16x16 | 100 15 | 25 | 10 ZHEDxewn— M5 20 s 1616-2 16 100 | 15 2 145 | MGMN200-M M5 x 17 S4
1616R/L17 16x16 | 100 15 | 25 | 17 ZHED s 2020-2 20 125 | 19 2 | 145 | MGMN200-M M6 x 20 S5
2020R/L10 2020 | 125 | 19 | 25 | 10 | Z+EDsrees—sr MGEHR/L mrere; 25 150 | 24 | 2 145 | MGMN200-M M6 x 20 S5
2020R/L17 20x20 | 125 19 | 25 | 17 ZHED s M6 x 20 S5 1616-2.5 16 100 | 15 25 | 165 | MGMN250-M M5 x 17 S4
2525R/L10 25x25 | 150 24 25 | 10 ZHEDwew— 2020-2.5 20 125 | 19 25 | 165 | MGMN250-M M6 x 20 S5
2525R/L17 25x25 150 24 25 | 17 AR D 2525-2.5 25 150 | 24 25 | 16,5 | MGMN250-M M6 x 20 S5
1616R/L10 16x16 | 100 | 148 | 3 | 10 ZrFDxexn—s M5 x 20 < 1616-3 16 100 | 148 | 3 |18 MGMN300-M M5 x 17 sS4
1616R/L17 16x16 | 100 | 148 | 3 | 17 ZHFDxxxx—sx 2020-3 20 125 | 188 | 3 |18 MGMN300-M
2020R/L10 20x20 | 125 | 18.8 | 3 | 10 | Z+FDwwwx—w 2020-3-T10 20 125 | 188 | 3 |10 MGMN300-M
2020R/L17 20x20 | 125 | 18.8 | 3 | 17 | Z+FDwew— 2525-3 25 150 | 238 | 3 |18 MGMN300-M M6 x 20 S5
2525R/L10 25x25 | 150 | 238 | 3 | 10 | Z+FDerwe—s M6 20 85 2505-3-T40 25 150 | 238 | 3 |10 | MGMN300-M
2525R/L17 25x25 | 150 | 238 | 3 | 17 ZxFDxxex— 3232-3 32 170 | 305 | 3 |18 MGMN300-M
2020R/L13 20x20 | 125 | 185 | 4 | 13 Z+GD 3232-3-T10 32 170 | 305 | 3 |10 MGMN300-M
2020R/L 22 20x20 | 125 | 185 | 4 | 22 | ZxGDwwre—xx 2020-4 20 125 | 185 | 4 |18 MGMN400-M
2525R/L13 25x25 | 150 | 23.5 4 13 VALCID 2020-4-T10 20 125 | 185 | 4 |10 MGMN400-M
2525R/L 22 25x25 150 23.5 4 22 Z*GDxrwr—xx 25054 o5 150 235 | 4 18 MGMN400—M
3232R/L13 382x32 | 170 | 305 4 13 Z+GDxwww—x 2525-4-T10 25 150 | 235 | 4 |10 MGMN400-M
3232R/L 22 32x32 170 | 30.5 4 22 Z<GDxwxr—xx 30304 32 170 305 | 4 18 MGMN400—M
2525R/L13 25x25 | 150 23 5 | 13 | Z+HDwwwr—x 3232-4-T10 32 170 | 305 | 4 |10 MGMN400-M
2525R/L 22 25x25 | 150 | 23 5 | 22 | Z+HDwwx—x M6 x 20 S5 2020-5 20 150 | 18 5 |03 MGMN500-M M6 x 20 S5
2525N 30 25x25 | 150 | 125 | 5 | 30 | Z+HSwrx—xx 2020-5-T15 20 150 | 18 5 |15 MGMN500-M
3232R/L13 32x32 170 30 5 13 ZrHDwwrx—sx 2555 o5 150 | 23 5 |23 MGMN500-M
3232R/L 22 32x32 | 170 | 30 5 | 22 | Z+HDwwoe— 2525-5-T15 25 150 | 23 5 |15 MGMN500-M
3232N 30 32x32 170 16 5 30 Z+xHSxrwx—xx 3039_5 32 170 | 30 5 |23 MGMN500—M
2525R/L13 25x25 150 | 226 6 13 Z+KD wrsx—ss 3232-5-T15 32 170 30 5 15 MGMN500—M
2525R/L 22 25x25 | 150 | 22.6 | 6 | 22 | Z+KDwxwr—sx 2020-6 20 125 | 17 6 |23 MGMNG00-M
2525N 30 25x25 | 150 | 125 | 6 | 30 | Z+KSwrrx—xx 2020-6-T10 20 125 | 17 6 |10 MGMNB00-M
3232R/L13 32x32 170 | 29.6 6 13 Z+KDwwrx—s 2595_6 o5 150 | 226 | 6 |23 MGMNG00-M
3232R/L 22 32x32 | 170 | 296 | 6 | 22 Z+KDxxw—sex 2525-6-T15 25 150 | 226 | 6 |15 MGMNG600-M
3232N 30 32x32 | 170 16 6 30 S 3232-6 32 170 | 296 | 6 |23 MGMN600-M
J TN DAL RN iR ] 3232-6-T15 32 170 | 296 | 6 |15 MGMN600-M

Parting, grooving, turning, profiling inserts are adaptable to the tools. * AEYIW . UIRE . GEH0. BT . (OB B E SOI% M) ) Note:The insertis Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THRAKEFBERERB X #EEZEMNwww.hnsant.com THREKEFBREHE] X 15152 Miwww.hnsant.com




e | INUS

ZHIJ7JE | TURNING TOOLS

LI Parting and grooving toolholde

SGTR/L

50

#H = 71 A

Applicable Inserts Clamping screw
Dimension(mm) 7 <~ Gl HRET

Li| Lo Hi| f 9/
1212H16C 12| 12 [100| 20 | 12| 16
SGTR/L
1616H16C 15| 16 [100| 20 | 16| 20
2020K16C 20| 20 125/ 20| 20 | 25 GLR/L3oo0o M3.5x8 Ti5
2525M16C 25| 25 [150| 20 | 25| 32
2C 20| 20 [125| 30 | 20| 25
2020K2 GLR/L4ooo M4 x 10 T15
2525M22C 25| 25 |150| 30 | 25 | 32

*EH: BETDREZWSERZTIA. Note:The insertis Toshiba brand.

KGBR/L
5

s @ a

Applicable Inserts Clamping screw

Dimension(mm) JEA ]~ fERS )R WRET

b|L| h|s]|e

KGBR/L 2020K22-15 20| 20 |125| 20 | 25 | 24
GB43R/050~300 DM 0625 CGBR/L s4

2525M22-15 25| 25 [150| 25 | 30 | 25
2020K22-25 20| 20 |125| 20 | 25 [25.5 s4

GB43R/250~330 DM 0625 CGBRIL
2525M22-25 25| 25 |250| 25 | 30 |25.5
-35

2020K22 201201125/ 20 | 251255  Gp43R/350-480 DM 0625 CGBRIL s4

2525M22-35 25| 25 |150| 25 | 30 |25.5

*xiEMH: BENRZINSETETIHK, Note:The insert is Kyocera brand.

THREKERFBEREHE] X #1555 MBwww.hnsant.com

ZHIJJE | TURNING TOOLS

ing and grooving toolholders  tIRFIRET]

ﬁﬁwg’ EH],JE Surface Grooving and Turning Tools

B = 71 A

BD max
; ’5%7
. H H in
i \
! Clw
i Y=t
L
i i &R R WRAT T
Type SR e () Applicable inserts Screw Wrench
Ty P
S HxB L s | w | a (mg-]l\)/lax) / ( (

QFFD2525R/L10-48H 25x25 | 150 26
QFFD2525R/L17-48H 25x25 | 150 26
QFFD2525R/L10-60H 25x25 | 150 26
QFFD2525R/L17-60H 25x25 | 150 26
QFFD2525R/L10-74H 25x25 | 150 26
QFFD2525R/L17-74H 25x25 | 150 26
QFFD2525R/L10-100H 25x25 | 150 26
QFFD2525R/L17-100H 25x25 | 150 26
QFGD2525R/L13-52H 25x25 | 150 26
QFGD2525R/L 22-52H 25x25 | 150 26
QFGD2525R/L13-64H 25x25 | 150 26
QFGD2525R/L 22-64H 25x25 | 150 26
QFGD2525R/L13-90H 25x25 | 150 26
QFGD2525R/L 22-90H 25x25 | 150 26
QFGD2525R/L13-130H 25x25 | 150 26
QFGD2525R/L 22-130H 25x25 | 150 26
QFHD2525R/L 13-58H 25x25 | 150 26
QFHD2525R/L 22-58H 25x25 | 150 26
QFHD2525R/L 13-86H 25x25 | 150 26
QFHD2525R/L 22-86H 25x25 | 150 26
QFHD2525R/L 13-130H 25x25 | 150 26
QFHD2525R/L 22-130H 25x25 | 150 26
QFHD2525R/L 13-185H 25x25 | 150 26
QFHD2525R/L 22-185H 25x25 | 150 26
QFHS2525R/L 30-185H 25x25 | 150 26
QFKD2525R/L 13-60H 25x25 | 150 26
QFKD2525R/L 22-60H 25x25 | 150 26
QFKD2525R/L 13-88H 25x25 | 150 26
QFKD2525R/L 22-88H 25x25 | 150 26
QFKD2525R/L 13-160H 25x25 | 150 26
QFKD2525R/L 22-160H 25x25 | 150 26
QFKS2525R/L 30-160H 25x25 | 150 26
* it BETNHFEWNS k71K, Note:The insert is Zccct brand.

10 48-66 ZTFDO0303-MG
17 48-66 ZTFD0303-MG
10 60-80 ZTFD0303-MG
17 60-80 ZTFD0303-MG
10 74-110 ZTFDO0303-MG
17 74-110 ZTFD0303-MG
10 100-150 | ZTFDO0303-MG
17 100-150 | ZTFDO0303-MG
13 52-72 ZTGD0404-MG
22 52-72 ZTGD0404-MG
13 64-100 ZTGD0404-MG
22 64-100 ZTGD0404-MG
13 90-140 ZTGD0404-MG
22 90-140 ZTGD0404-MG
13 130-230 | ZTGDO0404-MG
22 130-230 | ZTGDO0404-MG
13 58-96 ZTHDO0504-MG
22 58-96 ZTHDO0504-MG
13 86-140 ZTHDO0504-MG
22 86-140 ZTHDO0504-MG
13 130-200 | ZTHDO0504-MG
22 130-200 | ZTHDO0504-MG
13 185-400 | ZTHDO0504-MG
22 185-400 | ZTHDO0504-MG
30 185-400 | ZTHS0504-MG
13 60-100 ZTKD0608-MG
22 60-100 ZTKD0608-MG
13 88-180 ZTKD0608-MG
22 88-180 ZTKD0608-MG
13 160-400 | ZTKD0608-MG

22 160-400 | ZTKD0608-MG
30 160-400 | ZTKS0608-MG

M6 x 20 S5

O 0O O O O o oo oo g o o 00 a0 o/ M2 B DB D D DWW w0 woww

THREKEFBREHE] X 15152 Miwww.hnsant.com



S | INYS

sl sl
FHI7JA | TURNING TOOLS §B \ I URiti %47J8 | TURNING TOOLS
EDMTIIET] Parting and grooving toolholders | P nd grooving toolholders  IHTYIFET]
Hﬁmg“ Emna Surface Grooving and Turning Tools QFOD-RR ' -
(B : ®
| | ;
! ;
' 7
7 K] Dimension{mim) W R #H F ;'i‘_ﬂjllj__.-'_J “ . SR i+
Type Applicable inserts Vet Type Applicable inserts Screw Wrench
il oL B 3 & Wl . ﬁ‘_ﬁax} / ( Al HxB L s w | a (mﬁ—?&ax} y ' (
QFFD2525R/L 10-48L 25x25 150 365 | 3 | 10 | 48-66 ZTFD0303-MG QFFD2525RR10-48H 25x25 | 150 | 26 | 3 | 10 | 48-66 ZTFD0303-MG
QFFD2525R/L 17-48L 25x25‘ 150 | 435 | 3 |17 | 48-66 ZTFD0303-MG QFFD2525RR17-48H 25x25 | 150 26 3 ‘ 17 | 48-66 ZTFD0303-MG
QFFED2525R/L.10-60L 25x25 150 365 | 3 | 10 | 60-80 ZTFDO0303-MG QFFD2525RR10-60H 25x25 | 150 26 3 | 10 | 60-80 ZTFD0303-MG
QFFD2525R/L 17-60L 25x25‘ 1505 435 | 3 |17 | 60-80 ZTFD0303-MG QFFD2525RA17-60H 25x25 | 150 26 3 ‘ 17 | 60-80 ZTFDO303-MG
QFFD2525R/L 10-74L 25x25 150 | '36.5 3 10 74-110 ZTFD0303-MG QFFD2525RR10-74H 25x25 150 26 3 | 10 | 74-110 ZTFD0O303-MG
QFFD2525R/L 17-74L 25x25i 150 . 43.5 3 17 74-110 ZTFD0303-MG QFFD2525RR17-74H 25%25 | 150 26 3 ‘ 17 | 74-110 ZTED0303-MG
QFFD2525R/L 10-100L 25&5. 150. 35 | 3 |10 1(.3.0—150 ZTFD0303-MG QFFD2525RR10-100H 25%25 | 150 26 3 | 10 | 100-150 | ZTED0303-MG
QFFD2525R/L 17-100L 26x25| 150 435 | 3 |17 | 100-150 | ZTFDO303-MG QFFD2525RR17-100H 25x25 | 150 26 3 ‘ 17 | 100-150 | ZTFD0O303-MG
QFGD2525R/L 13-52L 2.5X25. 159 _ 3?-5 fl 1.3 5_2_—72 ZTGP_O"«O‘F-MG QFGD2525RR13-52H 25x25 | 150 26 4 | 13 | 52-72 ZTGD0404-MG
QFGD2525R /L 22-52L st PR T B R ZTGD0404-MG QFGD2525RR 22-52H 25x26 | 150 | 26 4 ‘ 22 | 52-72 ZTGD0404-MG
QFGD2525R/L 13-64L eSxes| 450 (@95 | 4 | B | BN00 | ZTCDRM0EMG QFGD2525RR13-64H 25x25 | 150 | 26 | 4 | 13 | 64-100 | ZTGDO0404-MG
QFGD2525RIL. 22-64L 25x25 150 485 | 4 22 | 64-100 | ZTGDO404-MG QFGD2525RR 22-64H 25x25 | 150 @ 26 | 4 ‘ 22 | 64-100 | ZTGD0404-MG
QFGD2525R/L 13-90L 25x25| 150 | 395 | 4 |13 | 80-140 | ZTGDO404-MG QFGD2525RR13-90H 25x25 | 150 | 26 | 4 | 13 | 90-140 | ZTGDO0404-MG
QFGD2525R/L. 22-90L 25’(25‘ s || g || A= || Sa-tdD || ETGERDE-Ma QFGD2525RR 22-90H 25x25 | 150 26 4 ‘ 22 | 90-140 ZTGD0404-MG
QFGD2525R/L 13-130L 25x25 150 395 | 4 |13 | 180-230 | ZTGD0404-MG .
shoil L 25x25| e e QFGD2525RR13-130H 256x25 | 150 26 4 | 13 | 130-230 | ZTGDO404-MG
e e B e [ e o e M6 x 20 S5 QFGD2525RR22-130H  25x25 | 150 26 4 ‘ 22 | 130-230 | ZTGD0404-MG D &
AEHDISS5RIE 25581, 25x25| e e e e TR QFHD2525RR13-56H 256x25 | 150 26 5 13 | 58-96 ZTHDO0504-MG
QFHD2525R/L 13-86L Dene| M50 Eas | 5 |48 | Shetdn | ZTHOIEDLANE QFHD2525RR 22-58H 25x25 | 150 26 5 ‘ 22 | 58-96 ZTHDO0504-MG
QFHD2525R/L 22861 5 x25| el TS = 2 -~ 7o (R e QFHD2525RR 13-86H 25x25 | 150 26 5 | 13 | 86-140 ZTHDO504-MG
QFHD2525R/L 13-130L o525 | 150 | 395 | 5 | 13 | 130-200 | ZTHDO504-MG QFHD2525RR 22-86H 25x25 | 150 26 5 ‘ 22 | 86-140 ZTHDO0504-MG
QFHD2525R/L 22-130L 25”25] 150 | 485 | 5 |22 | 130-200 | ZTHD0504-MG QFHD2525RR 13-130H 25x25 | 150 26 5 13 | 130-200 | ZTHD0504-MG
QFHD2525R /L. 13-185L 25x25 150 395 | 5 |13 | 185-400 | ZTHDOS04-MG QFHD2525RR 22-130H 25x25 | 150 26 5 ‘ 22 | 130-200 | ZTHDO0504-MG
QFHD2525R/L 22-185L 25x25l 150 | 485 5 20 185-400 | ZTHDO504-MG (QFHD2525RR 13-185H 25x25 150 26 5 13 | 185-400 ZTHDO504-MG
QFHS2525R/L 30-185L 25x25 | 150  56.5 5 | 30 185-400 | ZTHS0504-MG QFHD2525RR 22-185H 26x25 | 150 26 it ‘ 22 | 185-400 | ZTHDO504-MG
QFKD2525R/. 13-60L 25x25! 150 39.5 6 13 60-100 ZTKDOB08-MG QFHS2525RR 30-185H 25x25 | 150 26 5 | 30 | 185-400 | ZTHS0504-MG .
QFKD2525R/L 22-60L 25x25 | 150 485 | 6 |22 | 60-100 | ZTKDOB08-MG QFKD2525RR 13-60H 25x25 | 150 26 6 ‘ 13 | 60-100 ZTKDOG0B-MG
QFKD2525R/L 13-88L 25x25i 150f 395 | 6 |13 | 88-180 | ZTKDO608-MG QFKD2525RR22-60H 25x25 | 150 26 6 | 22 | 60-100 ZTKD0608-MG
QFKD2525R/L 22-88L 25x25| 150 | 485 6 |22 | 88-180 ZTKD0608-MG QFKD2525RR 13-88H 25x25 | 150 26 6 ‘ 13 | 88-180 ZTKD0608-MG
QFKD2525R/L 13-160L 25x25| 150 | 395 | 6 |13 | 160-400 | ZTKDO608-MG QFKD2525RR 22-88H 25x25 | 150 | 26 6 | 22 | 88-180 | ZTKDOB08-MG
QFKD2525R/L 22-160L 25x25| 150 | 485 | 6 |22 | 160-400 | ZTKD0B08-MG QFKD2525RR 13-160H 25x25 | 150 | 26 | 6 | 13 | 160-400 | ZTKDOG08-MG
QFKS2525R/L 30-160L 25x25| 150 565 | 6 | 30 | 160-400 | ZTKS0608_MG QFKD2525RR 22-160H 25x25 | 150 = 26 | 6 | 22 | 160-400 | ZTKDO0608-MG
QFKS2525RR 30-160H 25x25 | 150 26 6 | 30 | 160-400 | ZTKS0608-MG

THREGEFHLSER X

P S B M s www. hnsant.com

HMEGEFHRBENA R FEESEEMEvww hnsant.com

& | SANT



ZFHJ7JB | TURNING TOOLS §AHI §AUI ZHI7JE | TURNING TOOLS

= =
QFOD-LL
W. I
S a @ B ]
- | hﬁ a
L
ar
A |\
= f
H H s Bl o b
1 f .
=
Type A R4 Dimension(mm) Appl]i\léfl?)ljg }iiserts Smf’gv ‘jl%ei
RE 2D 5 .
- HxB L S WA (minMax) f ( ‘/ Dimension(mm) %4 Ap?;%bﬁlg gﬁrts SE%%N
QFFD2525LL10-48H 25x25 | 150 | 26 | 3 | 10| 48-66 ZTFD0303-MG
QFFD2525LL17-48H 25x25 | 150 | 26 | 3 | 17 | 48-66 ZTFD0303-MG Q
QFFD2525LL10-60H 25x25 | 150 | 26 | 3 | 10 | 60-80 ZTFD0303-MG B
QFFD2525LL17-60H 25x25 | 150 | 26 | 3 | 17 | 60-80 ZTFD0303-MG 1616R03 16 | 16 | 100 | 164 3 | 16 | ZQMX3N11-IE
QFFD2525LL10-74H 25x25 | 150 | 26 | 3 | 10| 74-110 | ZTFD0303-MG 1616R04 16| 16 | 100 164 4 | 18 | ZQMX4NTI-IE Msx17 S
QFFD2525LL17-74H 25x25 | 150 | 26 | 3 | 17| 74-110 | ZTFD0303-MG 2020R03 20 | 20 | 125|204| 3 | 20 | ZQMX3N11-IE
QFFD2525LL10-100H 25x25 | 150 | 26 | 3 | 10 | 100-150 | ZTFDO303-MG 2020R04 50 | 20 | 125|20.4| 4 | 20 | zaQMXaN11-IE
QFFD2525LL17-100H 25x25 | 150 | 26 | 3 | 17| 100-150 | ZTFD0303-MG 2525R03 25 | 25 | 150 |25.4| 3 | 20 | ZQMX3N11-IE 620 .
QFGD2525LL13-52H 25x25 | 150 | 26 | 4 | 13 | 52-72 ZTGD0404-MG 2525R04 55 | 25 | 150|25.4| 4 | 20 | ZQMX4N11-IE
QFGD2525LL 22-52H 25x25 | 150 | 26 | 4 | 22| 52-72 ZTGD0404-MG el coro 55 | 25 | 150|25.4| 5 | 25 | ZQMX5N11-IE
QFGD2525LL13-64H 25x25 | 150 | 26 | 4 | 13| 64-100 | ZTGDO0404-MG 2525R06 25 | 25 | 150 |257| 6 | 32 | ZQMXBN11-IE
QFGD2525LL 22-64H 25x25 | 150 | 26 | 4 | 22| 64-100 | ZTGD0404-MG 3225R03 s | 25 |170|254| 3 | 25 | ZQMX3N11-IE
QFGD2525LL13-90H 25x25 | 150 | 26 | 4 | 13| 90-140 | ZTGDO0404-MG 3225R04 82 | 25| 170|254] 4 | 25 | ZOMXANMI-IE | S5
QFGD2525LL 22-90H 25x25 | 150 | 26 | 4 | 22| 90-140 | ZTGDO0404-MG 3225R05 3 | 25 |170|254| 5 | 25 | ZQMX5N11-IE
QFGD2525L113-130H 25x25 | 150 | 26 | 4 | 13| 130-230 | ZTGDO404-MG | | S225R06 | | 32 | 25| 1701257] 6 | 82 | ZQMXGNT1-IE | | .
QFGD2525LL22-130H 26x25 | 150 | 26 | 4 | 22| 130-230 | ZTGDO4O4-MG | . . 1616L03 16 | 16 [ 100 [16.4| 3 | 16 | ZQMX3N11-IE M5x17 <
QFHD2525LL13-58H 25x25 | 150 26 5 | 13| 58-96 ZTHDO0504-MG 1616L04 16 | 16 | 100 | 16.4| 4 | 16 | ZQMX4N11-IE
QFHD2525LL 22-58H 25x25 | 150 26 5 | 22 | 58-96 ZTHDO0504-MG 2020L03 20 | 20 | 1256/20.4) 3 | 20 | ZQMX3N11-IE
QFHD2525LL 13-86H 25x25 | 150 | 26 5| 13| 86-140 | ZTHDO0504-MG 2020L04 20 | 20 | 125]204] 4 | 20 | ZQMX4N11-IE
QFHD2525LL 22-86H 25x25 | 150 | 26 | 5 | 22| 86-140 | ZTHDO0504-MG 2525L03 25 | 25 | 150|254] 3 | 20 | ZQMX3N11-IE M6x20 S5
QFHD2525LL13-130H 25x25 | 150 | 26 | 5 | 13| 130-200 | ZTHDO0504-MG G —=25m0t 25 | 25 | 1502541 4 | 20 | ZQMX4N11-IE
QFHD2525LL22-130H 25x25 | 150 | 26 | 5 | 22| 130-200 | ZTHDO0504-MG 2525L05 25 | 25| 150 254] 5 | 25 | ZQMXSN11-IE
QFHD2525LL13-185H 25x25 | 150 | 26 | 5 | 13| 185-400 | ZTHD0504-MG 2525L.06 25 | 25| 1501257) 6 | 32 | ZQMXeN11-IE
QFHD2525LL22-185H 25x25 | 150 | 26 | 5 | 22 | 185-400 | ZTHD0504-MG 8225103 32 | 25170254 3 | 25 | ZQMX3N11-IE
QFHS2525LL30-185H 25x25 | 150 | 26 | 5 | 30 | 185-400 | ZTHS0504-MG Lo 82 | 25 | 17012541 4 | 25 | ZQMXANTI-IE |\ 0 o) S5
QFKD2525LL 13-60H 25x25 | 150 | 26 | 6 | 13 | 60-100 | ZTKDO608-MG e 82 | 25 | 170 1254] 5 | 25 | ZQMXSN11-IE
QFKD2525LL22-60H 25x25 | 150 | 26 | 6 | 22 | 60-100 | ZTKDOB0SB-MG 2250 32 | 25 | 170 257] 6 | 32 | ZOMXGN11IE
QFKD2525LL13-88H 25x25 | 150 | 26 | 6 | 13| 88-180 | ZTKD0608-MG
QFKD2525LL 22-88H 25x25 | 150 | 26 | 6 | 22 | 88-180 | ZTKDOBOS8-MG
QFKD2525LL 13-160H 25x25 | 150 | 26 | 6 | 13| 160-400 | ZTKDO0608-MG
QFKD2525LL 22-160H 25x25 | 150 | 26 | 6 | 22 | 160-400 | ZTKD0B608-MG
QFKS2525LL 30-160H 25x25 | 150 | 26 | 6 | 30 | 160-400 | ZTKS0608-MG

THREKERFBEREHE] X #1555 MBwww.hnsant.com THREKEFBREHE] X 15152 Miwww.hnsant.com



ZHI7JE | TURNING TOOLS

LIMTEI#ET] Parting and grooving tﬁolhﬁmeri .

SHEIERRY TR

External Parting Blade

18

SPB  326-S 26 2.4 110
426-S 26 32 | 110
526-S 26 40 | 110
626-S 26 5.2 110
332-S 3 24 | 150
432-8 32 32 150
532-8 3 40 | 150
632-S 32 52 150

21.6
21.6
21.6
21.6
25
25
25
25

ZOMX3N11-1E
ZOMX4NT1-1E
ZOMXS5N11-1E
ZOMXBN11-1E
ZOMX3N11-1E
ZOMX4NT1-1E
ZOMX5N11-1E
ZOMXBN11-1E

SPBEF NI EEMESANTE L L FPHSE I JIEE SPB parting blade is matehing with PHS parting blade holder from SANT.

QEL]S

@D

Type
L2
H h
QEES26N 110 26 19
QEFS26N 1o 26 19
QEGS26N 110 26 19
QEHS26N 110 26 19
QEKS26N 110 26 19
QEES32N 150 32 24.6
QEFS32N 150 32 246
QEGS32N 150 32 24.6
QEHS32N 150 32 24.6
QEKS32N 150 32 24.6

2.4

32
4
5

@ ;B oW

120
120

ZPES02502-MG |

ZPFS0302-MG
ZPGS0402-MG
ZPHS0503-MG
ZPKS0604-MG
ZPES02502-MG
ZPFS0302-MG
ZPGES0402-MG
ZPHS0503-MG
ZPKS0604-MG

Qss
Qss
Qss
Qss
Qss
Qss
Qss
Qss
Qss
Qss

QE[ISEF NHEEFESANTEZ E LA FTIQZSEF 71 QELIS parting blade is matching with QZS parting blade holder from SANT.

THEEAEGHABYRE X FiEiHSEMEwww hnsant.com

REVEREMTIA]

REY

ZEH|7JE | TURNING TOOLS

L nd grooving toolholders  JEFTIIET]

Internal Grooving and Turning Tools

BRI BREL

Applicable inserts Screw Wrench
L | s | w (e e v
C20Q-QEDRIL 05-27 20 180 15.2 25 5 27 | Maxa &3
C25R-QEDRIL 07-33 25 200 20.3 25 7 gy || ZTED=ssxe—wx]
C32S-QEDR/L 09-42 32 | 250 | 253 | 25 | 9 42 | ZREDsesss—ns| MBXNT 4
C20Q-QFDRIL 05-27 20 180 15.2 3 5 27 —— | Max14 s3
C25R-QFDRIL 07-33 25 200 20.3 3 7 33 '
C32S-QFDRIL 09-42 32 | 250 | 253 | 3 9 | 42 | ZRFDsees-xx | MOXVT M
C25R-QGDR/L 08-35 25 200 215 4 8 35 ZTGDwkss-54 | MEXT7 S4
C325-QGDR/L 11-44 32 250 27.5 4 11 44
C40T-QGDRIL 13-54 40 | 300 | 335 4 13 | 54 | ZRODwosnen| MEXZ0 o
C25R-QHDRIL 08-35 25 200 215 5 8 35 | FrDeseamss | MEX17 sS4
_ : |
C32S-QHDRIL 11-44 32 250 27.5 5 11 44 . i -
C40T-QHDRIL 13-54 40 300 335 5 13 T <PriDreve—er |
C25R-QKDR/L 08-35 25 200 215 6 8 35 | ZTKDwwex—ws | MEx17 54
C32S-QKDR/L 11-44 32 250 27,5 6 11 44
C40T-QKDRIL 13-54 40 300 335 6 13 g || | MEeED =
C50T-QKDR/L13-64 50 300 381 6 14 64

HMEGEFHRBENA R FEESEEMEvww hnsant.com




ZHIJ7JE | TURNING TOOLS

LI 7] Parting and grooving toolholc

REVERERTIR]

Internal Grooving and Turning Tools

REY
A
—~— ) ¥
- U‘ N
S ] { € ) \,_\LV J
4 fiar N
W — L PD

Vibss

Inserts

B o= 7 A

# F
Wrench

d L | s | w |Rox / G 'l
2016-1.5 16 180 | 113 | 15| 3 MGMN150-M M4 x 14 S3
2520-1.5 20 180 | 13.1 15 | 4 MGMN150-M M5 x 17 S4
2925-1.5 25 200 | 162 | 15 | 4 MGMN150-M M5 x 17 S4
2016-2 16 125 | 124 | 2 3 MGMN200-M M4 x 14 33
2520-2 20 125 14 2 5 MGMN200-M M5 x 17 S4
2925-2 25 200 | 172 | 2 5 MGMN200-M M5 x 17 S4
2016-2.5 16 125 | 125 | 25 | 6 MGMN250-M M4 x 14 S3
2520-2.5 20 180 | 151 | 25 | 6 MGMN250-M M5 x 17 sS4
2925-2.5 25 200 | 182 | 25| 6 MGMN250-M M5 x 17 sS4
2520-3 20 180 | 156 | 3 6 MGMN300-M M5 x 17 s4
3125-3 25 200 18.9 3 5 MGMN300-M M5 x 17 s4
3732-3 32 250 | 215 | 3 6 MGMN300-M M5 x 20 s4
2520-4 20 180 | 156 | 4 6 MGMN400-M M5 x 17 s4
3125-4 25 200 | 189 | 4 6 MGMN400-M M5 x 17 sS4
3732-4 32 250 | 215 | 4 6 MGMN400-M M5 x 20 34
3125-5 25 200 | 191 | 5 8 MGMN500-M
3732-5 32 250 | 215 | 5 8 MGMN500-M
3125-6 25 200 | 19.4 | 6 8 MGMNB00-M
3732-6 32 250 | 215 | 6 8 MGMNG00-M
3732-8 32 250 | 232 | 8 | 10 | MGMN80O-M M6 x 20 S5
4540-8 40 30 | 272 | 8 10 | MGMN800-M
3125-6A o5 200 | 19.4 | 6 8 MGMN600-M
3732-6A 32 250 | 215 | 6 MGMNB600-M
3732-8A 32 250 | 234 | 8 10 | MGMN800-M
4540-8A 40 300 | 272 | 8 10 | MGMN800-M

L SIS 3711 TN JCJH‘E\ E@J\ i I o (ﬁﬂﬁ%ﬁ/ﬁﬁ(ﬂﬁ) Note:The insert is Korloy brand.

Parting, grooving, turning, profiling inserts are adaptable to the tools.

THREKERFBEREHE] X #1555 MBwww.hnsant.com

B = 71 A

ZHIJJE | TURNING TOOLS

g and grooving toolholders  HIRfiIIE]]

BFIrNEERTIIRMNTIEE  Parting Blade Holders

i
“m
|

h:

\ L BB\J

Type FEA ) Dimension(mm) ﬁa%,tﬁ

i)

" T
Wrench

PHS2026
PHS2526

PHS3226
PHS2032
PHS2532
PHS3232
71 EEFFSPB#%JI#R This parting blade holder is for SPB parting blades.

HEFA7NANIREE

THREKEFBREHE] X 15152 Miwww.hnsant.com




AR T B—IER

INDEXABLE MILLING TOOLS OVER CIEW

QIE3 Ve A2 VR = CLEF W

INDEXABLE MILLING TOOLS CODE KEY

B (7EhHEIT] Ras RN

INDEXABLE MILLING TOOLS CODE KEY

AIR(IBtHITI R RS

INDEXABLE MILING TOOLS

EYAEY])

FACE MILLING TOOLS

bl k=1 VAEY ]l

S QUARE-SHOULDER MILLING TOOLS

UiliZ AR ]

PROFILE MILLING TOOLS

=E7IIZRS

SIDE AND FACE MILLING TOOLS

= YAES])

CHAMFER MILLING TOOLS

Rk etT] (Kigts ) K7

HIGH FEED MILLING CUTTER

) nAves VAEY )

HELICAL END FACE MILLING TOOLS

571/ FRREET]

END MILL/FACE MILL

AL E AT

INDEXABLE U DRILL

H=x()

CONTENTS
RITIR wwer

P96~P100

P101~P102

P103~P104

P105~P148

P149~P167

P168~P174

P175~P181

P182~P184

P185~P191

P192~P193

P194~P198

P199~P215

H &= 1 R

Category Shape f BE Feature

Category

GEHITIR |

‘Indexable milling tools B4 UEHITIE

Shape

MILLING TOOLS

Feature

2 51 24k HRE 1
Kuids' AFC1 KRG, WHIEH
NEEREE, BA-
RAEk, RERER
=

FMAO1

&

B
105 T SE[JT12T3 (Zccot)

Kr:i45° AF03
ElXEE, EHER

O # BEEAS NS, R
(%7 .
— k-

SECIN 1203 ( Zeect )
LR [orlil SECIN 1504 | Zccct )

Kr:45° AFO04
STIOKFAIIE EH
EE, EHNREGEM
FMAO4 | (gaElia3

£% . OFKRO7 | Zeect )
Ri09 ™

Kr:45° AF06
16T RBMIN, 2FHE

* SEF b B A H B
FMAO7 i
ONCICI 06040100 { Zocet )
ONCICI 08T5CI ( Zecet )
Bim112m®
|\ Kr:45° AFO08
= BIGRMIS, EFlE
7 ’ RESFUTHIB TN, B
s
SNEX 1206ANN [ 238 )
W114 T
Kr:45° AF10
s il 10NRANE, BLH
MEREBAE RIS, A
MR, EES
£, o
R 116 & PNMU 1205ANER | 73 )
Kr:55° DFO1
12 RmINE, S&F
. BREREE, 287
FMD02 | g

£, I
W118 T HNEX08905 [ Zccct )

Kr:60° DFO2
WERE, EIHIA

SR, AUIER M
FMDO03 | I, #k@Es

2%
i1 @ LNKT 2510 ( Zecet )
Kr:75° EFO1
TERNFEEEERT
EERThEIY R

FMED1 HHE@EMLT

@

ﬁfﬁaa 534 | Zeeet )
i CCC’
124

THRAKEFHELSHE] F $HFEEMEVww.hnsant.com

%5l

S $HE

AR

Kr:45° AFO02

106 51
Kr:45° AFO04

@

108 |

Kr:45° AFO05

o

M1om

Kr:45° AFO7

mii3m

Kr:45° AF09

W 115%
Kr:45° AF11

R

B17m

Kr:67° DFO1

M119-120 7

Kr:65° DFO03

"

M 122-123W

Kr:75° EF02

M1i2s5 |

ZES

FMAD2

FMAD4

HHIE

KEIFBT, IHIEER
TNREESE, A
eigigit, B EEAN

FE.

SE[JT 1273 (Zceot)
871 Q&R 7] 5 884T
EE, BESERT
=

&%
OFKT 0573 ( Zcect)

8VOLFET R IRITE
R, BESERNZ

%
ODLIC] 0605 | TR )

BE R L%
RNk, NORE

HeZIOS&FREN

8%
SN[IN 1204 { Zecet )

FMDO2

FMEO4

8MmmMN L, itk
RERF 2] O i 7 2

gﬁﬁix 1205XTN (#5E= )

8MBimIN N, Bk
BELFEIAIRE Sy, $ER

?ﬁﬁiu 1305 | 8 )

1W0NaANE, BEF
HEEERERAE, B
W, BER

B
PNEG 110512R | Zecet )

BTN, SiFtE
BESFENHI T, PRI/
e R iR

.
R365-1505ZNE | WifF )

WIER A, EYIHEIA
IENA, XUEHR
T, deskige

&%
LNKT 1506 ( Zceot )



#HI7JE | MILLING TOOLS §AHI §AHI #:HI7JE | MILLING TOOLS

AIEAUEHITIR Indexable milling tc xable milling tools FI4&{UEEHITIE

Category Shape X jiz Feature Category Shape Xt Bz Feature Category Shape i [z Feature Category Shape X [z Feature
e b2 7N ZES ¥FE ]| 27N ZES FFE ]| 27N ZES ¥FE 3 b2 TN ZES FFE
Kr:75° EFO03 " Kr:75° EFO04 Kr:90° PEO1 Kr:90° PEO1
'.éﬁ-ﬁ G el EREMET AL, BT, s BT, =4
" 52 s FMEO2 | &R , EMPo1 | 7+ WIHIEZN EMpPo2| 7+ WHIEAM
J B%. %! S%. B%.
SPKN 1504 ( Zccct ) SPK[J 1204 ( Zcect) APKT 11T3[1[] ( Zcceet) APKT 11T3[1[] ( Zccet)
1265 SPKN 1203 ( Zooot ) 1277 1495 APKT 16040107 ( Zcect) 1505 APKT 16040101 ( Zccet )
Kr:75° EFO06 EEIR A, KRR Kr:75° EFO7 Kr:90° PEO2 Kr:90° PEO2
2 7 T i P b B gﬁﬁ?’ﬁ’ e Edie, HBE i, HEFEEL
o B AN, iR > EMPO4| BEREM, MIKES Vo A EMPO3
: 2% = 5%, L %,
SPMT 1806 EDER ( 21 ) SNMX 1205XTN (#5352 ) APKT 117300 ( Zeect ) APKT 11T300J ( Zecct )
1293 L1307 1513 15271
Kr:90° PFO1 Kr:90° PFO02 B, B, BEEEit, Kr:90° PEO3 Kr:90° PEO4
SRR, EETH G bt Bt 1S 703 e ) ’
i B, EATE, LB ;El%‘;lllxliqlm, N=E:31 7O 158, BIH
g;; FMPO02 AT EMPO5 EMPO0O8| BA/M, fMAKS
: . 8%, .
TPKN 2204 (Zccot ) f;'mgmogpm — APMT 113504PDER ( Zcoct ) ?baé'msm ( FHTFRT)
1315 132-1347 SEET 120308PER ( Zcoot ) R1535 GO IEBAERIFRIER (| et R1545
Kr:90° PFO03 B " Kr:90° PFO04 s :90° :90°
Sk YA o w, &, BEEgit, Kr:90° PEOS T, =4 Kr:90° PEOS kT, =dei
I, g% —~ AR AR 7, DA, fo a 7, MR,
FMPO3 ! 2, EATHE, B0
o - % i BE 158 % EMPO09| HHESIE
LNKT 1506EN-ZR ( il ) P B B 170spen (45 B3 ) B i
LNKT 2007DN-ZR ( %) 0— S
HA135-1367 LNKT 2510-ZR ( %% ) RA375T et L ALY a 15551 & 15671 GRS R
Kr:90° PFO05 T, Kr:90° PFO06 U1y Kr:90° PEO06 BRI T, 2 1y Kr:90° PE06 KT, PR GRRIRE
& S M S Sk & AMBTIK, BFES % BORERE, IHIES o MEIRT)Z), RENLEE, V)
(f-ﬁ:, ’ %‘E EMPO4 Keifigit, KIEIA 7] 1§, BIFH00° , EF 7 ﬁuﬂﬁjﬂo&y Eﬂ90 , EATHE
o, B, EEES FHmT fnITo0° , EAFHMI
7] TNGX 2207PNTN ( 45E %= ) 7] SOM:T12T308PEER (=) : A%I\/I%'I':QSSDDPEER (ExR)
1907 R199m - mism Risom
Kr:90° PFO7 Kr:90° PFO08 Kr:90° PEO7 Kr:90° PEOS8 =4 : =
; rre o . i : SHMLRTT, 15
TR, B MMTETS, R, THEEE NkEE, WEES
fesda i B, PHER, TRE / AmT ; £, RIFMO0° , B
EX, PIHIEE g 5% FHmT
XDM:T120408PDER (%) : CLI OO (67 onr
LNMX170808 PNSR APMT 1605PDER ADMT 080304R ( EL/R4%F )
1405 (%) 01597 ° i 1605 ADMT 120408R ( B /R4 )
Kr:90° PFO09 - . IR B EIEI 7] O 42 4T IR Kr:90° PEOS8 YR, 1R Kr:90° PEO9 —
- CIRMAS, BifitE FMROT| s 5o sz st o7 ENAEE. DIHIE SHBMERTT, TH)
nsz:ﬂ I:lﬁfh-"..r:—?ﬁjcﬁu ( 714F) ’ HiR, BEFH AR, REFH
g, TIHIER 5% 90° , EBAFHEMI 90° , EAFHEMT
8% FMRO2 RCKT 10T3MO-DR ( Zccct ) .
: RCKT 1204MO-DR ( Zccct ) ] = %
XNEX 0806 ( L7 ) (738 )| ROKT 1606MO_DR ( Zooot) ADMT 504080 I%éﬁi R390-11T30I0] (i)
1427 W143-1447 RCKT 2006MO-DR ( Zccot ) 1617 ADMT 160608R ( /R4 ) 1625 = SR
Kr:R RF02 S8 7 3 H v oy . :190° = 7 :90°
r I TEEEEE’&JJ#UJ]EQ;%TE Kr:R  RF03 NI, NI Kr:90° PE09 SEEERYT, B Kr:90° PE10
(7147 ) 5% 3 D 8] A 2 T A OF = N, R, BT HIFA AR, RIFH HREHF
y RDKW 0803MO ( Zocet ) FMR04 ;g;ﬁﬁpﬁ@ 9;;' ERTHmL IR
| '(:'\JAJF?ﬁ?‘; Egﬁwlggméo(“xgc(t)z%ct) RPMT/W 1204 (=% ) R390-11T300 (W) : B s
RDKW 1605MO ( Zccot ) RPMT1606 (=3 ) R390-1704010] (% ) BDMT110300 (5% )
R145-1461 RDKW 2006MO ( Zccct ) R14757 1637 1641 BOMTI704010) (3% )
Kr:R RF04
. iR 7 & T IRET E
%, BBEE
5%
QPMT 1204MO ( % )

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com

& | SANT



HHEI7IB

MILLING TOOLS

AI(UEEHITIR Indexable milling tools

Az Ipal=

MILLING TOOLS

Indexable milling tools BI#E{7EkHEITIE

Category Shape 3o 57 Category Shape Xt 7 Feature Category Shape %o [z Feature Category Shape Feature
#*31 Foqk 2R 50 27N Z8S ¥FE ] b TN 2R ¥FE ]| 27N FFE
sl Kr:90° PE10 EREYT Kr:90° PE11 Kr:45° ACO1 Kr:60° DCO1
- BEREYR, K& |
;E R IEI A o {EDTE5iE BT g MNEEERA, LEA, 1;} NEEERA, LEA,
N : . u
i — i CMAO1| M CMDO1| gkl
A BDMT 11T3LJCIER (F%& ) bl P 5t 5% i 2%
BDMT 17040000ER (3% ) B APKT 100304PDER ( &£ ) 7] = SPMT 120408 ( Zccct) 7] SPMT 120408 ( Zccct)
% 1655 & 16671 1823
i Kr:90° PE12 Kr:30° 2ZCO1 1
Bt MBBIK, B
7 : BEEF, UM NEEES, AEA, 8% HHEAER,
o CMZO1| ki %7 B,
LNCIX151008PNR ( 323% 47 ) 2 S§P%M:T120408(Z t) &
- CCC
R167 1847 # 0194-198F
Category Shape Xt 7 Feature Category Shape i K Feature Ca}t'egory Srlape Xt B Fea}ure Ca}t’egory Sh/ape Xt B Feature
%31 ik zmES HHE %5 Bk zmE HHE 23] MR EHS HHE 231 MR ZES
r:R . r: XKo1 5 ZEYY Kr:x XKo1 BN RZEYIE A
R  RBOf R — Kr:R  RBO2 . _ x BEABEEIES, :
I”gﬁﬁigi% S EEIIL, KHAYIE, BT EG KA, ATE%
7. BFEE ; R=8B50ME, XMRo1| MI. REEE, #E YMRo1| MI. REER, #E
BMRO1 ' BMRO3| MHES, HiRkF T TE
#3%. ZDET 08T2 ( Zccct) s 8%:8 ( ) Son
ZDET 1103 ( Zcccet) . : : SDMT 09T3 ( Zceet SDMT 09T3-DM ( Zccot )
1685 Sien ((gggg:; 169FT X(PZgIcﬁ/zo/zs/so/astos M185FT SDMT 1204 (Zccot) W186T SDMT 1204 ( Zooot)
r'R ;) . Kr:x XKo02 ARSEEEYE A, Kr:x XKO02 ABRSBEEYIEN,
ﬁ; r:R RBO2 AEANHEMT, % A Kr:R RBO2 EAEANEMT, X jc ii&éﬁtﬂ{ﬁu, AT jC AteEyIHEl, BT
e A= 8 RHH, Gk FI= 4 8 M, i mI, REEE, EE i LI SR 5 EE
- / BMRO3| IMHMER, Himes 7 BMRO3| SLME®, iRt & XMROT| Tg - XMROY ma
Bx. 16/20/25/30/32R803 B # . % WPGT 060415ZSR ( Zccct )
XPHT 16/20/25/30/32R803 WPGT 080615ZSR ( Zccot )
= (Zecet) WATR ( Zocot) 7] 0187-188F WPGT 05/06/08/09 ( Zccct ) 7] M189TT WPGT09072523R(2223)
Kr:x XKO03 Kr:x XKO03
r:R RBO3 Kr:R RB04 2 s "
NERKES, BT AEIRLit, TAIEN eTMBEIIE, B eTMBBIIH, EFH
BINT, REBEE, h, Wﬁ"mﬁgﬁ' B # He 57
EER :
Sotix1203/1604/2005 ZNVIT 1804100-C (%) (L BT =L Vg o onn-m
B172-1735 12506/3007/3207 ( Zcoct) 17470 i ) R190F
Category Shape it Bz Feature Category Shape Feature
Ca}t'eugory Shlape XF 57 Feature C:?t'egory Shape Xif Nz Feature % 5 Ttk %-ji{;? W 4E #5 ik 45 4E
2 5 2N ERE YFE ]| 2N 2SS FFE
Kr:90° PHO1 Kr:90° PHO1
r:R PTO1 r:R PTO1 14 Eh, mhEE, K 14 B, mpEHEE, K
Ti*ﬁ?jﬂi, PIHIBE F1 *fmlfﬁjﬂﬁ, LIHIBE A1 iE PR, SEEAMINS i / YR, SEEmIHNS
PAAY VAN Iy b
hva HMPO1| X% hva HMPO1| 3%
y TMPOT| o SMPO3| s, % ik Ht ) A
MPHT 060304-DM ( Zcect ) = MPHT 060304-DM ( Zcect ) APKT 150412 ( Zccct) - APKT 150412 ( Zccot )
MPHT 080305-DM ( Zccct ) — MPHT 080305-DM ( Zcecet ) 7] 01925 SPMT 120408 ( Zccct ) 7] 1935 SPMT 120408 ( Zccet )
R1755 MPHT 120408-DM ( Zccct ) H MPHT 120408-DM ( Zcect)
— Kr:90° PTO1 7] Kr:90° PTO2 Feature Category Feature
= _ HmE NE, MIEIES #t YIKISER), MM, 45 1E %5 5 1E
H N 7] 47), ZFMHEEF UD25/UD35
7 SMPos 35!;%060304—DM(2000H Q SMPoT 8% _'é’_ MHEES, B pzo _'é‘_ AHEES, EREME
% MPHT 080305-DM ( Zccct ) XSEQ 1202/1203 ( Zcccet ) %, WEEF, HBEIR %, MEEH, HEIR
7] RI77R MPHT 120408-DM ( Zccet) R178-1797 TR T A w W, RENRERE, ¥ * , RIFNRERE, 1)
Kr:90° PTO2 HIL IR RSN, $hFLIE B2 BN, SHELIE
r- o RO D
T o Mat12om | ERREREELR, % R20sz0sz | EMEEREELR,
470, G s |upao BRERS, EE0RE, X s |UD40/UD50 BRERS, EENRE, X
SMPOT| - . ZEH, HENG, RIFHE ZEH, HENG, RIFHE
XSEQ 1202/1203 ( Zccct ) ERE, YHSEREDN, RRE, VHIERERESN,
1801817 /12T3/1204/12T4 ( Zccet ) * SABEMEEREER. * SABEEMEEREER.
A
R205-206F SPGT 050204/060204/07T308 R207-210% SPGT 050204/060204/07T308
/090408/110408/140512 /090408/110408/140512

B ™ #www.hnsant.com

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

TREGEFELABER R #HEE




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

* B[R EEHI T) R R SRR

#H = 71 A

R PE-ES| YIHI 7] K B (mm)
Lead Angle Type Of Tools Cutting Edge Length
EeET] TIA Insert 7] A TR Shape of blade
A ° F F illing tool NERER
45 acemiing oo Incircle diameter c D R S T L
HFEEMHEN
D 60° E Shoﬁdlzr milling tool 5.556 - = —  — 09| —
. 259 B Eﬁ#ﬁﬂng ool 635 06 07 — — 11 —
9.525 09 11 09 09 16 | —
T TEslot milling tool T
P 900 12.700 12 15 12 12 22
K KRGt 7] )
High feed milling cutter
z 300 15.875 16 19 15 15 27  —
c  EmmT
Chamfer milling tool 19.050 19 o 19 19 33 o
R El# . i
H BERESTET] -
Helical end face milling tool 25.400 25 — 25 25 44 25
X bLkz
Special
LRSS
Number Of Type
%iﬁ?’:‘i*ﬂ Shell Structure
922,27 ©27,32,40
A 2 B |
gixl) 33 22 I Eid] !
= 37| . = '
EE3 : e & [ 50
| ! 63 | ;
A ! B !
Type Of 1.13.5 Type Of |
Adapter| 218,20 Adapter| !
©50,63,80 ©38,45,56 |
! | ©100,125,160 |
GB5342-96#1 &£ H1D50-080 EXEHE T GB5342-96#1 E HID100-@160 EXEHET]
GB5342-960f@50-@80shell Facmilling Cutter GB5342-960f@100-2160shell Facmilling Cutter
) 101.6 177.8 ,
C | 260 D 101.6
& 7 : ; 2 T
% i | ! #® 7R ! 7B
| i | ! 63 A 32 ! ! ! L ! 70
. . | £ % 0 T (AT ] | /I 80
Type O ‘Z—;% ! Type Of | 222]| |18 !
Adapter Adapter| i T =
200,250 -

GB5342-961 £ #19200-@250

EXEHT

GB5342-9631 EHID3 15K L L&Y

EXEHT

MERF. BN, EXEREEEFTRSHATAREIBITARER side-locked Shank. Straight Shank, Morse Taper Shank

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

#H o= 7 A

T A RFEM L wTm)

Tool Installation Position

A AEED W piEst
Atype of adapter Side-locked
g BEEO [ WHL
B type of adapter Replaceable Head
CE#O =R
c C type of adapter MT Morse
DEEN H#e=X
D D type of adapter BT Tap:;r
Z - J =25
Straight shank Spline

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

?

T/NIHMSERE 9D

Diameter

THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com

YIEIBE R & LE  BEHRE) EHRIK|
Cutting Direction Right Left Face Milling Tool
=
s short
TEKE M kR BT
Tool Length Measure Standard Cutter Arbor
L PIIES
lengthening
BREE ZEAHT
) Side And Face
Groove Width H1i2 Milling Tool
BRMT IR 31 55: 7)
The deepest machining 104 m“ﬁ;‘ _ﬁ)’m Face

TS B REsI ) )

Tooth




#HIJ7J& | MILLING TOOLS §AMI §AUI #HI7JE | MILLING TOOLS

AIEAUHHEITIR Indexable milling tools Indexable milling tools AJ3&{UsEHITIE

3 PN .
* ﬂiﬁﬁﬁﬁﬁ“ﬂﬁ'nﬂgmm Mil TIB Rtk EEIETIA
*L( :l fT 7 KESUIH
mgEss | C | D/ R | S | T VvV W bk 2
AT AR (mm) < HEEE
TR | o2 = L E
&S| A% | ARWESE | IANE | RS A% | AREES | ANE Q — Q E‘ A& 9» s 71 B (mm)
. . N > 65" 3.97 06 % 079
N RN AR NI IR e ¢ D B w—" . " os0
5
A 8 ¢ >65° 556 09 e 198
H| 5 BE R| =% B @ 60 06 02 238
< = 6.35 06 07 11 11 ™ 558
N .
D E H 80 08 03 3.18
c| = x Eﬁ’ Fl % R C:' 9.525 09 1 09 | o9 16 | 16 | 06 3 307
555° / > 65° 10.0 10 04 476
K L mi Y] F R @ Al # x W17 120 12 T4 4.96
e 12.7 12 15 12 12 2 | 22 08 P 556
<
15.875 16 15 15 27 Ts 505
O Q O w i x M gl #E ﬂ:D 16.0 19 16 06 6.35
0 P R <65° 19.05 19 19 19 33 Te 6.75
T £l BE G £l WE @ 20.0 20 07 7.94
/\ < s 25.0 25 | 25 | 25 09 9.52
s T v Q . — X | 254 25 25 T9 9.72
= o 31.75 31 1 1.1
s <65 32 32 12 12.70
u| s WE
w z @ YIRNKE B
RS EEEREERX

BE00  (BEEED

KRs| BRE) KsS| BRE) m 3
m
Q A ' 18377 H41 7114 (mm) RS
A B s 25
= I — ‘ . A
re TNREEM | BEEOD1| EESt | (5% ) MEREEEMER (R, X/Nh5) F / 7
A(mm) [ A(mm) [AEO0) ¢ 5485002 (mm) Kr| an K
)
A +0.005 +0.025 30025 [ oo oo enl T |sosn ssER) o5ER| B A 450 A ” 0-5 0-0.10
c = D \ — F| 0005 0013 | 0.025 | 6.35 | +0.08 | 0.08 | +0.08 | +0.11 | +0.16 | — . s 110° 1015 e YRl
—l 7 - -U.
c £0.013 40,025 10025 | 9525 | 0.08 | +0.08 | +0.08 | 0.1 | 0.16 | - D 60 B <> R &
127 | $0.13 | $0.13 | $0.13 | 2015 | - E 75° c 7° E 2.15° 2:0.20 P
H +0.013 $0.013 +0.025 e
15.875| +0.15 | +0.15 | +0.15 | £0.18 | - . 150 L P
E \br F \I& E +0.025 +0.025 +0.025 | 19.05 | +0.15 | +0.15 | +0.15 | £0.18 | - F 85 D 3-20° 3-0.25
20° 25 .
G +0.025 +0.025 +013 | 254 | -— | 018 ] - P 90° E 20° = N WA
® WEECDA%(mm) o T 4-25° 4-0.30 W
J +0.005 |#0.05-x0.13| +0.025 z HE F 25
WiZEE | E=ff EFAF |80°%| 55°% k| 35°%#| EF o
G N K | 0013 |#0.050.13 $0.025 G 30° 5-30 5-0.35
30° Lo 6.35 | £0.05| £0.05 | £0.05 | +0.05 | +0.05 | -
L $0.025 1 £0.05-20.13| £0.025 | 9525 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 | +0.05 N 0° 6.0.40
M | +0.08-+0.18 |+0.05-+0.13 +0.13 12.7 +0.08 | +0.08 | +0.08 | +0.08 - +0.08 11° Q ’
15.875| $0.10 | +0.10 | +0.10 | £0.10 | - | £0.10 P 7.0.45 TR
P 0| Hfbposss | N | 0.08-£0.18 |+0.05-£0.13| +0.025 o -0.
— 19.05 | +0.10 | +0.10 | +0.10 | 0.10 | - | £0.10 Z HE
U | +0.13-+0.38 |+0.08-+0.25 +0.13 25.4 - +0.13 — — — +0.13

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

EETIE keas

§AUI $tHI7JE | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE
ERJIE Keas NV DOMPOO

AF02

AFO1

* 7TJELM4 Spar

Y2E Threaded Sleeve |71 T #$T Insert Screw R F Wrench #HF Wrench TR Insert Y22 Threaded Sleeve| 7] F 3247 Insert Screw " =F Wrench 3R =F Wrench
SE[JT12T3 S13BS SM0508 TL60 M3.5X10 T15T S35 SE[JT12T3 S13BS SM0508 TL60 M3.5X10 TI15T S3.5
EH: RETDHFENSEZ#%MEEATIK . Note: Theinsertis Zccct brand. EH: BETDRZWSERMEATIR.  Note: Theinsertis Zccct brand.

* 71ENKEES * JIEMHEES Type of

Type EHARF(mm) Dimension s HAR~F(mm) Dimension A;algter

] = 1] =2 3

e o N N TR e s B B B R A
40 62.4 50 22 40 6

AF01.12A22.050.04 AF02.12A22.050.03 40 62.4 50 22 40 6

AF01.12A22.063.05 50 75.4 63 22 40 6 A 5 0.5 AF02.12A22.063.04 50 75.4 63 22 40 6 A 4 0.5
AF01.12A27.080.06 60 92.4 80 27 50 6 A 6 1.3 AF02.12A27.080.04 60 92.4 80 27 50 6 A 4 1.2
AF01.12B32.100.07 70 112.4 100 32 50 6 B 7 1.8 AF02.12B32.100.05 70 112.4 100 32 50 6 B 5 1.8
AF01.12B40.125.08 80 137.4 125 40 63 6 B 8 3.0 AF02.12B40.125.06 80 137.4 125 40 63 6 B 6 3.55
AF01.12B40.160.10 100 172.4 160 40 63 6 B 10 5.0

AF01.12C60.200.12 160 212.4 200 60 63 6 C 12 6.8

AF01.12C60.250.14 200 262.4 250 60 63 6 C 14 11.2

AF01.12D60.315.18 270 327.4 315 60 70 6 D 18 20.8

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
BT Keas

AF03

* 71 ELHH¥ Spa

71 K Insert 71 3£ Tool chuck EHR Clamp pES: £3) ES: $3) iR =F Wrench
[ Double Headed Screw Tool chuck screw g
SE[IN1203 LSE12R/L S3
WO1R/L DM8x21X LOM5x15.1
SE[IN1504 LSE15R/L S4

FH: BENFBWSZH%RMEATIF . Note: The Insert Is Zcecct Brand.

* JNIEMKES

=
SA I R N B A Y
80 103 27 50 55

AF03.12A27.080.04 A 4 1.8
AF03.12B32.100.05 100 122 32 50 5.5 B 5 24
AF03.12B40.125.06 125 147 40 63 55 B 6 4.4
AF03.12B40.160.08 160 181 40 63 5.5 B 8 6.4
AF03.12C60.200.10 200 221 60 63 5.5 C 10 8.5
AF03.12C60.250.12 250 270 60 63 5.5 C 12 14.1
AF03.12D60.315.15 315 353 60 63 5.5 D 15 222
AF03.15A27.080.04 80 103 27 50 7.5 A 4 1.7
AF03.15B32.100.05 100 122 32 50 7.5 B 5 23
AF03.15B40.125.06 125 147 40 63 7.5 B 6 4.2
AF03.15B40.160.08 160 181 40 63 7.5 B 8 6.1
AF03.15C60.200.10 200 221 60 63 7.5 C 10 8.3
AF03.15C60.250.12 250 270 60 63 7.5 C 12 13.6
AF03.15D60.315.15 3115 353 60 63 7.5 D 15 21.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

* 7] ELHi4 Spa

T K Insert

—.

PG
E

=

OFKTO05T3

Type

&
AF04.05A22.050.04
AF04.05A22.050.05
AF04.05A22.063.05
AF04.05A27.080.06
AF04.05B32.100.07
AF04.05B40.125.08
AF04.05B40.160.10

AF04.05C40.160.10

40

50

60

70

80

100

100

56

69

86

106

130

165

165

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com

YtEI7J2 | MILLING TOOLS

N DOMPO

71 R 82 %T Insert Screw

o

TL60 M4X10

EHZA R~ (mm) Dimension

o [ [ [ = [ " [ o
40 56 50 22 40 3.5

50

63

80

100

125

160

160

EH: METEBEWNSZ#%NEEATIE . Note: The Insert Is Zccct brand.

* 71B#EEIS Type of M

22

22

27

30

40

40

40

40

40

50

50

63

63

63

3.5

3.5

3.5

3.5

3.5

3.5

3.5

R =F Wrench

T15T

B 7 2.6
B 8 4.2
B 10 5.1
C 10 4.8



#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

#tEI7J2 | MILLING TOOLS §AHI

mEEJI R Kkrase \) Q (P RUNK

AF04

* TNELMH¥ Spare * 71 ELHH{% Spare

T1H Insert 3 e 23] IR T 82 5T W F Wrench T F Insert T1 R 424T Insert Screw " F Wrench
. Double Headed Screw| Tool chuck screw Adjusting Screw - @

(-

OFKR0704 LOFO7R/L WST02 DM8*21 LOM5X15 TMO0608 S3S4 OD[1[]0605 TL60 M5X12 T20T
EH: BETDREWSEKRIMEEA TR, Note: Theinsertis Zccct brand. T BETREZWSERRETI . Note:The Insert Is Walter brand.
* 71EHHEES Typeo * 71 B ##EBIS Type of Milling
Type EZAR~F(mm) pimension Ef)th Type EZARH(mm) pimension
B % = %
AF04.07A27.080.05 60 91 80 27 63 5 A 5 AF05.06A22.050.04 40 60 50 22 40 10
AF04.07B32.100.06 70 111 100 32 63 5 B 6 1.8 AF05.06A22.063.05 50 73 63 22 40 10 A 5 0.5
AF04.07B40.125.08 80 136 125 40 63 5 B 8 3.9 AF05.06A27.080.06 60 90 80 27 50 10 A 6 0.8
AF04.07B40.160.10 100 171 160 40 63 5 B 10 5.9 AF05.06B32.100.07 70 110 100 100 50 10 B 7 15
AF04.07C60.200.12 204 211 200 60 50 5 C 12 7.6 AF05.06B40.125.08 80 135 125 125 63 10 B 8 25
AF04.07C60.250.16 254 261 250 60 50 5 C 16 13.3 AF05.06C40.160.09 100 170 160 160 63 10 C 9 4
AF04.07D60.315.20 319 321 315 60 50 5 D 20 18.3

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS
EfEJJE kras
AFO06

* 71 ELMH¥ Spare

TR Insert FEEH24T Clamping Screw #RF Wrench

* JJE M4 Spare

TR Insert

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
N  DoOmD

L1

@DI1
@D
(o]

71 R 8 %T Insert Screw " F Wrench

ON[J[Jo6041] L60 M4X10 T15T

ON[I[J08T5[][] L60 M5X12 T20T

EH: BEDRFEWSERINIEATIF . Note:The insert is Zecct brand.

* 71E#MEEIS Typeo

EAERS(mm) Dpimension

AF06.06A22.050.05 40 62 50 22 45 4
AF06.06A22.063.06 50 75 63 22 45 4 A 6 0.5
AF06.06B27.080.07 60 92 80 27 50 4 B 7 1.2
AF06.06B32.100.08 70 112 100 32 63 4 B 8 1.2
ONO06 AF06.06B40.125.09 80 137 125 40 63 4 B 9 2.6
AF06.06C40.160.11 100 172 160 40 63 4 Cc 11 4.3
AF06.06C60.200.13 160 212 200 60 63 4 C 13 7.6
AF06.06C60.250.15 200 262 250 60 63 4 C 15 13.5
AF06.06D60.315.17 250 327 315 60 70 4 D 17 20.8
AF06.08A22.063.05 50 78 63 22 40 5 A 5 0.5
AF06.08B27.080.06 60 95 80 27 50 5 B 6 1.2
AF06.08B32.100.07 70 115 100 32 63 5) B 7 1.2
AF06.08B40.125.08 80 140 125 40 63 5 B 8 26
ONO08
AF06.08C40.160.10 100 175 160 40 63 5 C 10 43
AF06.08C60.200.12 160 215 200 60 63 5 Cc 12 7.6
AF06.08C60.250.14 200 265 250 60 63 5 C 14 13.5
AF06.08D60.315.16 250 330 315 60 70 5 D 16 20.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

ON[J[J06041]

ON[I[]08T5[][]

TL60 M4X10 T15

TL60 M5X12 T20

EH: METRFENSEZ#%MEEATIF . Note: The Insert Is Zccct brand.

w 71E TS Type of Milli

Type

B A R~F(mm) pimension ACEIHET iy

| EARYOmomensen | Alper| Tool
8= 0O 3]
D1 L L1 ez
37 25 20 100 45 4

AF06.06W20.025.02 w 2

AF06.06W25.032.03 44 32 25 110 50 4 W 3 0.3
AF06.06W32.040.04 52 40 32 120 55 4 W 4 0.4
AF06.08W25.032.02 47 32 25 120 55 5 W 2 0.4
AF06.08W32.040.03 55 40 32 120 55 5 w 3 0.5
AF06.08W32.050.04 65 50 32 120 55 5 W 4 0.6

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com



#HI7JR | MILLING TOOLS §AMI §AUI #HI7J2 | MILLING TOOLS
EHTIR ks VvV DOm0 o EHTIR ks N POMOOO

AFO07

H I

* 718K Spa * 71ELH}E Spar

TR Insert

@Dl
@D

ap

jofe]
P D2

E#H Clamp W 3k B2 £T Double Headed Screw #F Wrench

&3 -

T F Insert 71 R 82 %T Insert Screw " F Wrench

II

SNLIN1204 WSTO1 #0O: DM6*20 S3 SNEX1206ANN TL60 M4X10 T15T
T BETDRZWSE/RMEATIF o Note: The insert is Zcect brand. EH: BRETREWSEREF IR . Note:The insert is Korloy brand.

* J1E#MERIS Typec * J1E#&BIS Type of Mill

Type EARH(mm) pimension A;j;lgter :;;;h Type EZAR~F(mm) pimension
S I I I B A A 2% o [ oo [ oo [ oo | |
AF07.12C60.200.18 209 215 200 60 40 5 C 18 AF08.12A22.050.04 40 63 50 22 40 6
AF07.12C60.250.24 259 265 250 60 40 5 (¢} 24 9.2 AF08.12A22.063.06 50 76 63 22 40 6 A 6 0.7
AF07.12D60.315.30 324 330 315 60 40 5 D 30 124 AF08.12B27.080.07 60 93 80 27 50 6 B 7 1.2
AF07.12D60.355.34 364 370 355 60 40 5 D 34 16.2 AF08.12B32.100.08 70 113 100 32 50 6 B 8 1.7
AF07.12D60.400.38 409 415 400 60 40 5 D 38 19.2 AF08.12B40.125.10 80 138 125 40 63 6 B 10 3.6
AF07.12D60.450.44 459 465 450 60 40 5] D 44 23.2 AF08.12C40.160.12 100 173 160 40 63 6 C 12 4.8
AF08.12C60.200.14 150 213 200 60 63 6 C 14 5.3
AF08.12C60.250.16 180 263 250 60 63 6 C 16 12

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

#tEI7J2 | MILLING TOOLS §AHI
HEETIR kras ~ Q GmWPOO

AF09

* 7JELHH4F Spe * 7] ELK{4 Spar

J1F Insert 71 K 4247 Insert Screw "= Wrench T1F Insert 71 K %247 Insert Screw #|F wrench

SNMX1205XTN TL60 M4X10 T15T PNMU1205ANER TL60 M5X12 T20T
EH: BETNRZWUSERHERIIF. Note:The insert is Taegutec brand T BETRZWSERET R - Note:The insert is Kyocera brand.

* 71E##&BIS Type * 71B &R SType of Milling

Type BARF(mm) pimension Adapter i Type BARF(mm) pimension

=} *% D 3 =

1 ]

Sk N o I B R a3 oo [ oo [ oo [ o | v | o]
40 63 50 22 40 6

AF09.12A22.050.04 A 4 0.5 AF10.12A22.063.05 50 76 63 22 45 55

AF09.12A22.063.05 50 76 63 22 40 6 A 5 0.7 AF10.12B27.080.06 60 93 80 27 50 515/ B 6 1.0
AF09.12B27.080.06 60 93 80 27 50 6 B 6 1.2 AF10.12B32.100.08 70 113 100 32 50 55 B 8 1.4
AF09.12B32.100.08 70 113 100 32 50 6 B 8 1.7 AF10.12B40.125.10 80 138 125 40 63 515/ B 10 25
AF09.12B40.125.10 80 138 125 40 63 6 B 10 3.6 AF10.12C40.160.12 100 173 160 40 63 5.5 C 12 3.8
AF09.12C40.160.14 100 173 160 40 63 6 C 14 48 AF10.12C60.200.14 150 213 200 60 63 515 C 14 6.5
AF09.12C60.200.18 150 213 200 60 63 6 C 18 5.3 AF10.12C60.250.16 180 263 250 60 63 55 C 16 9.1
AF09.12C60.250.20 180 263 250 60 63 6 C 20 12

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AMI §AUI #HI7JE | MILLING TOOLS
Indexable milling tools BI#&{us4HEITIE
EHTIR kees VvV DOm0 0 EHTIR kess V BOMROD

AF11 DFO1

* 718K Spa * J1E M Spar

T1F Insert 71 K #24T Insert Screw IR =F Wrench JE % 124T Clamping Screw JE# Clamp #RF Wrench

SNMU1606 TL60 M5X12 T20T HNEX0905 #H: DM6*20 W18N

i BETNRBWSEFIHTFITI . Note: The Insert Is Iscar brand. FH: BETNRBWSEKRMNEEATIF . Note: Theinsertis Zccct brand.

* 71EHIEBIS Type of * 71E &R Type of Mill

Type EARF(mm) Dimension Adapter . Type EARRF(mm) pimension

o 0O : =
J] ]

AF11.16A22.050.04 50 64 50 22 50 7.5 A 4 0.3 DF01.09A27.080.08 60 88.5 80 27 50 8.5 A 8 1.1
AF11.16A22.063.05 50 7 63 22 50 7.5 A 5 0.5 DF01.09B32.100.10 70 108.5 100 32 50 8.5 B 10 2.6
AF11.16A27.080.06 60 94 80 27 50 7.5 A 6 1.0 DF01.09B40.125.14 80 133.5 125 40 63 8.5 B 14 3.7
AF11.16B32.100.07 70 114 100 32 50 125, B 7 1.4 DF01.09B40.160.18 100 168.5 160 40 63 8.5 B 18 5.6
AF11.16B40.125.08 80 139 125 40 63 75 B 8 25 DF01.09C60.200.22 150 208.5 200 60 63 8.5 C 22 6.3
AF11.16C40.160.10 100 174 160 40 63 7.5 © 10 3.8 DF01.09C60.250.28 200 258.5 250 60 63 8.5 C 28 10.3
AF11.16C60.200.14 150 214 200 60 63 7.5 C 14 6.5 DF01.09D60.315.32 270 3235 315 60 63 8.5 D 32 21.7
AF11.16C60.250.16 180 264 250 60 63 7.5 C 16 9.1

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS
v a Eiﬁﬂa Kr:67° V a

DFO1

* 71 EHHF Spa
T Insert 71 K #24T Insert Screw "= Wrench

* 71 ELHi% Spare

PNEG110512R TL60 M4X10 T15T 71K Insert FE 2 25T Clamping Screw E#R Clamp #F Wrench

FH: BENRBWSEHKRMEATIF. Note: The insertis Zccct brand.

* 7JH#EBIS Type of
Type EHZA R~ (mm) Dimension Aidﬁaé)]ter
= .
D2 @D H Fzt
DF01.11A22.050.04 40 60 50 22 45 5
DF01.11A22.063.05 50 73 63 22 50 5 A 5| 0.8 * ”Eiﬂ*ﬁﬂ% Type of
DF01.11B27.080.06 60 90 80 27 50 5 B 6 11
Type EHZA R~ (mm) Dimension Adapter

PNEG110512R DM6+20 W18N S3

EH: METRBWNSE%RIMNEEATIF . Note: The insertis Zccct brand.

7N DFO01.11B32.100.07 70 110 100 32 50 5] B 7 1.8 = O
il DF01.11B40.125.08 80 135 125 40 63 5 B 8 2.9
DFO01.11A27.080.10 60 90.1 80 27 50 5
DF01.11B40.160.10 100 170 160 40 63 5 B 10 5.6
DFO01.11B32.100.14 70 110.1 100 32 50 5} B 14 1.6
DF01.11C60.200.12 150 210 200 60 63 5 C 12 7.9
DF01.11B40.125.18 80 135.1 125 40 63 5 B 18 3.2
DF01.11C60.250.14 180 260 250 60 63 5 (o] 14 13.4
DF01.11B40.160.22 100 170.1 160 40 63 5 B 22 5.8
DF01.11A22.050.05 40 60 50 22 45 5 A 5 0.6
DFO01.11A22.063.06 50 73 63 22 50 5] A 6 0.9
DF01.11B27.080.08 60 90 80 27 50 5 B 8 1.2
% DFO01.11B32.100.10 70 110 100 32 50 5 B 10 1.9
B DF01.11B40.125.12 80 135 125 40 63 5 B 12 3.2
DF01.11B40.160.14 100 170 160 40 63 5 B 14 6.4
DF01.11C60.200.16 150 210 200 60 63 5 C 16 8.5
DF01.11C60.250.18 180 260 250 60 63 5] C 18 18

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
v Om

#tEI7JB | MILLING TOOLS §AuI
mEEJI B keseo N (K

DFO2

HH g LS,
%01 T ag

(2]
@02

* 718 M4 Spa * J1EHi4 Spa

TR Insert J1# shim TIE 42457 Insert Screw | 73 E42%T Shim Screw " F Wrench 71 K #24T Insert Screw #®F Wrench
LNKT2510 LLN25R-ZR TL60 M5X16 L60 M3.5X10 T15T/T20T R365-1505ZNE TL60 M4X10 T15T
FH: BETNRBWSEKRMNEEATIF. Note: Theinsertis Zccct brand. FH: BEDREWNSELSETIIA . Note:The insert is Sandivk brand.

* 71E#EEIS Type of * 71EHEES T

Type BAR(mm) pimension
=]
- ESEEEEEEENEE
80 154 125 40 63 17

DF02.25B40.125.05

Type EARH(mm) pimension
=
- | ov: | oo | o0 | od | K | o
40 57 50 22 40 6

DF03.15A22.050.04

DF02.25C40.160.06 100 189 160 40 63 17 C 6 6.9 DF03.15A22.063.05 50 70 63 22 40 6

DF02.25C60.200.08 150 229 200 60 63 17 C 8 10.5 DF03.15A27.080.06 60 87 80 27 50 6

DF02.25C60.250.10 160 278 250 60 63 17 C 10 16.7 DF03.15B32.100.07 70 107 100 32 50 6

DF02.25D60.315.12 270 346 315 60 63 17 D 12 27.3 DF03.15B40.125.08 80 132 125 40 63 6 B 8 3.4
DF03.15B40.160.10 100 167 160 40 63 6 B 10 5.2
DF03.15C60.200.12 150 207 200 60 63 6 C 12 7.8

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JE | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR Kees

DFO3

I
3 X
@ D2
* 7JELHiF Spare
TR Insert E 2 484T Clamping Screw ER Clamp #F Wrench
R365-1505ZNE DMé6*20 W18N

EH: BETDRZWSZ LY IR, Note: Theinsertis Sandivk brand.

* ﬂE*ﬂ#ﬁi‘q Typeo

Type EARF(mm) Dimension Adapter

#0
o --mn-n o

DF03.15A27.080.10 A 10
DF03.15B32.100.14 70 107 100 32 50 6 B 14
DF03.15B40.125.18 80 132 125 40 63 6 B 18
DF03.15B40.160.22 100 167 160 40 63 6 B 22
DF03.15C60.200.28 150 207 200 60 63 6 Cc 28
DF03.15C60.250.36 180 257 250 60 63 6 C 36

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

1.4

2.0

3.8

5.7

10.2

15.2

* 7B Kt Spare

T1F Insert

Q

LNE32.534

Type

Be
EF01.15B40.125.16
EF01.15B40.160.20
EF01.15C60.200.25
EF01.15C60.250.32

EF01.15D60.315.40

TREGEFELABER R #HEE

FHEITJE

71 K 5247 Insert Screw

TL60 M4X10

FHH: RETHFEWNSEHRIMEEATIF . Note: The insert is Zccct brand.

w J1EIRBIS Type of Milli

=

EHZA R~ (mm) Dimension

L o | oo | oo | od | K | & |
80 132 125 40 63 8

100 168 160 40 63 8
150 208 200 60 63 8
200 257 250 60 63 8
250 323 315 60 63 8

B ™ #www.hnsant.com

#|=F Wrench

o

o O O

T15T

16

20

25

32

40

MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

3.5

6.1

7.4

13.1

25.5



#tHI7J2 | MILLING TOOLS ,SB“I §B I ¢t&l7JE | MILLING TOOLS

Indexable milling tools EJ&{IEHITIE

AIAR(UEHITIR Indexable milling tools

HHTIR kers SSRFLLY
EF02

TR Insert 71 3£ Tool chuck JE$R Clamp | migeger Clamping Screw 7) RARET #HF Wrench

Tool chuck screw

7k Insert TIF 84T Insert Screw | 71 EEST Shim Screw #fF Wrench SPKN1203 LSP12RIL WO4R/L WMBx17
: : s3
. SPKN1203 LSP12RIL WO4R/L WMBx22 LOMS5x15.1 s
LNKT1506 LLN15R-ZR TL60 M4X15 L60 M3X8 TI0T/T15T SPKN1504 LSP15RIL WO4R/L WMgx22
EW: BENREUSERMETTR. Note: The insert is Zeect brand. EE: METNRBWUBERMEFIIN . Note: The insert is Zecet brand,
M) Dimension H;iaupter 1;“;‘;" ' EF03.12A27.080.04 80 84 27 50 6 4 A 1.1
it EF03.12B27.100.06 100 104 27 50 6 6 B 19
EF02.15B40.125.06 80 137 125 40 63 8 B 6 3.8 E—— s o i - - g 5 ™
EF02.15B40.160.08 100 170 160 40 63 8 B 8 6.6 EF03.12B40.160.10 160 164 40 83 8 10 B 57
EF02.15C60.200.10 150 208 200 60 63 8 o 10 9.6 EFO03.12C60.200.12 P p— o - 5 i3 & 45
EF02.15C60.250.12 200 257 250 60 63 8 c 12 134 60 TS BEDTe 555 555 5 & & i & %
EF02.15D60.315.16 250 328 315 60 63 8 D 16 25.2 R T 315 218 60 -0 . " " e
EF03.15A27.080.04 80 84 27 50 8 4 A 1.0
EF03.15B27.100.06 100 104 27 50 8 6 B 18
EF03.15B40.125.08 125 129 40 63 8 8 B 33
EF03.15B40.160.10 160 164 40 63 8 10 B 5.4
EF03.15C60.200.12 200 204 60 63 8 12 d 79
EF03.15C60.250.16 250 253 60 63 8 16 le 136
EF03.15D60.315.20 315 318 60 70 8 20 D 23.1

THEAGEFELEYE R #EESEMwww hnsant. com THRESEFHLEZH R #1552 Ewww hnsant.com




#tEl7JE | MILLING TOOLS | !SB“I

AIAR(UEHITIR Indexable milling tools

7K Insert 71 K 5847 Insert Screw 5 Wrench

SPK[11204 TL60 M5X12 T20T

EH: BEENRBUSEHMNERT R Note: The insertis Zecct brand.

EF04.12A22.050.04

Adapt Tooth
ZZER (mm) pimension ?%?Dp = B
u's ----- ¥t
4

EF04.12A22.063.05 50 66 63 22 50 6 A ] 0.6
EF04.12A27.080.06 60 83 80 27 50 6 A 6 0.9
EF04.12B32.100.07 70 103 100 32 50 6 B ¥ 14
EF04.12B40.125.08 80 128 125 40 63 6 B 8 25

THEGEFEREE R HiEESEMwww. hnsant . com




#tEI7JB | MILLING TOOLS §AHI
HEtJIR xeos N Mm@

EF06

* 71ELHi¥ Spar

T1F Insert JE 8247 Clamping Screw K F Wrench

§AUI #tHI7J2 | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE
EiEJIR xkers W OmQ

EFO07

* 7JELHH4 Spare

7”:‘!‘ Insert 71 #24T Insert Screw R =F Wrench

SPMT1806EDER TL60 M6X16 T25T

EH: METNHREINSERTEZETIH, Note: The insert is Kyocera brand.

* J1E MBS Type of m

ype Adapter] - Toot
= 1A
60 87 80 27 50 124 4

EF06.18A27.080.04 A 1.3
EF06.18B32.100.05 70 107 100 32 50 12.4 B 5 2.0
iﬁi EF06.18B40.125.06 80 132 125 40 63 12.4 B 6 3.6
= EF06.18B40.160.08 100 167 160 40 63 12.4 B 8 5.0
EF06.18C60.200.10 150 207 200 60 63 12.4 C 10 7.7
EF06.18C60.250.12 180 257 250 60 63 12.4 C 12 12.0
EF06.18A27.080.06 60 87 80 27 50 12.4 A 6 1.3
EF06.18B32.100.07 70 107 100 32 50 12.4 B 7 il
% EF06.18B40.125.08 80 132 125 40 63 12.4 B 8 3.5
= EF06.18B40.160.10 100 167 160 40 63 12.4 B 10 4.9
EF06.18C60.200.12 150 207 200 60 63 12.4 C 12 7.6
EF06.18C60.250.14 180 257 250 60 63 12.4 C 14 17.0

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

SNMX1205XTN TL60 M4X10 T15T

A BETNBEZNSEEERIIE, Note: Theinsertis Taegutec brand

* J1E MBS Type of

Type
BS
EF07.12A22.050.05 40 56 50 22 40 8 A 5 0.3
EF07.12A22.063.06 50 70 63 22 40 8 A 6 0.5
EF07.12A27.080.07 60 87 80 27 50 8 A 7 1.2
EF07.12B32.100.08 70 107 100 32 50 8 B 8 1.7
EF07.12B40.125.10 80 132 125 40 63 8 B 10 2.8
EF07.12C40.160.12 100 166 160 40 63 8 C 12 4.4
EF07.12C60.200.16 150 207 200 60 63 8 C 16 6.1
EF07.12C60.250.20 180 257 250 60 63 8 C 20 10.8

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

#tEI7JB | MILLING TOOLS §AHI
HEETIR xroo Ny o (PRUNK

PFO1

* 71EHHF Spa * J1ELHi{ Spare

T1F Insert 71 K %247 Insert Screw wF Wrench 71 #24T Insert Screw

TPKN2204 MYL8X18 S4 SEET09T308PER TL60 M3X7 TO8T
FHH: RETREWNSE#kiMEEATIF, Note: Theinsertis Zccct brand. FHH: BETDHFEWNSEZ#%MESAE TR, Note: Theinsertis Zccct brand.

* 71E#HEES Typeo * 71B##EBIS Type of

PF01.22A22.063.03 50 63 22 50 15 PF02.09A22.050.05 40

PF01.22A27.080.04 60 80 27 50 15 A 4 0.9 PF02.09A22.063.06 50 63 22 40 6.5 A 6 0.5

PF01.22B32.100.05 70 100 32 50 15 B 5 1.8 PF02.09A27.080.08 60 80 27 50 6.5 A 8 0.9

PF01.22B40.125.06 80 125 40 63 15 B 6 2.5 PF02.09B32.100.08 70 100 32 50 6.5 B 8 1.7

PF01.22B40.160.07 100 160 40 63 15 B 7 3.6 PF02.09B32.100.10 70 100 32 50 6.5 B 10 1.7
PF02.09B40.125.12 80 125 40 63 6.5 B 12 2.6

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
T Knoo: y o PR TR ke y o PR

PFO2

Type AR (mm) Dimension Adapter

=0
oo | o0 | od | | & | Ex
40 50 22 40 10

PF02.12A22.050.05

PF02.12A22.063.06 50 63 22 40 10 A 6 0.65

PF02.12A27.080.08 60 80 27 50 10 A 8 0.9

E PF02.12B32.100.10 70 100 32 50 10 B 10 1.2

El PF02.12B40.125.12 80 125 40 63 10 B 12 3.1

PF02.12C40.160.14 100 160 40 63 10 (¢} 14 41

PF02.12C60.200.16 140 200 60 63 10 (¢} 16 6.1
T K Insert ¥2E Threaded Sleeve | 71 i #2%T Insert Screw #F wrench #F Wrench PF02.12C60.250.18 200 250 60 = 10 o e O
n : . ; s PF02.12D60.315.24 250 315 60 63 10 D 24 21.6

SEET120308PER S12BSX SMO0508 TL60 M3.5X10 T15T S3.5

EH: METREWNSE#%MESATIF . Note: The insert is Zccct brand.

* J1EMHEES Type of

Type EZ R~ (mm) Dimension A;:Etef
S =
| oo: | o0 | ed | v | | ot
40 50 22 40 10

PF02.12A22.050.03

PF02.12A22.063.04 50 63 22 40 10 A 4 0.65
PF02.12A27.080.04 60 80 27 50 10 A 4 0.9
E PF02.12B32.100.05 70 100 32 50 10 B 5 1.2
S PF02.12B40.125.06 80 125 40 63 10 B 6 3.1
PF02.12C40.160.08 100 160 40 63 10 C 8 4.1
PF02.12C60.200.10 140 200 60 63 10 (¢} 10 6.1
PF02.12C60.250.12 200 250 60 63 10 C 12 10.9
PF02.12A22.050.04 40 50 22 40 10 A 4 0.3
PF02.12A22.063.05 50 63 22 40 10 A 5 0.65
;é PF02.12A27.080.06 60 80 27 50 10 A 6 0.9
2 PF02.12B32.100.07 70 100 32 50 10 B 7 1.2
PF02.12B40.125.08 80 125 40 63 10 B 8 3.1
PF02.12C40.160.12 100 160 40 63 10 C 12 4.1

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR Koo

PFO3

* 71ELHH+ Spa

T K Insert 71 K 24T Insert Screw| 7] B 42%T Shim Screw
LNKT1506EN-ZR LLN15-ZR TL60 M4X12 L60 M3X7
LNKT2007DN-ZR LLN20-ZR TL60 M4X15 L60 M3X7

LNKT2510-ZR LLN25R-ZR TL60 M5X17 L60 M3.5X10

EHH: BETDHRBWNSEZHRNEEAMIETIF . Note:The insertis Zcect brand

* J1E MRS Typeo

Cgé;%ory g—rgyg R~F(mm) Dimension e
BT R R AT
PF03.15B40.125.06 80 125 40 63 8 B
PF03.15C40.160.08 100 160 40 63 8 C
LTS PF03.15C60.200.10 150 200 60 63 8 C
PF03.15C60.250.12 200 250 60 63 8 C
PF03.15D60.315.16 250 315 60 63 8 D

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

WF Wrench

T15T

T15T

T15T

Adapter

WF Wrench

T10T
T10T

T20T

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

#H o= 7 A

mEEEJIE knoo

* 71EHRES
Type B R~F(mm) pimension Adapter

= 0
1
s S N

PF03.20B40.125.06 80 125 40 63 12 B 6 3.2
Lnpo  PF03.20C40.160.08 100 160 40 63 12 © 8 5.1
PF03.20C60.200.10 150 200 60 63 12 c 10 6.5
PF03.20C60.250.12 200 250 60 63 12 © 12 115
PF03.20D60.315.15 250 315 60 63 12 D 15 19.8
PF03.25B40.125.05 80 125 40 63 15 B 5 32
PF03.25C40.160.06 100 160 40 63 15 c 6 5.1
HNZS PF03.25C60.200.08 150 200 60 63 15 © 8 6.5
PF03.25C60.250.10 200 250 60 63 15 c 10 115
PF03.25D60.315.12 250 315 60 63 15 D 12 19.8

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI
Eﬁﬂa Kr:90°

PFO04

* 7 ELHi4F Spar

71K Insert 2= Threaded Sleeve| 71 F 12%$T Insert Screw 3" F Wrench 3" =F Wrench

§AUI $tHI7JE | MILLING TOOLS

EH IR weser € O"O

PFO5

* J1E M4 Spar

T1F Insert 71 #24T Insert Screw R =F Wrench

i 0

R290-12T308 S12BSX SMO0508 TL60 M3.5X10 T15T S3.5

FH: BETNARBWSZLHETREIIR . Note: The insert is Sandvik brand.

* 71B#EBS Type of

T EARF(mm) Dimension

I=]
= | oo | o0 [ e | W | @ |
40 50 22 40 9

Tooth
WH

PF04.12A22.050.03 A 3
PF04.12A22.063.04 50 63 22 40 9 A 4 0.6
PF04.12B27.080.04 60 80 27 50 9 B 4 0.9
PF04.12B32.100.05 70 100 32 50 9 B 5 1.3
PF04.12B40.125.06 80 125 40 63 9 B 6 27
PF04.12C40.160.08 100 160 40 63 9 C 8 41
PF04.12C60.200.10 150 200 60 63 9 C 10 6.2
PF04.12C60.250.12 180 250 60 63 9 C 12 10.7

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

TNGX2207PNTN TL60 M5X12 T20T

M BENEZWSESHEEMMIIA. Note: The insertis Taegutec brand.

* 71EHEES
Type EHZA R~ (mm) Dimension A*;alg:alter E;ﬁt[h
60 80 27 50 14

PF05.22A27.080.05 A 5

PF05.22B32.100.06 70 100 32 50 14 B 6 1.5
PF05.22B40.125.08 80 125 40 63 14 B 8 2.4
PF05.22C40.160.10 100 160 40 63 14 C 10 4.0
PF05.22C60.200.12 150 200 60 63 14 C 12 5.7
PF05.22C60.250.14 180 250 60 63 14 C 14 10.3

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR Keeo

PFO6

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

* 71ELMH4 Spa * 71EHHE Spa

Y22 Threaded Sleeve| 71 F #24T Insert Screw #=F Wrench #=F Wrench 71 K Insert JJ# Shim Y82 Threaded Sleeve | 7 F 82 $T Insert Screw R F Wrench K F Wrench
SOMT12T308PEER S12BSX SM0508 TL60 M3.5X10 T15T 5815 XDMT120408PDER S12BSX SM0508 TL60 M3.5X10 T15T S3.5
. RETARNSESESMIIE . Note: The insertis Mitsubishi brand. FH: BENREWSEZEERMEIIF. Note: The insert is Sumitomo brand.

* 71EHEES Type * 71BHEES

Type EARSH(mm) Dimension Type ::d;l:lpter -E;;h
= 0=

e N I B B A <5 TR A AR
PF06.12A22.050.04 40 50 22 40 10 PF07.12A22.050.04 40 50 22 40 4
PF06.12A22.063.05 50 63 22 40 10 A 5 0.5 PF07.12A22.063.05 50 63 22 40 5 0.5
PF06.12B27.080.06 60 80 27 50 10 B 6 0.6 PF07.12A27.080.06 60 80 27 50 6 1.0
PF06.12B32.100.07 70 100 32 50 10 B 7 1.4 PF07.12B32.100.07 70 100 32 50 10 B 7 1.5
PF06.12B40.125.08 80 125 40 63 10 B 8 2.2 PF07.12B40.125.08 80 125 40 63 10 B 8 25
PF06.12C40.160.12 100 160 40 63 10 C 12 35 PF07.12C40.160.10 100 160 40 63 10 (o} 10 4.5
PF06.12C60.200.16 150 200 60 63 10 C 16 6.2 PF07.12C60.200.12 150 200 60 63 10 (o} 12 8.3
PF06.12C60.250.18 180 250 60 63 10 (¢} 18 10.7

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
EETIR Knso

PFO8

§AUI #tHI7J2 | MILLING TOOLS
Indexable milling tools BIFE{EkHEITIE
EfETIE  Kkeoo

PFO09

* 7B K4 Spare Y 71E M4 Spare

TR Insert TIFB25T Insert Screw R =F Wrench J1F Insert 71 #24T Insert Screw R =F Wrench
LNMX170808PNSR TL60 M4X12 T15T XNEX0806 TL60 M4X12 T15T
FH: BENREWNSEERMBMEIIF. Note: The insert is Sumitomo brand. M BETREBWSZLEREIIA . Note: The insert is SECO brand.

* 71E#EES Type of * 71EKEES T

Type EAR(mm) Dimension Lo;;h Type E 7 R~F(mm) Dimension
PF08.17B27.080.05 60 80 27 50 14 B 5 PF09.08A22.050.05 40 50 22 40 6
PF08.17B32.100.06 70 100 32 50 14 B 6 1.8 PF09.08A22.063.06 50 63 22 40 6 A 6 0.5
PF08.17B40.125.06 80 125 40 63 14 B 6 2.4 PF09.08B27.080.07 60 80 27 50 6 B 7 1.0
PF08.17B40.160.08 100 160 40 63 14 B 8 4.0 PF09.08B32.100.08 70 100 32 50 6 B 8 1.8
PF08.17C60.200.10 150 200 60 63 14 C 10 6.5 PF09.08B40.125.11 80 125 40 63 6 B 11 2.4
PF08.17C60.250.12 180 250 60 63 14 C 12 12.3 PF09.08B40.160.12 100 160 40 63 6 B 12 3.8

PF09.08C60.200.16 150 200 60 63 6 C 16 6.2

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com




#tEI7JB | MILLING TOOLS §AMI

AI(UEEHITIR Indexable milling tools

EEL] ECOVO@ o0
RFO1

* 7B K4 Spar

J1F Insert 71 K #2457 Insert Screw $2F Wrench
RCKT10T3MO-DM TL60 M4X10 T15
RCKT1204MO-DR TL60 M4X10 T15

E: BETDRFEBWUSERMEAREIIF . Note: The insert is Zcect brand.

* 71B##EAIS Type of

Type EZER(mm) Dimension Adapter

#0O

=]

- " oo | e | L U ® | g
5 25 20 100 30 5

RF01.10W20.025.02 W 2 0.2
RF01.10W25.032.02 5 32 25 120 35 5 W 2 0.5
RF01.12W32.040.03 6 40 32 120 40 6 W 3 0.7
RF01.12W32.050.03 6 50 32 120 40 6 W 3 0.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI #tHI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

7R OV @ o0
RFO1

* JJELH% Spare
T1F Insert 7] 24T Insert Screw R =F Wrench
RCKT1204MO-DR TL60 M4X10 T15T
RCKT1606MO-DR TL60 M5X12 T20T
RCKT2006MO-DR TL60 M6X16 To5T

EH: BENRFEWNSEHRIMNEAMMETIIE, Note: Theinsertis Zccct brand.

* NNEMKES

Type EHZA R~ (mm) Dimension Adapter

] = ED
_ | oo | oo H | oo @ g
6 63 22 50 50 6

RF01.12A22.063.04

RF01.16B27.080.05 8 80 27 50 60 8 B 5 0.7
RF01.16B32.100.06 8 100 32 50 70 8 B 6 1.2
RF01.20B40.125.07 10 125 40 63 80 10 B 7 22
RF01.20B40.160.08 10 160 40 63 100 10 B 8 4.2

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AMI

AI(UEEHITIR Indexable milling tools

E 7] 8 ECOVO @O0
RF02

* 71 ELMi¥ Spare

J1F Insert 71 %247 Insert Screw R =F Wrench
RDKWO0803MO TL60 M3X7 T10
RDKW10T3MO TL60 M4X10 T15
RDKW1204MO TL60 M4X10 T15

B BETDREWNSERMNEEARIMII Ao Note: The insert is Zccct brand.

* 7NEHHERIS Type of
Type HZAR~T(mm) Dimension

=]
il = 5

4]0} ad L L1 ap
RF02.08W16.016.02 4 16 16 100 25 4 W 2 0.1
RF02.08W25.025.02 4 25 25 100 30 4 w 2 0.3
RF02.10W32.032.02 5 32 32 120 40 5 W 2 0.7
RF02.12W32.040.03 6 40 32 120 40 6 W 3 0.7
RF02.12W32.050.04 6 50 32 120 40 6 W 4 0.8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AUI #tHI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

7R OV @ o0
RF02

* J1EHiF Spar

T1R Insert T K #24T Insert Screw EHR Clamp #RF Wrench
RDKW1204MO TL60 M4X10 WD204 T15T
RDKW1605MO TL60 M5X12 WD208 T20T
RDKW2006MO TL60 M6X16 T25T

FH: BETDRBWSEKRMNEEATIF. Note: Theinsertis Zccct brand.

* 71E##&BIS Type of M
Type EARRF(mm) Dimension A:;E:er LO;jtzh

us R @D ad H @D2 ap B -
RF02.12A22.050.03 6 50 22 40 40 6 A 3
RF02.12A22.063.04 6 63 22 50 50 6 A 4 0.5
RF02.16B27.080.05 8 80 27 50 60 8 B 5 1.2
RF02.16B32.100.06 8 100 32 50 70 8 B 6 1.6
RF02.20B40.125.06 10 125 40 63 80 10 B 6 1.9
RF02.20B40.160.07 10 160 40 63 100 10 B 7 3.7

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AMI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

Es I8 OV @ o0 Ly GECONVO @ OoN0
RFO3 RFO04

@D
“d m B |

* 71 B Spare * J71EB M4 Spare

T1F Insert T1 i #247 Insert Screw JEHR Clamp #HF Wrench J1F Insert T K 42457 Insert Screw #=F Wrench
RPMT1204MO TL60 M4X10 WD204 T15T QPMT120440 TL60 M4X10 T15T
RPMT1606MO TL60 M5X12 WD208 T20T

FH: BEDRFEBWSEERMEIIF. Note: The insert is Sumitomo brand.

A METDKEBEWNSE=%SMIIK . Note: The insert is Mitsubishi brand.

* 71E MBS Type of * 71E##EBIS Type of

EAR(mm) Dimension Type E A R~F(mm) Dimension
il =
RF03.12A22.050.04 6 50 22 40 40 6 A 4 0.4 RF04.12A22.050.04 40 50 22 40 A 4 0.2
RP12  RF03.12A22.063.05 6 63 22 45 50 6 A 5 0.7 RF04.12A22.050.05 40 50 22 40 A 5 0.2
RF03.12B27.080.06 6 80 27 50 60 6 B 6 12 RF04.12A22.063.05 50 63 22 40 A 5 0.4
RF03.16A22.063.04 8 63 22 50 40 8 A 4 0.7 RF04.12A22.063.06 50 63 22 40 A 6 0.4
RP16  RF03.16A27.080.05 8 80 27 50 60 8 A 5 12 RF04.12A27.080.06 60 80 27 50 A 6 0.9
RF03.16B32.100.06 8 100 32 63 70 8 B 6 16

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

FESET] Knso
PEO1

J1 R Insert

g

#H = 71 A

GmMQPO

L1

@D

ap

71 4247 Insert Screw

Po

R =F Wrench

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
CPOO™P 0na0

B = 71 A

FEEET] koo
PEO1

ap

* 7 ELHiE Spe

APKT11T3[[C]

APKT1604[1[]

* 71EHEBIS Type

Category|

e

AP11

AP16

Type
Bs
PEO01.11Z16.012.01
PE01.11Z16.016.02
PE01.11Z20.020.02
PEO01.11Z25.025.03
PE01.11Z32.032.04
PEO1.11W16.012.01
PEO1.11W16.016.02
PEO01.11W20.020.02
PEO01.11W25.025.03

PE01.11W32.032.04

PE01.16Z25.025.02
PE01.16Z32.032.03
PE01.16Z32.040.04
PE01.16W25.025.02
PE01.16W32.032.03

PE01.16W32.040.04

20

25

32

20

25

32
25

32

40

25

32

40

20

25

32

16

16

20

25

32
25

32

32

25

32

32

TL60 M2.5X6.5

TL60 M4X10

100

115

125

85

90

100

115

125
115

125
130
115
125

130

30

35

40

25

25

30

35

40
35

40

42

35

40

42

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

10.5

10.5

10.5

10.5

10.5

10.5

10.5

10.5
155

15.5

15.5

15.5

15.5

15.5

TO8

T

Adapter
tz-Jm|

= = =

5

2 0.1
2 0.2
3 0.4
4 0.7
1 0.1
2 0.1
2 0.2
3 0.4

0.7
2 0.4
3 0.7
4 0.8
2 0.4
3 0.7
4 0.8

J1F Insert 71 K %247 Insert Screw " F wWrench
=
=
APKT11T3[ TL60 M2.5X6.5 TO8T
APKT1604[1] TL60 M4X10 T15T

* JIEHREIS

Type ERR~F(mm) Dimension A:;éter
ﬁg =

50 22 40 40 11

PE01.11A22.050.06
APi{  PE01.11A22.063.08 63 22 50 40 11 A 8 06
PE01.11A27.080.08 80 27 60 50 11 A 8 12
PE01.11B32.100.10 100 32 70 50 11 B 10 1.7
PE01.16A22.050.05 50 22 40 40 15.5 A 5 03
PE01.16A22.063.06 63 22 50 40 15.5 A 6 05
AP16  PEO01.16A27.080.07 80 27 60 50 15.5 A 7 1.1
PE01.16B32.100.08 100 32 70 50 15.5 B 8 1.6
PE01.16B40.125.10 125 40 80 63 15,5 B 10 32
PE01.16B40.160.10 160 40 100 63 15.5 B 10 6.3

EH: METREWNSEKRMNEEARIETIF . Note: The Insert Is Zccct brand.

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI

HREHT] Koo CO@OOPON0O

PEO2

Ll
op

@D
ju)e]

* 71EHH¥ Spa

T1H Insert 7] %247 Insert Screw #R=F Wrench

ary
1

H
L~ |

APKT11T3[[] TL60 M2.5X6.5 TO8

FR: RETNREZWNSEZKRINSEASMEII K, Note: The insert is Zccct brand.

* JNEMERES Type of

Type BAR(mm) Dimension I

= 0O

|

= | oo | e | L | u | @ | gx
20 20 120 45 29

PE02.11W20.020.01 w 1 0.3
PE02.11W25.025.02 25 25 130 65 39 W 2 0.4
PE02.11W32.032.02 32 32 140 65 48 w 2 0.7
PE02.11W32.040.02 40 32 150 75 55 w 2 1.3

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AHI #tHI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE

B BEET] Kesor CQPOO PonD
PEO2

* 71EHiH4 Spa

T1R Insert T1 K %257 Insert Screw #/HF Wrench

any
1

j
L~

APKT11T30I[] TL60 M2.5X6.5 TO8T

E: BETRBNSEHRMNESSASREIIF . Note: The insert is Zccct brand.

* 71E#MEBS Type of

Type HZA R~ (mm) Dimension
- | o0 | ed | oo | | @
50 22 40 58 39

PE02.11A22.050.04

PE02.11A27.063.04 63 27 50 58 39 A 4 0.9
PE02.11B32.080.05 80 32 60 63 39 B 5 1.3
PE02.11B40.100.06 100 40 70 63 39 B 6 2.0

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI

F5ETIE koo CPOOPOWOO

PEO3

71 R 4247 Insert Screw " F Wrench

APMT113504PDER TL60 M2.5X6.5 TO8

APMT160408PDER TL60 M4X10 T15

EH: BETNREZWUSEKRIMNEAMREII R, Note: Theinsertis Zccct brand.

* J1E RS Type of

EAERF(mm) pimension Fukelgitets

AP11 PE03.11W25.025 25 25 130 40 20 w 3 0.5

. PE03.16W32.032 32 32 140 50 30 w 3 0.8
6

PE03.16W32.040 40 32 150 50 30 w 3 1.0

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

FIRTIS Koo CO@POOPIoOn0O

PEO4

* 71 ELHi4 Spe

T1H Insert 71 K #24T Insert Screw " F Wrench

LDO[15040]0] TL60 M3.5X12 T15T

EH: METRBWNSERANXNGRIEIIF . Note: The insert is Ceratizit brand.

* JIEHHES Type

EHZAR~F(mm) Dimension
PE04.15A16.040.04 35 40 16 40 13 A 4 0.3
PE04.15A22.050.05 40 50 22 40 13 A 5 0.5
PE04.15A22.063.06 50 63 22 40 13 A 6 0.9
PE04.15B27.080.07 60 80 27 50 13 B 7 1.7
PE04.15B32.100.08 70 100 32 50 13 B 8 1.7
PE04.15B40.125.10 80 125 40 63 13 B 10 2.6
PE04.15B40.160.12 100 160 40 63 13 B 12 35

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS §AHI

BHIETIE keeo c o 6 6 Q PRUNK

PEOS

Ll

op,

)]
[ )]

J1F Insert 71 25T Insert Screw R =F Wrench

APKT1705PER TL60 M4X10 T15

EH: BETNRZWNSE2EBESRRMEIIAF. Note: The insert is Taegutec brand.

* J1E#HERIS Typeo
Type HZA R~ (mm) Dimension A*;al:[l)ter _E;;h
=
= oo | o | L | u | @ | gx
25 25 100 35 14

PE05.17W25.025.02 W 2 0.3
PEO05.17Z25.025.02 25 25 200 45 14 z 2 0.5
PE05.17W32.032.03 32 32 110 40 14 W 3 1.2
PE05.17Z32.032.03 32 32 200 45 14 z 3 1.8
PE05.17W32.040.04 40 32 115 45 14 W 4 24
PEO05.17Z32.040.04 40 32 250 45 14 z 4 3.2

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

§AHI #HI7J2 | MILLING TOOLS

KRR Koo CPOODP o

PEOS

T1F Insert T K 4257 Insert Screw #HF Wrench

=
=

APKT1705PER TL60 M4X12 T15T

FH: BETNRZWUSEHERTMEIIR. Note: The insert is Taegutec brand.

* JIEMHEES Type o

Type HZA R~ (mm) Dimension

) =

e N N N A
35 40 16 40 14

PE05.17A16.040.04

PEO05.17A22.050.05 40 50 22 40 14
PE05.17A22.063.06 50 63 22 40 14
PEO05.17A27.080.07 60 80 27 50 14
PE05.17B32.100.08 70 100 32 50 14 B 8 1.5
PEO05.17B40.125.09 80 125 40 63 14 B 9 3.9
PE05.17C40.160.10 100 160 40 63 14 C 10 5.6
PE05.17C60.200.12 150 200 60 63 14 C 12 7.0

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

BRI CPOOPONGO HRTI Ko CPOOBPOu0OO

PEOG6 PEOG6

@D a
o
y
T
A
o d
@ D2

* 71ELHH¥ Spa

T1H Insert 71 24T Insert Screw #R=F Wrench

ay

Tl

* 7JELMH4 Spa

TIR Insert 71 K #24T Insert Screw " F wWrench

AXMT1235[][JPEER TL60 M3X7 TO8

AXMT1705J[JPEER TL60 M4X10 T15

FH: BENRBWSZEERMBEIIF . Note: The insert is Sumitomo brand.

AXMT1235][JPEER TL60 M3X7 TO8T
* J1E RIS Typeo

AXMT1705JCJPEER TL60 M4X10 T15T

Type

ETE=] FH: BENRFBWSZERAMBERIIA . Note: The insert is Sumitomo brand.

PE06.12Z216.016.02.S 16 16 100 25 10 4 2 0.3

e S
PE06.12Z16.016.02.M 16 16 145 25 10 z 2 0.5 * JIEHHEES Type of Millin

PE06.12220.020.03.S 20 20 110 30 10 z 3 0.6 Type P};al:p;ter
nxq, PE08.12225.025.04. 25 25 120 35 10 z 4 1.0 PE06.12A16.040.06 40 16 35 40 10
PE06.12225.025.04.M 25 25 170 50 10 z 4 15 AX12  PE06.12A22.050.07 50 22 40 40 10 A 7 0.3
PE06.12232.032.05.S 32 32 130 40 10 z 5 2.0 PE06.12A22.063.08 63 22 50 40 10 A 8 0.5
PE06.12232.032.05.M 32 32 180 60 10 z 5 2.4 PE06.17A16.040.04 40 16 35 40 14 A 4 0.3
PE06.12232.040.06.S 40 32 150 30 10 z 6 25 PE06.17A22.050.05 50 22 40 40 14 A 5 0.3
PE06.12232.040.06.M 40 32 180 30 10 z 6 32 AX17  PE06.17A22.063.06 63 22 50 40 14 A 6 0.5
PE06.17225.025.02.S 25 25 120 35 14 z 2 1.0 PE06.17A27.080.07 80 27 60 50 14 A 7 17
PE06.17225.025.02.M 25 25 170 50 14 z 2 15 PE06.17B32.100.08 100 32 70 50 14 B 8 3.2
AX17  PE06.17232.032.03.S 32 32 130 40 14 z 3 2.0 PE06.17B40.125.09 125 40 80 63 14 B 9 6.3
PE06.17232.032.03.M 32 32 180 60 14 z 3 2.4
PE06.17232.040.04.S 40 32 170 50 14 z 4 25
PE06.17232.040.04.M 40 32 220

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

FIRTIE weee CPOOBPOu0OD AR e CPOOBou0oD

PEO7 PEOS8

L1

@D
@d

op

* J1E M Spa * 718 M Spa

T1F Insert 71 K %247 Insert Screw | F Wrench T1H Insert 71 K 4247 Insert Screw #F Wrench

APMT1035JCJPDER TL60 M2.5X6.5 Tos ADMT080304R TL60 M2.5X6.5 To8
APMT1605JCJPDER TL60 M3.5X10 Ti5 ADMT120408R TL60 M3X8 T10
EB: RETREWSEERGIMETIE . Note: The insert is Sumitomo brand. EH: REDREWSERREMEIIF . Note: The insert is Walter brand.

* J1E RIS Type of * 71E#MEBIS Type of Mill

#0 5 #0

i = i
PE07.10220.020.03.S 20 20 130 35 17 z 1 0.3 PE08.08W16.016.02 16 16 90 34 8 w 2 0.1
PE07.10Z20.020.03.M 20 20 185 60 17 z 1 0.5 PE08.08W20.020.03 20 20 20 39 8 W 3 0.2
AP10  PE07.10Z25.025.04.S 25 25 140 40 26 z 1 1.2 ADOS PE08.08W25.025.04 25 25 100 43 8 w 4 0.3
PE07.10Z25.025.04.M 25 25 220 75 26 z 1 1.8 PE08.08W32.032.05 32 32 110 49 8 w 5 0.6
PE07.10Z25.030.04.S 30 25 150 50 35 z 1 2.4 PE08.08W32.040.06 40 32 110 40 8 w 6 0.7
PE07.10Z25.030.04.M 30 25 230 50 35 z 1 32 PE08.08216.016.02 16 16 180 34 8 z 2 0.3
PE07.16232.032.04.S 32 32 150 50 39 z 1 0.3 PE08.08220.020.02 20 20 200 39 8 z 2 05
PE07.16Z32.032.04.M 32 32 230 90 39 z 1 0.5 PE08.08225.025.03 25 25 200 43 8 z 3 0.7
AP16  PE07.16232.035.04.S 35 32 150 50 39 z 1 1.2 PE08.12W25.025.03 25 25 100 43 11.5 w 3 0.35
PE07.16232.035.04.M 35 32 230 50 39 z 1 1.8 PE08.12W32.032.04 32 32 110 49 11.5 w 4 0.6
PE07.16232.040.04.S 40 32 160 50 39 z 1 2.4 AD12 PE08.12W32.040.05 40 32 110 40 115 w 5 0.7
PE07.16Z32.040.04.M 40 32 240 50 39 z 1 32 PE08.12225.025.03 25 25 200 43 11.5 z 3 0.7
PE08.12232.032.04 32 32 250 49 1.5 z 4 1.5
PE08.12232.040.05 40 32 250 45 115 z 5 1.6

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
F5IETIR Koo

PEOS8

* 71 ELHi% Spare

J1 R Insert 71 R 4247 Insert Screw " F Wrench

* 718 M Spar

J1 R Insert

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
CPOOPoOondO

71 K %247 Insert Screw " =F Wrench

ADMT080304R TL60 M2.5X6.5 TosT
ADMT120408R TL60 M3X8 T10T
ADMT160608R TL60 M4X10 -

FHH: METHRBWNSER R4 IR, Note: The insert is Walter brand.

* JNE#MHEBS Type of milling t

Type EZAR~F(mm) Dimension Adapter

S 0O
40 16 35 40 8

PE08.08A16.040.06

ADO8
PE08.08A22.050.07 50 22 40 40 8 A 7 0.38
PE08.12A16.040.05 40 16 35 40 11.5 A 5 0.2
PE08.12A22.050.06 50 22 40 40 1.5 A 6 0.3

AD12 PE08.12A22.063.07 63 22 50 40 11.5 A 7 0.6
PE08.12A27.080.08 80 27 60 50 11.5 A 8 1.1
PE08.16A16.040.04 40 16 35 40 15 A 4 0.2
PE08.16A22.050.05 50 22 40 40 15 A 5 0.3

AD16 PE08.16A22.063.06 63 22 50 40 15 A 6 0.6
PE08.16A27.080.07 80 27 60 50 15 A 7 1.0
PE08.16B32.100.08 100 32 70 50 15 B 8 1.6
PE08.16B40.125.10 125 40 80 63 15 B 10 3.4
PE08.16C40.160.12 160 40 100 63 15 C 12 4.3

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

R390-11T3[J[]

R390-17041]

TL60 M2.5X6.5 TO8

TL60 M3.5X10 T15

T BETDRZWSZEUHETIF. Note: The insert is Sandvik brand.

* J1E#MEBIS Type of Mi

11

17

Type
BS
PE09.11Z216.016.02
PE09.11Z20.020.02
PE09.11Z25.025.03
PE09.11232.032.03
PE09.11Z32.040.04
PE09.11W16.016.02
PE09.11W20.020.02
PE09.11W25.025.03
PE09.11W32.032.03
PE09.11W32.040.04
PE09.17Z25.025.02
PE09.17232.032.03
PE09.17Z32.040.04
PE09.17W25.025.02
PE09.17W32.032.03

PE09.17W32.040.04

16 16

20

25

32

40

16

20

25

32

40

25

32

40

25

32

40

= m) Dimension Adapter

0

B
100 20 10 z 2 0.3
20 110 25 10 z 2 0.4
25 120 32 10 z 3 05
32 130 40 10 z g 0.8
32 170 40 10 z 4 17
16 73 25 10 W 2 0.3
20 81 25 10 W 2 0.4
25 88 32 10 w 3 0.5
32 100 40 10 w 3 0.8
32 110 40 10 W 4 17
25 120 32 15.7 z 2 0.4
32 130 40 15.7 z 3 0.8
32 170 40 15.7 z 4 0.9
25 88 32 15.7 w 2 0.4
32 100 40 15.7 W 3 0.8
32 110 40 15.7 w 4 0.9

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

HIRTIR ks CPOOQPoudO HIRTIE oo CPOOBoroO
PE09 PE10

L1

@D
@d

op

* 71E M4 sSpar * 71 ELK¥ Spare

71F Insert 71 K 8847 Insert Screw iR F Wrench TR Insert 71 5 #2847 Insert Screw R F Wrench

R390-11T30] TL60 M2.5X6.5 To8T BDMT11T30CER TL60 M2.5X6.5 T08
R390-17041[] TL60 M3.5X10 T15T BDMT1704JCJER TL60 M4X10 T15
FH: BEDREWNSELSETRIMI A, Note:The insert is Sandvik brand. FH: BENREZWSERTEMMEII R, Note:The insert is Kyocera brand.
[+ NIRRT
#0 #0
i 2SS y
PE09.11A16.040.04 40 16 35 40 10 A 4 0.4 PE10.11216.016.02 16 16 100 30 10 z 2 0.2
y PE09.11A22.050.05 50 22 40 40 10 A 5 0.5 11 PE10.11220.020.03 20 20 110 32 10 z 3 03
PE09.11A22.063.06 63 22 50 40 10 A 6 0.6 PE10.11225.025.03 25 25 120 32 10 z 3 0.3
PE09.11A27.080.07 80 27 60 50 10 A 7 0.9 PE10.11232.032.04 32 32 130 40 10 z 4 0.4
PE09.17A16.040.03 40 16 35 40 15.7 A 3 0.3 PE10.17225.025.02 25 25 120 36 15.7 z 2 0.3
PE09.17A22.050.04 50 22 40 40 15.7 A 4 0.4 i PE10.17232.032.03 32 32 130 40 15.7 z 3 0.4
17 PE09.17A22.063.05 63 22 50 40 15.7 A 5 0.6 PE10.17232.040.04 40 32 150 40 15.7 z 4 0.5
PE09.17A27.080.06 80 27 60 50 15.7 A 6 0.8
PE09.17B32.100.07 100 32 70 50 15.7 B 7 1.0
PE09.17B40.125.08 125 40 80 63 15.7 B 8 27

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

AREe € G e @ PONOD AEIREe € G @@ PONOD
PE10 PE11

* TVELHHF Spare % 71 ELM$4% Spare

T1h Insert T 4847 Insert Screw 1% F Wrench T1F Insert 71 /24T Insert Screw R F Wrench

BDMT11T3[ICJER TL60 M2.5X6.5 TO8ST APKT100304PDER TL60 M2.5X6.5 TO8T
BDMT1704JJER TL60 M4X10 15T FE: BETEZNSEEESRMEIE ., Note:Theinsertis Iscar brand.
EHE: BETDNRFEWSEZETEMMIIF . Note:The insert is Kyocera brand.

* 71E MBS Type of Millin * 7IEMBRIS T

Type EZR~F(mm) pimension Adapter

8BS #0
| oo | oo | o2 | ]| @ | gx
50 22 40 40 10

Toos EHZARSF(mm) Dimension

| =
5 | oo | ea | on: | w | & |
40 16 35 40 8

PE10.11A22.050.07 PE11.10A16.040.05
11 PE10.11A22.063.08 63 22 50 40 10 PE11.10A22.050.06 50 22 40 40 8
PE10.11A27.080.10 80 27 60 50 10 AP10  pE11.10A22.063.07 63 22 50 40 8
PE10.17A22.050.05 50 22 40 40 15.7 PE11.10A27.080.08 80 27 60 50 8
. PE10.17A22.063.06 63 22 50 40 15.7 PE11.10B32.100.10 100 32 70 50 8 B 10 1.6
PE10.17A27.080.08 80 27 60 50 15.7 A 8 08
PE10.17B32.100.09 100 32 70 50 15.7 B 9 15

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
F5ETIE keow

PE12

* 7JELHH¥ Spa

J1 K Insert 71 5 3247 Insert Screw

1

SANT
€ @ ono0

@D

ap

¢ 9
QSDZ

#% F Wrench

#H o= 7 A

i} %5 )
RBO1

#tEI7J2 | MILLING TOOLS

Indexable milling tools BI#E{7EkEITIE
€ @ ouvo

(1]

71 5 #2847 Insert Screw W F Wrench

LN[IX151008PNR

I BETNRFEZWSEREFEMMEIIA ., Note:Theinsertis Korloy brand.

* 71EMEBIS Type of

PE12.15A22.050.04

PE12.15A22.063.06 63 22
PE12.15A27.080.07 80 27
PE12.15B32.100.8 100 32
PE12.15B40.125.10 125 40
PE12.15B40.160.12 160 40

TL60 M4X10

50

60

70

80

100

T15T

HAR~T(mm) Dimension Adapter

0O
oo | o0 | oo | w | ® | g
50 22 40 40 14

40 14 A 6 0.6
50 14 A 7 1.2
50 14 B 8 24
63 14 B 10 3.8
63 14 B 12 4.6

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

TR Insert
ZDETO08T2CYR10 SPMT060304
ZDET1103CYR12.5 SPMT060304
ZDET13T3CYR16 SDMT090308
ZPNT2204CYR20 SPMT120408

EH: BEDREWSERNEEAEMRMIIF . Note:The insert is Zccct brand.

* 71EAHES

TL60 M2.5X5 To8
TL60 M2.5X5 T08
TI60 M3.5X10 T15
TL60 M5X13 T20

Type HEAR(mm) Di on

] =
_ e T G R B =
20 20 125 50 20

RB01.20W20.020.S

RB01.20W20.020.M 20 20 150
RB01.20W20.020.L 20 20 200
RB01.25W25.025.S 25 25 150
RB01.25W25.025.M 25 25 175
RB01.25W25.025.L 25 25 200
RB01.32W32.032.S 32 32 175
RB01.32W32.032.M 32 32 200
RB01.32W32.032.L 32 32 250
RB01.40W32.040.S 40 32 175
RB01.40W32.040.M 40 32 200
RB01.40W32.040.L 40 32 250

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com

wH |EEk)

w 4 0.3
75 20 W 4 0.3
100 20 W 4 0.4
70 23 W 4 0.5
95 23 w 4 0.6
100 23 W 4 0.7
85 31 W 4 0.9
100 31 W 4 1.1
150 31 w 4 1.4
50 4 W 5 1.4
50 41 W 5 1.7
50 41 w 5 21



#HIJ7J& | MILLING TOOLS §AuI §AHI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools
Rk J] “w € @ ono i) ~“w € @ o0no
RBO2 RBO2

Ll

Ll

@d

@D
@d

ap

Tk Insert FE#R Clamp 71 24T Insert Screw " F Wrench

XPHT16R803 TL60 M2.5X6.5 TO8
T Insert 71 K5 %247 Insert Screw % FWrench XPHT20R10T3 TLEOM3.5X8 T15
L XPHT25R1204 TL60 M4X10 T15
XPHT16R803 TL60 M2.5X6 T08 XPHT30R1506 WD208 TL60 M5X12 T20
XPHT20R10T3 TL60M3.5X8 T15 XPHT32R1606 WD208 TL60 M5X12 T20
XPHT25R1204 TL60 M4X10 T15 EHH: RETREWSEZ iSRRI Note:The insert is Zccct brand.
XPHT30R1506 WD208 TL60 M5X12 T20
* 71EEES
XPHT32R1606 WD208 TL60 M5X12 T20
HZA R~ (mm) Dimension
wH | EEk)
- . . - ) ) A =(Kg
EH: RETHREWSEZEHRMNEEAREIIF . Note:The insert is Zccct brand. .

RB02.16Z20.016.S 16 20 150 70 16 z 2 0.3

* JIEHEES Type RB02.16Z20.016.M 16 20 180 80 16 z 2 0.4

QA

85 2N RB02.20Z25.020.M 20 25 200 100 20 z 2 0.6
RB02.16W20.016.S 16 20 111 60 16 W 2 0.2 RB02.20Z25.020.L 20 25 250 150 20 z 2 0.7
RB02.20W25.020.S 20 25 127 70 20 w 2 0.3 RB02.25Z25.025.S 25 25 180 80 25 z 2 0.6
RB02.20W25.020.M 20 25 150 80 20 W 2 0.4 RB02.25Z25.025.M 25 25 200 100 25 z 2 0.7
RB02.25W25.025.S 25 25 137 80 25 W 2 0.4 RB02.25Z25.025.L 25 25 250 110 25 z 2 0.8
RB02.25W25.025.M 25 25 200 100 25 W 2 0.6 RB02.30Z32.030.S 30 32 200 120 30 z 2 1.0
RB02.30W32.030.S 30 32 161 100 30 W 2 0.8 RB02.30Z32.030.M 30 32 250 150 30 z 2 1.3
RB02.30W32.030.M 30 32 250 150 30 W 2 1.3 RB02.30Z32.030.L 30 32 300 200 30 z 2 1.6
RB02.32W32.032.S 32 32 161 100 32 W 2 0.8 RB02.32Z32.032.S 32 32 200 120 32 z 2 1.1
RB02.32W32.032.M 32 32 250 120 32 W 2 1.3 RB02.32Z32.032.M 32 32 250 150 32 z 2 1.4
RB02.32Z32.032.L 32 32 300 200 32 z 2 1.6

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

7] “w € @ ovo ihfz k7] “w € @ © ono
RBO2 RBO3

L
Ll
L [m) °
MT ROy oY
Ll
Q—
o
A
lr
ap
- TIE ¥ Spa
Diameter J1 5 Insert 71 5 #2457 Insert Screw #F Wrench
E/é —
* NNBH#H spa
¢12 ZOHX1203 170 M4X10TT T15
J1H Insert EHR clamp 7] F #4T7 Insert Screw % FWrench
= o ¢16 ZOHX1604 170 M5X12TT T20
¢ 20 ZOHX2005 170 M5X16TT T20
XPHT16R803 TL60 M2.5X6.5 TO8
¢25 ZOHX2506 170 M6X20TT T20
XPHT20R10T3 TL60M3.5X8 T15
¢ 30 ZOHX3007 170 M8X25TT T30S
XPHT25R1204 TL60 M4X10 T15
¢ 32 ZOHX3207 170 M8X25TT T30S
XPHT30R1506 WDz208 TL60 M5X12 T20 ) ) )
FH: METFEWSERMEEAREIIF . Note:The insert is Zccct brand.
XPHT32R1606 WD208 TL60 M5X12 T20
_ _ * 71EHgRS
EH: METREWNSEHRMNEARIETIF .  Note:The insert is Zccct brand.

Type HZA R~ (mm) Dimension

e R T N
12 12 125 35 6

* 71E MBS Type

RB03.12212.012.M z 1 0.1
EZARR~F(mm) Dimension Weight 612 RB03.12212.012.L 12 12 150 45 6 z 1 0.1
2= (kg)

RB03.12Z16.012.M 12 16 125 50 6 z 1 0.2

RB02.20MT3.020.M - RB03.12216.012.L 12 16 150 70 6 z 1 0.2
RB02.20MT3.020.L 20 3 186 100 20 2 0.4 RB03.16216.016.M 16 16 150 40 8 z 1 0.2
RB02.25MT3.025.M 25 3 156 70 25 2 0.4 616 RB03.16216.016.L 16 16 180 55 8 z 1 0.3
RB02.25MT3.025.L 25 3 186 100 25 2 0.4 RB03.16220.016.M 16 20 150 60 8 z 1 0.3
RB02.30MT4.030.M 30 4 189 70 30 2 0.8 RB03.16220.016.L 16 20 180 80 8 7 1 03
RB02.30MT4.030.L 30 4 229 120 30 2 1.0 RB03.20Z20.020.M 20 20 180 65 10 7 1 04
RB02.32MT4.032.M 32 4 179 70 32 2 0.9 ” RB03.20220.020.L 20 20 250 100 10 z 1 0.6
RE02.32MT4.032.1 32 4 209 100 32 2 0.9 ‘ RB03.20225.020.M 20 25 180 75 10 z 1 06
RB03.20Z25.020.L 20 25 200 95 10 z 1 08

THREKEFBREHBE K ¥I151E%Mwww.hnsant.com THREGEFBEREHE] X ¥Ei1EEMMEwww.hnsant.com



#HIJ7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

1R T] € @ © ona ikl € @ ono
RB04

EZARR~F(mm) Dimension Adapter

0

RB03.25225.025.M 25 25 200 70 12.5 z 1 0.7 L

225 RB03.25225.025.L 25 25 250 100 12.5 z 1 0.9
RB03.25232.025.M 25 32 200 90 12.5 z 1 1.0 90 s s
RB03.25232.025.L 25 32 250 110 12.5 z 1 1.3 op
RB03.30Z32.030.M 30 32 250 80 15 z 1 1.2

e30 RB03.30Z32.030.L 30 32 300 110 15 z 1 1.5

w RB03.32Z32.032.M 32 32 250 80 16 z 1 1.4
’ RB03.32Z32.032.L 32 32 300 110 16 z 1 1.7

* 7B K4 Spare

T1 K Insert T1 K Insert 71 8247 Insert Screw #R=F Wrench

{

ZNMT1804100-C ZNMT2004100-S TL60 M3X7 T10
ZNMT2205125-C ZNMT2305125-S TL60 M4X10 T15
ZNMT2706150-C ZNMT2806150-S TL60 M4X10/TL60M5X12 T15/T20

FH: BENREZWSEERMBEII R Note:The insert is Sumitomo brand.

* J1E KBS Type

Type E 7 R~F(mm) Dimension
= oo | oo | L | L ®
20 25 140 60 20

RB04.20Z25.020.S

RB04.20Z25.020.M 20 25 200 60 20 z 2 0.5
RB04.20Z25.020.L 20 25 250 80 20 z 2 0.7
RB04.25Z32.025.S 25 32 150 70 23 z 2 0.6
RB04.25Z32.025.M 25 32 220 75 23 z 2 0.8
RB04.25232.025.L 25 32 300 100 23 z 2 1.0
RB04.30Z32.030.S 30 32 160 80 28 z 2 0.9
RB04.30Z32.030.M 30 32 240 85 28 z 2 1.2
RB04.30Z32.030.L 30 32 350 120 28 z 2 1.8

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com




#:4/7JE | MILLING TOOLS §AHI §AHI #:4I7JE | MILLING TOOLS
ZENNBENA o OwD ZEENNHENA P Owd

PTO1 PTO1

* 71ELMi¥ Spa
* 71EBLHi¥F Spa J1F Insert 7] 4247 Insert Screw #F Wrench

T1H Insert T1 R #24%T Insert Screw " =F Wrench

MPHT060304-DM TL60 M2.5X6.5 TO8T
MPHT080305-DM TL60M3X7 T10T
MPHT060304-DM TL60M2.5X6.5 Tos
MPHT120408-DM TL60 M5X11 T20T
MPHT080305-DM TL60M3X7 T10
MPHT120408-DM TL60M5X11 T20 FH: RETRBWNSEZHMNEEAREIIF . Note:The insert is Zccct brand.

EH: RMETHREWNSEZEHRMNEEAREIIF . Note:The insert is Zccet brand. * J1Ai#iERe Type of

Type BARF(mm) Dimension
EZAR R (mm) Dimension o PT01.06J27.080.10.H8 80 4 27 12 8
PT01.06J32.100.14.H8 100 47 32 12 8 14 0.3
MP06
PT01.06W25.021.01.H9 21 25 10 100 32 o ! 02 PT01.06J32.100.14.H10 100 47 32 14 10 14 0.4
PT01.06W25.025.01.H11 25 25 12 100 35 8 1 03 PT01.06040.125.16.H10 125 55 e " 10 16 06
PT01.08W32.032.02.H14 82 32 15 110 45 14 2 05 PT01.08J40.125.12H12 125 55 40 16 12 12 07
PT01.12W32.040.02.H18 40 32 19 125 55 18 2 0.7 MPos PT01.08040.160.14.H12 160 . 2 1 5 14 e
PT01.12W40.050.02.H22 50 40 25 140 65 22 2 12 PT01.12040.160.12.H16 160 62 0 0 16 12 16
PT01.12J40.160.12.H18 160 62 40 24 18 12 19
MP12  PT01.12J40.160.12.H20 160 62 40 26 20 12 2.1
PT01.12J50.200.14.H16 200 72 50 20 16 14 25
PT01.12J50.200.14.H18 200 72 50 24 18 14 29
PT01.12J50.200.14.H20 200 72 50 26 20 14 33

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#:4/7JE | MILLING TOOLS §AHI §AHI #:4I7JE | MILLING TOOLS
ZENNBENA o OwD ZEENNHENA P Owd

PTO1 PTO2

J1 K Insert 71 K 4247 Insert Screw #F Wrench
J1F Insert 71 K 5247 Insert Screw ’

XSEQ1202 191M4X3.2X TO9T
MPHT060304-DM TL60 M2.5X6.5 TO8T

XSEQ1203 191M4X4.2X T15T
MPHT080305-DM TL60M3X7 T10T

XSEQ12T3 191M4X5.1X T15T
MPHT120408-DM TL60 M5X10 T20T

XSEQ1204 191M4X6.3X T15T

R BETREWNSERMNSEAREIIF . Note:The insert is Zccct brand.
191M4X6.3X T15T

XSEQ12T4
* 71EHHEBIS Type of
A BETRBWSEZEHRMNEEA MBI F . Note:The Insert Is Zccct brand.
HARS(mMm) Dimension Adapter i
gj‘_‘é * JIEHHEEE Type of
2 T!

PT01.06A22.080.10.H8 80 45 22 40 8 21 10 A 0.4 EHARRSH(mm) Dimension o Weight
mpos PT01.06B27.100.14.H8 100 55 27 40 8 24 14 B 0.6
PT01.06B27.100.14.H10 100 55 27 40 10 24 14 B 07 PT02.12J27.100.10.H4 100 40.7 27 12 4 10 0.2
PT01.06B32.125.16.H10 125 65 32 45 10 33 16 B 1.1 02 PT02.12440.125.12.H4 125 50.5 40 12 4 12 0.3
PT01.08B32.125.12.H12 125 65 32 45 12 33 12 B 1.4 PT02.12J40.160.16.H4 160 66.7 40 12 4 16 0.5
MPO8  p101.08B40.160.14.H12 160 80 40 45 12 45 14 B 19 PT02.12J27.100.10.H5 100 45 27 12 5 10 0.2
PT01.08C40.200.18.H12 200 92 40 50 12 53 18 c - %3 pr02.12440.125.12.H5 125 58 40 12 5 12 0.3
PT01.12B32.125.10.H16 125 65 32 50 16 30 10 B 2.3 PT02.12J40.160.16.H5 160 68 40 12 5 16 0.6
PT01.12B40.160.12.H16 160 80 40 60 16 45 12 B 23 PT02.12J27.100.10.H6 100 45 27 12 6 10 03
P PT01.12B40.160.12.H18 160 80 40 60 18 45 12 B 2.4 s PT02.12J40.125.12.H6 125 58 40 12 6 12 0.4
PT01.12C40.200.14.H16 200 92 40 50 16 53 14 c 26 PT02.12J40.160.16.H6 160 68 40 12 6 16 0.7
PT01.12C40.200.14.H18 200 92 40 50 18 53 14 © 39 PT02.12J50.200.18.H6 200 72 50 12 6 18 1.1
PT01.12C40.200.14.H20 200 92 40 50 20 53 14 c 42 PT02.12J50.250.24.H6 250 72 50 12 6 24 1.7

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HI7JE | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS
=ZEANHE A &7 O ZENNEHETA P Ono

PTO2

PT02.12J27.100.10.H7 100 45 27 12 7 10 03
PT02.12J40.125.12.H7 125 58 40 12 7 12 0.4
% PT02.12440.160.16.H7 160 68 40 12 7 16 08
PT02.12J50.200.18.H7 200 72 50 12 7 18 12
PT02.12J50.250.24.H7 250 72 50 12 7 24 1.9
PT02.12J27.100.10.H8 100 45 27 12 8 10 03
PT02.12J40.125.12.H8 125 58 40 12 8 12 05
T4 PT02.12J40.160.16.H8 160 68 40 12 8 16 0.9
PT02.12J50.200.18.H8 200 72 50 12 8 18 14 TE Insert 7] B 4247 Insert Screw 35 F Wrench
PT02.12J50.250.24.H8 250 72 50 12 8 24 22
XSEQ1202 91M4X3.2X T09T
XSEQ1203 191M4X4.2X T15T
XSEQ12T3 191M4X5.1X T15T
XSEQ1204 191M4X6.3X T15T
XSEQ12T4 191M4X6.3X -

EH: METRFEWNSEHRMEEAREIIF . Note:The insert is Zccct brand.

* 71E##EEIS Type of

HZA R~ (mm) Dimension

PT02.12A22.063.06.H4 63 32 22 40 4 14 A 6 0.2
0z PT02.12A22.080.08.H4 80 40 22 50 4 18 A 8 0.4
PT02.12A27.100.10.H4 100 48 27 50 4 23 A 10 0.6
PT02.12A22.063.06.H5 63 32 22 40 5 14 A 6 0.2
03 PT02.12A22.080.08.H5 80 40 22 50 5 18 A 8 0.4
PT02.12A27.100.10.H5 100 48 27 50 5 23 A 10 0.7
PT02.12A22.063.06.H6 63 32 22 40 6 14 A 6 0.2
PT02.12A22.080.08.H6 80 40 22 50 6 18 A 8 0.4
IS PT02.12A27.100.10.H6 100 48 27 50 6 23 A 10 0.7
PT02.12B40.125.12.H6 125 70 40 50 6 30 B 12 1.0
PT02.12B40.160.16.H6 160 70 40 50 6 41 B 16 1.3

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com

| SANT



#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools

ZHENNHATNE

* 71EMEES Type

04

T4

PT02.12A22.063.06.H7

PT02.12A22.080.08.H7

PT02.12A27.100.10.H7

PT02.12B40.125.12.H7

PT02.12B40.160.16.H7

PT02.12A22.063.06.H8

PT02.12A22.080.08.H8

PT02.12A27.100.10.H8

PT02.12B40.125.12.H8

PT02.12B40.160.16.H8

2
L oo | oo | aa ]
63 32 22

80

100

125

160

63

80

100

125

160

40

48

70

70

32

40

48

70

70

22

27

40

40

22

22

27

40

40

(mm) Dimension

EKHENEN
40 7 14

50

50

50

50

40

50

50

50

50

7

7

7

7

8

8

8

8

8

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

18

23

27

41

14

18

23

27

41

> > >

vs)

#H = 7 A

o Owd

1.1

1.4

0.2

0.5

0.8

1.1

1.5

#tEI7J2 | MILLING TOOLS

Q*‘QW@

#H o= 7 A

ﬁll % ﬁ )J Kr:i45°  chamfer Milling Tools
ACO1

* J1EHi#F Spare

T1H Insert 71 |5 #2847 Insert Screw #%=F Wrench

SPMT120408 TL60 M5X12 T20

R BETRENSEHRMNESEARMEIIF . Note:The insert is Zccct brand.

* 71E MBS Type of

EZAR~(mm) Dimension Adapter| Tooth

B0 | w4 | EEko)
o
AC01.12Z20.012.01 12 20 100 40 pA 1 0.2
ACO01.12W20.012.01 12 20 100 40 w 1 0.2
AC01.12Z25.025.02 25 25 120 40 z 2 0.4
ACO01.12W25.025.02 25 25 120 40 w 2 0.4
AC01.12Z32.032.03 32 32 180 50 z 3 1.0
ACO01.12W32.032.03 32 32 180 50 w 3 1.0

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#tEI7JB | MILLING TOOLS

AI(UEEHITIR Indexable milling tools
@]ﬁﬁﬂ Kr:60°  hamfer Milling Tools

DCO1

B = 1 A

Dt POND

* 7JELMH¥ Spa

J1 K Insert 7] B 8247 Insert Screw # FWrench

SPMT120408 TL60 M5X12 T20

FHH: BETREWNSERMNEAREIIF. Note:The insert is Zcect brand.

* 71B#1EBIS Type of M

EZA R~ (mm) Dimension Adapter
tz-Jm|
DC01.12Z20.012.01 12 20 100 40 z
DCO01.12W20.012.01 12 20 100 40 W 1 0.2
DC01.12Z25.025.02 25 25 120 40 4 2 0.4
DCO01.12W25.025.02 25 25 120 40 w 2 0.4
DC01.12Z232.032.02 32 32 180 50 z 2 1.0
DCO01.12W32.032.02 32 32 180 50 w 2 1.0

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

#tEI7J2 | MILLING TOOLS

St POMD

#H o= 7 A

ﬁll ﬁ %i )J Kr:30° ¢ amier Milling Tools
ZCO1

* 71ELHH¥ Spa

T1 K Insert 71 K #24T Insert Screw #F Wrench

SPMT120408 TL60 M5X12 T20

EH: METFEWNSEHRMESAREIIF . Note:The insert is Zccct brand.

* 71E#EES Type

EHZAR~F(mm) Dimension Adapter| Tooth
#0 HE | EEke)

ZC01.12Z20.012.01 12 20 100 40 z 1 02
ZC01.12W20.012.01 12 20 100 40 w 1 0.2
ZC01.12225.025.02 25 25 120 40 Z 2 0.4
ZC01.12W25.025.02 25 25 120 40 W 2 0.4
ZC01.12Z32.032.03 32 32 180 50 z 3 1.0
ZC01.12W32.032.03 32 32 180 50 W 3 1.0

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com

= | SANT



#HIJ7J&2 | MILLING TOOLS §AHI §AHI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

AN A v J Vo RKta R e vOeY P ovo
XKO1 XKO1

Ll

@D
@Jd

* 71 B4 Spar * 71EHiF Spa

T1F Insert 71 K 4247 Insert Screw | JE#R 42 £T Clamping Screw E#R Clamp " =F Wrench J1F Insert 71 K 4247 Insert Screw | E#EZET Clamping Screw E#R Clamp " F Wrench
SDMT09T3-DM TL60 M3.5X8 T10/T15 SDMT09T3-DM TL60 M3.5X8 T10T/T15T
L60 M4X10 WD204 L60 M4X10 WD204
SDMT1204-DM TL60 M4X10 T15 SDMT1204-DM TL60 M4X10 T15T
FH: BENRBWSEKRMNEARMIIF.  Note:The insert is Zccct brand. FH: BETNFBWSEZHMNEARMEIIE . Note:The insert is Zccct brand.
* 7B MBS Type of Milli * 71E#MHEBIS Type of
Type EHZAR~F(mm) Dimension HZAR~F(mm) Dimension 2 e
P K# | E=(ko)
| oo | o | L | U
XK01.09Z25.025.02 25 25 140 60 XK01.09A22.050.04 50 40 22 40 A 4 0.3
XK01.09Z32.032.03 32 32 150 70 z 3 0.8 XK01.09A22.063.06 63 50 22 50 A 6 0.5
XK01.09Z32.035.03 35 32 150 50 Z 3 0.8 XK01.09A27.063.06 63 50 27 50 A 6 0.6
XK01.12Z32.032.02 32 32 150 70 Zz 2 0.8 XK01.12A22.063.05 63 50 22 50 A 5 0.5
XK01.12Z32.040.03 40 32 150 50 Z 3 1.3 XK01.12A27.063.05 63 50 27 50 A 5 0.6
XK01.12A27.080.05 80 60 27 50 A 5! 0.9
XK01.12B32.100.06 100 70 32 50 B 6 1.8

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AIEAUHHITIAR Indexable milling tools Indexable milling tools AJ#&{UsEHITIE

AN A v J Vo Kita A e vOeY P ovo
XKo02

HZA R~ (mm) Dimension W:ght
B&(kg)

XK02.06Z232.040.03.M 40 32 200 50 A 3 1.5

L WPO06
L1 XKO02.06Z32.040.03.L 40 32 300 50 Z 3 1.8
= XKO02.08Z32.040.02.S 40 32 150 50 z 2 0.9

=) °

QU S8 WP08 XK02.08Z32.040.02.M 40 32 200 50 z 2 1.5
XK02.08Z32.040.02.L 40 32 300 50 Z 2 1.9
XKO02.09Z32.050.02.S 50 32 150 50 Z 2 1.9

WPO09
XK02.09Z232.050.02.M 50 32 200 50 Z 2 2.5

* 71ELHi{+ Spare |

J15 Insert 71 B 4247 Insert Screw | JE#R#2£T Clamping Screw JEHR Clamp R F Wrench
WPGT050315ZSR TL60 M3.5X8 T10
WPGT060415ZSR TL60M4X10 T5
WPGT080615ZSR

TL60 M4X10 L60 M5X12 WD208 T20
WPGT090725ZSR

FH: BETNABWSEHRMNEAREIIR,  Note:The insert is Zccct brand.

* 71E#1#& B2 Type of Milling

BEA R~ (mm) pimension

XK02.05220.020.02.S

WPO5  ¥K02.05220.020.02.M 20 20 180 100 z 2 0.3
XK02.05220.020.02.L 20 20 250 130 z 2 0.8
XK02.06225.025.02.S 25 25 140 60 z 2 0.4
XK02.06225.025.02.M 25 25 200 120 z 2 06
XK02.06225.025.02.L 25 25 300 180 z 2 10

WP06 ' xK02.06232.032.03.5 32 32 150 70 z 3 0.8
XK02.06Z32.032.03.M 32 32 200 120 z 3 10
XK02.06232.032.03.L 32 32 300 180 z 3 16
XK02.06232.040.03.S 40 32 150 50 z 3 0.9

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com

| SANT



#HIJ7J&2 | MILLING TOOLS §AHI §AUI #HI7JE | MILLING TOOLS

AIEAUHHEITIR Indexable milling tools Indexable milling tools AJ3&{UsEHITIE

AN A v J Vo Kita A e vOeY P ovo
XKO02 XKO03

L1

@D
@d

* 71 ELHi4 Spare
J1 5 Insert 71 B 4247 Insert Screw | FE#REE$TClamping Screw E Clamp #%=F Wrench * 71 ELMi{E Spare
&l J1 K Insert TIHY2%T Insert Screw #F Wrench

WPGT060415ZSR TL60 M4X10 T15T 1@\ (>
WPGTO080615ZSR

TL60 M5X12 TL60 M5X12 WD208 T20T WNMX09T316ZNN-MM TL60 M3X7 T10
WPGTO090725ZSR

FH: RENRBZBNSZREFRMEIIF, Note:Theinsertis Korloy brand.

FH: BENRBEWSERMEAREIIF.  Note:The insert is Zccct brand.

* 71E#iEEIS Type of Milli

* 71E BB S Type

HZA R~ (mm) Dimension

AR~ (mm) Dimension

WP06  XK02.06A22.050.04 50 40 22 50
XK02.08A22.050.03 50 40 22 50 XK03.09225.025.02.8 25 % 140 60
XK02.08A22.063.04 o . 25 . XK03.09225.025.02.M 25 25 200 120 z 2 06
XK02.08A27.063.04 63 50 27 50 XK03.09225.025.02.L 25 25 300 180 z 2 10
P08 | K02.0BA27.080.05 . 0 o7 . XK03.09232.032.03.S 32 32 150 70 z 3 08
XK02.08B32.100.06 100 20 4 6 B 5 oo XK03.09232.032.03.M 32 32 200 120 z 3 14
XK02.08B40.125.07 105 80 20 63 B . a5 XK03.09232.032.03.L 32 32 300 180 z 3 17
XK02.08B40.160.08 160 100 40 63 B 8 6.0 XK03.09232.040.04.S 40 32 150 50 z 4 0.9
XK02.09A22.063.03 63 50 22 50 A 3 07 XK03.09232.040.04.M 40 32 200 50 z 4 138
XKO2.09A27.080.04 80 0 07 63 N 4 4 XK03.09232.040.04.L 40 32 300 50 z 4 18
WP09 " Xk02.09B32.100.05 100 70 32 63 B 5 2.1
XK02.09B40.125.06 125 80 40 63 B 6 37
XK02.09B40.160.07 160 100 40 63 B 7 6.3

| INUS

189

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




#HIJ7J&2 | MILLING TOOLS §AUI §AUI #HI7JE | MILLING TOOLS

AIEAUEHITIR Indexable milling tools Indexable milling tools AJ3&{UsEHITIE

Kikp 1R ~ U 6 v @ PREK) % 1E 5L Bt 7] Krooe C PO
XKO03 PHO1

(] : 1}‘
] -4 3
* 71 ELMi{& Spare Y 71EMH& Spare

J1 5 Insert 7] K 4247 Insert Screw 3 F Wrench J1F Insert 171 Side Cutting Insert J1 4247 Insert Screw #HF Wrench

WNMX09T316ZNN-MM TL60 M3X7 T10T APKT150412 SPMT120408 TL60 M5X12 T20

R RENREWNSZERFMZMIIE . Note:Theinsertis Korloy brand. M BETDNFEWNSZ#%IMEEA. Note:The Insert Is Zcect brand.

* 7JE#HEBIS Type of Milling T * 71E RIS Type of M

Type EHZA R~ (mm) Dimension Type AR~ (mm) Dimension
XKO03.09A16.040.04 40 35 16 40 A 4 0.2 PHO01.12W40.040.02.E55 40 40 175 95 55
XK03.09A22.050.05 50 40 22 40 A 5 0.3 PHO01.12W40.050.04.E55 50 40 175 95 55 w 04 1.5
XKO03.09A22.063.06 63 50 22 40 A 6 0.5
XKO03.09A27.080.07 80 60 27 50 A 7 1.1
XK03.09B32.100.08 100 70 32 50 B 8 1.7

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com




#HI7JE | MILLING TOOLS §AuI §AHI #E%%HI7JE | MOLD MILLING TOOLS
o
[ EnT |

. . BAP HAGH#HT]
ﬂgﬁﬁlﬁﬂ oG ( o Q @ BAP right angel shouder end mill

AT
Roughing Finish

PHO1 .
e
hd
]
= i | [
g il
h &, 7 é‘mﬁﬂﬂ
S L] gl Sioot. plunge miling Sloulder milling  Copy milling
- L )

BRI A oSS RF L33

V a

NESER h Applicable inserts Teeth Screw Pressure
Stocked Letms plate
BAP300R-10-130-C10-1T 10 | 10 |130| 30 | - | 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-11-130-C10-1T 11|10 |130| 30 | - | 9 APMT1135PDER 1 TO8 M2.5X5
BAP300R-12-130-C12-1T 12 |12 130 30 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-13-130-C12-1T 13 | 12 130 30 | - | 9 APMT1135PDER 1 To8 M2.5X5
BAP300R-16-130-C16-2T 16 | 16 |130| 40 | - | 9 APMT1135PDER 2 T08 M2.5X5
BAP300R-16-160-C16-2T 16 | 16 |160| 40 | — | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R—16-200-C16-2T 16 | 16 | 200 | 40 | 100 | 9 APMT1135PDER 2 To8 M2.5X5
* T1EBE Sp: BAP300R-17-160-C16-2T 17 | 16 |160| 40 | — | 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-17-200-C16-2T 17 | 16 |200| 40 | — | 9 APMT1135PDER 2 TO8 M2.5X5
BT M) 71 B Side Cutting Insert 71 B 4T Insert Screw 4K Wrench BAP300R-20-130-C20-2T 20 | 20 |130| 40 | - | 9 APMT1135PDER 2 TO8 M2.5X5
. BAP300R-20-160-C20-2T 20 | 20 |160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-20-200-C20-2T 20 | 20 | 200| 50 | 100| 9 APMT1135PDER 2 To8 M2.5X5
BAP300R-21-160-C20-2T 21 | 20 |160| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
APKT150412 SIHMIRIEL 22 TL6O M5X12 T20T BAP300R-21-200-C20-2T 21 | 20 |200| 50 | - | 9 APMT1135PDER 2 T08 M2.5X5
. o BAP300R-25-160-C25-2T 25 | 25 [160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
ER: TTHRA%MNEEBEREIIF . Note:The insert is Zccct brand. BAP300R-25-200-C25-9T o5 | 25 | 200 50 - 9 APMT1135PDER 5 Tos M2.5X5
BAP300R-26-160-C25-2T 26 | 25 |160| 50 | - | 9 APMT1135PDER 2 TO8 M2.5X5
BAP300R-26-200-C25-2T 26 | 25 |200| 50 | - | 9 APMT1135PDER 2 To8 M2.5X5
* 71E RIS Type of BAP400R

BAP400R-25-160-C25-2T 25 | 25 |160| 50 | — | 14 | APMT1604PDER 2 T15 M4X8

Type A;;?:tler Eogt; BAP400R-25-200-C25-2T 25 | 25 [200| 75 | - | 14 | APMT1604PDER 2 T15 M4X8

s ““ Bt = BAP400R-25-250-C25-2T 25 | 25 |250| 50 | - | 14 | APMT1604PDER 2 | T15 M4x8

2 BAP400R-26-160-C25-2T 26 | 25 |160| 40 | - | 14 | APMT1604PDER 2 T15 M4X8

PHO01.12JT50.050.04.084 50 246.75 145 84 JT50 4 BAP400R-26-200-C25-2T 26 | 25 [200| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
PHO1.120T50.063.04.074 - . . 24 TS0 4 55 BAP400R-26-250-C25-2T 26 | 25 [250| 50 | - | 14 | APMT1604PDER 2 T15 M4X8
BAP400R-32-160-C25-2T 32 | 25 |160| 50 | - | 14 | APMT1604PDER 2 T15 M4x8

re0 PHO01.12JT50.063.04.104 63 266.75 165 104 JT50 4 6.0 BAP400R-32-200-C25-2T 32 | 25 |200| 50 | - | 14 | APMT1604PDER 2 T15 M4x8
e AT (R L . 206.75 . 134 TS0 4 - BAP400R-32-160-C32-3T 32 | 32 [160| 50 | - | 14 | APMT1604PDER 3 T15 M4x8
BAP400R-32-200-C32-3T 32 | 32 |200| 80 | - | 14 | APMT1604PDER 3 T15 M4x8

PHO1.124750.080.04.104 80 266.75 165 104 JT50 4 7.0 BAP400R-32-250-C32-3T 32 | 32 |250| 60 | 115| 14 | APMT1604PDER 3 T15 M4x8
PHO01.12JT50.080.04.144 80 306.75 205 144 JT50 4 7.0 BAP400R-32-300-C32-3T 32 | 32 |300| 60 | 165 | 14 APMT1604PDER 3 T15 M4x8
BAP400R-35-160-C32-3T 35 | 32 |160| 50 | - | 14 | APMT1604PDER 3 T15 M4X8

PH01.12BT50.050.04.084 50 246.75 145 84 BT50 4 48 BAP400R-35-200-C32-3T 35 | 32 |200| 60 | — | 14 | APMT1604PDER 3 T15 M4X8
PHO01.12BT50.063.04.074 63 236.75 135 74 BT50 4 55 BAP400R-35-250-C32-3T 35 | 32 | 250 | 60 | - 14 APMT1604PDER 3 T15 M4X8
BAP400R—-35-300-C32-3T 35 | 32 |300| 60 | — | 14 | APMT1604PDER 3 T15 M4X8

PH01.12BT50.063.04.104 63 266.75 165 104 BT50 4 6.0 BAP400R-35-350-C32-3T 35 | 32 |350| 60 | — | 14 | APMT1604PDER 3 T15 M4X8

BT50 PHO1.12BT50.063.04.134 63 296.75 195 134 BT50 4 6.3 BAP400R-35-400-C32-3T 35 | 32 |400]| 60 | - | 14 APMT1604PDER 3 T15 M4X8
BAP400R—-40-200-C32-3T 40 | 32 |200| 60 | - | 14 | APMT1604PDER 3 T15 M4X8

FHOTSBTS0.080:08-104 80 266.75 165 104 BT50 4 7.0 BAP400R-40-250-C32-3T 40 | 32 |250| 60 | - | 14 | APMT1604PDER 3 T15 M4X8
PHO01.12BT50.080.04.144 80 306.75 205 144 BT50 4 7.0 BAP400R-40-300-C32-3T 40 | 32 | 300 | 60 - 14 APMT1604PDER 3 T15 M4X8
BAP400R-40-350-C32-3T 40 | 32 |350| 60 | — | 14 | APMT1604PDER 3 T15 M4X8

BAP400R—-40-400-C32—-3T 40 | 32 |400| 60 | - | 14 | APMT1604PDER 3 T15 M4X8

#iE: BENDRFEWSR=%. %hilsEAEIIA.
THREKEFBERER®B R HHEEMMNEBwww.hnsant.com THREEEFERERB K FHEEMMEBwww.hnsant.com Note: Matching insert we suggest Mitsubishi Zccct brand




HEES%HIJJE | MOLD MILLING TOOLS §Bu1 §Bu1 =EES%HIJJE | MOLD MILLING TOOLS

EMR E&£375%7] EMRW E&37%7] .
EMR round dowel end mill | EMRW round dowel end mill L

Roughing Finish

|

Roughing Finish

] Roughing Finish

[a) ] N | = —

o __'__._—_'___”_ g | - o

Roughing Finish h 4+ .‘ o p ‘

- U &:“ _ rn" 2 i > Sioot. plunge miling siﬂfﬂn Copy milling
sl |

od
od

®D

= oD |od| L | 11| 12| h (A ce Pressure
ESER A j%ci?)fiierts .}ééﬁ V\T/&azh P EMRW-6R-32-160-C25-2T | 32 | 25 | 160 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
Slgz)lcked Letnras ©D | od L1 h - = = rp?fasttére EMRW-6R-32-200-C25-2T | 32 | 25 | 200 | 50 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-12-130-C12-1T | 12 | 12 |130| 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-32-250-C25-2T | 32 | 25 | 250 | 60 | - 6 RPMW/T1204 MO 2 T15 M4X10 | WD-204
EMR-4R-13-130-C12-1T | 13 | 12 | 130 | 40 | - 4 RPMWO0802 MO 1 T10 M3X7 _ EMRW-6R-35-160-C32-3T | 35 | 32 [160| 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-130-C16-2T | 16 | 16 | 130 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-35-200-C32-3T | 35 | 32 | 200| 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-160-C16-2T | 16 | 16 | 160 | 40 _ 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-250-C32-3T | 35 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-16-200-C16=2T | 16 | 16 | 200 | 40 | 100| 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-300-C32-3T | 35 | 32 (300 | 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-160-C16=2T | 17 | 16 | 160 | 40 | - 4 RPMWO0802 MO 2 T10 M3X7 | WD=202 EMRW-6R-35-350-C32-3T | 35 | 32 |350| 60 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-17-200-C16-2T | 17 | 16 |200| 50 | - 4 RPMWO0802 MO P T10 M3X7 | WD-202 EMRW-6R-40-200-C32-3T | 40 | 32 (200 | 50 | - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-160-C20-2T 20 | 20 | 160 | 50 _ 4 RPMWO0802 MO 2 T10 M3X7 WD-202 EMRW-6R-40-250-C32-3T | 40 | 32 | 250 | 60 - 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-20-200-C20-2T | 20 | 20 | 200! 50 | 100| 4 RPMW0802 MO P T10 M3X7 | WD-202 EMRW-6R-40-300-C32-3T | 40 | 32 |300| 60 | — 6 RPMW/T1204 MO 3 T15 M4X10 | WD-204
EMR-4R-21-160-C20-2T | 21 | 20 |160| 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 EMRW-6R-40-350-C32_3T | 40 | 32 /350 60 - | 6 | RPMW/T1204MO 3 115 | M4x10 | WD_204
EMR-4R-21-200-C20-2T | 21 | 20 | 200 | 50 | - | 4 RPMW0802 MO 2 T10 M3X7 | WD-202 &iE: BRETDREWSR=ZEMIIF, Note: Matching insert we suggest Mitsubishi brand
EMR-5R-20-160-C20-2T | 20 | 20 | 160 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 TRS @%ﬁ%n
EMR-5R-20-200-C20-2T | 20 | 20 | 200 | 50 | 100| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 . '
EMR-5R-21-160-C20-2T | 21 | 20 |160| 50 | - | 5 | RPMW1003 MO 2 T15 | M4X10 | WD-204 TRS round dowel end mill .
EMR-5R-21-200-C20-2T | 21 | 20 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-25-160-C20-2T | 25 | 20 |160| 50 | - | 5 | RPMW1003Mo 2 T15 | M4xi0 | wD-204 : -
EMR-5R-25-160-C25-2T | 25 | 25 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 & |
EMR-5R-25-200-C25-2T | 25 | 25 |200| 75 | — 5 RPMW1003 MO 2 T15 M4X10 | WD-204 g - (| I (S— I EERL
EMR-5R-25-250-C25-2T | 25 | 25 | 250 | 60 | 115| 5 RPMW1003 MO 2 T15 M4X10 | WD-204 3 =
EMR-5R-30-160-C25-2T | 30 | 25 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 *1 L, | ﬂ"
EMR-5R-30-200-C25-2T | 30 | 25 | 200 | 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 4 L B | sfﬂfﬂ\ FEnT
EMR-5R-30-250-C25-2T | 30 | 25 | 250 | 60 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-30-300-C25-2T | 30 | 25 |300| 60 | — 5 RPMW1003 MO 2 T15 M4X10 | WD-204
EMR-5R-35-160-C32-2T | 35 | 32 |160| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 it R e £ [ £t 2 3 z
EMR-5R-35-200-C32-2T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 2 T15 M4X10 | WD-204 Az =0 GRS oD | od| L | 11|12 h Applicable inse - z z AU
EMR-5R-35-160-C32-3T | 35 | 32 |160| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 ocked Le plate
EMR-5R-35-200-C32-3T | 35 | 32 |200| 50 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-12-130-C12-1T 12 | 12 |130| 40 | - 4 RDMT0802MO 1 TO8 M3X7
EMR-5R-35-250-C32-3T | 35 | 32 | 250 | 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-16-160-C16-2T 16 | 16 | 160 | 40 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-300-C32-3T | 35 | 32 |300| 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-160-C20-2T 20 | 20 |160| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-350-C32-3T | 35 | 32 |350| 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-4R-20-200-C20-2T 20 | 20 |200| 50 | - 4 RDMT0802MO 2 TO8 M3X7 | WD-202
EMR-5R-35-400-C32-3T | 35 | 32 |400| 60 | - 5 RPMW1003 MO 3 T15 M4X10 | WD-204 TRS-5R
EMR-5R-40-200-C32-4T | 40 | 32 |200| 50 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-160-C25-2T 25 | 25 |160| 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-250-C32-4T | 40 | 32 |250| 60 | - 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-25-200-C25-2T 25 | 25 |200| 75 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-300-C32-4T | 40 | 32 |300| 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-160-C25-2T 30 | 25 |160| 40 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
EMR-5R-40-350-C32-4T | 40 | 32 | 350 | 60 | — 5 RPMW1003 MO 4 T15 M4X10 | WD-204 TRS-5R-30-200-C25-2T 30 | 25 {200 | 50 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
. . . . _ o ) . TRS-5R-30-250-C25-2T 30 | 25 |300| 60 | - 5 RDMT10T3MO 2 T15 M4X10 | WD-204
R MERASRREIREE IR SRR NoterMatehing insertwie suggest Mitsubishi, zecoct brand. TRS-5R-35-160-C32-3T | 35 | 32 (160 | 50 | - | 5 RDMT10T3MO 3 T15 | M4x10 | WD-204
TRS-5R-35-200-C32-3T 35 |32 |200| 50 | - 5 RDMT10T3MO 3 T15 M4X10 | WD-204
TRS-5R-35-250-C32-3T 35 | 32 |250| 60 | — 5 RDMT10T3MO 3 T15 M4X10 | WD-204

&iE: BENREWSRBAILIETIFA. Note: Matching insert we suggest Hitachi brand

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com




RESHIJTIE

BAPEHRGERH®T]

BAP right angle shoulder face mill

MOLD MILLING TOOLS

AI(UEEHITIR Indexable milling tools

e
a

Shot plunge miling Sloulder milling  Copy milling

HamT
Roughing Finish

Roughing Finish

ER R (7S S 25T EHR
TR EE M . oD | od a Applicable inserts Teeth Wrench Screw Pressure
Stocked Letms plate
BAP400R-50-22-4T 50 | 22 | 50 |10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-4T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 4 T15 M4X10 -
BAP400R-63-22-5T 63 | 22 | 50 |{10.4| 6.3 | 14 APMT1604PDER 5 T15 M4X10 -
BAP400R-80-27-6T 80 | 27 | 50 |124| 7 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-100-32-6T 100 | 32 | 50 |14.4| 8 14 APMT1604PDER 6 T15 M4X10 -
BAP400R-125-40-6T 125| 40 | 63 |16.4| 9 14 APMT1604PDER 6 T15 M4X10 -
#iE: BRENRFEWSEBR=%. %iMEAEIIF . Note: Matching insert we suggest Mitsubishi, Zccect brand

EMR E &5

EMR round dowel face mill

AAmT

Roughing Finish

| T
Z “,l =
L oD N smc plunge miling Sloulder milling  Copy milling
Ve e e oD|od| H|W | T]| a Applicable inse : : e
EMR—5R—50-22-4T 50 | 22 | 50 [10.4] 6.3 | 5 RPMW1003MO 4 T15 | M4X10 | WD-204
EMR-5R—63-22-4T 63 | 22 | 50 [10.4]| 6.3 | 5 RPMW1003M0 4 T15 | M4x10 | wp-204
EMR-5R—63-22_5T 63 | 22 | 50 (104 63| 5 RPMW1003M0 5 T15 | M4x10 | wp-204
EMR-5R—80-27-6T 80 | 27 | 50 (124 7 | 5 RPMW1003MO 6 T15 | M4x10 | wp-204
EMR-5R-100-32-6T | 100 | 32 | 50 |14.4| 7 | 5 RPMW1003M0 6 T15 | M4x10 | wp-204

#iE: BETNRBEWSRISOWRETIF . Note: Matching insert we suggest ISO standard brand

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com

B = 71 A

EMRW [E&5H5%7]

EMRW round dowel face mill

REYHITIA

MOLD MILLING TOOLS

Indexable milling tools EJ&&{EEEITIE

< » -ﬂﬁMI
0w Roughing Finish
’fﬁ‘m e
L P |
i T
: [ =2
7 © L
= i &%ﬁ [
Sioot. plunge miling Sloulder milling  Copy milling
< @D »

. =1:‘.-- oD ®d H w T a ApPpP ble e e -.. ‘-
EMRW-6R-50-22-4T 50 | 22 | 50 |{10.4| 6.3 6 RPMW/T1204MO0 4 T15 M4X10 | WD-204
EMRW-6R-63-22-4T 63 | 22 | 50 |{10.4| 6.3 6 RPMW/T1204MO0 4 T15 M4X10 | WD-204
EMRW-6R-63-22-5T 63 | 22 | 50 |{10.4| 6.3 6 RPMW/T1204MO0O 5 T15 M4X10 | WD-204
EMRW-6R-80-27-6T 80 | 27 | 50 |12.4| 7 6 RPMW/T1204MO0O 6 T15 M4X10 | WD-204

EMRW-6R-100-32-6T 100 | 32 | 50 |14.4| 7 6 RPMW/T1204MO0 6 T15 M4X10 | WD-204
it BETNRFEWSB=%IIF, Note: Matching insert we suggest Mitsubishi brand
TRS E&37%%7] ‘
TRS round dowel end mill 2 0d .
. i
7 | :
| T ‘
y Roughing Finish
] = [
/ : J d’i
el
4 »dD . Sloot. plunge miling Slou\dermllllng Copy milling
Ve oD|od| H|W|T | a Applicable ee Pressu
TRS-5R-50-22-4T 50 | 22 | 50 |10.4| 6.3 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-5R-63-22-4T 63 | 22 | 50 ({104, 6.3 | 5 RDMT10T3MO 4 T15 M4X10 | WD-204
TRS-6R-50-22-4T 50 | 22 | 50 {104 6.3 6 RDMT1204M0 4 T15 M4X10 | WD-204
TRS-6R-63-22-4T 63 | 22 | 50 {10.4| 6.3 6 RDMT1204MO0 4 T15 M4X10 | WD-204
TRS-6R-63-22-5T 63 | 22 | 50 {104/ 6.3 | 6 RDMT1204MO0 5 T15 M4X10 | WD-204
TRS-6R-80-27-6T 80 | 27 | 50 |124| 7 6 RDMT1204MO0 6 T15 M4X10 | WD-204
#iE: BENRFBWSRBAIMII R, Matching insert we suggest Hitachi brand
KM-45° 8570 |
KM-45° face mill ‘ -
Roughing Finish
ol
. 70| ﬂ
Sloot. plunge miling Sloulder miling  Copy milling
s e oD | od| H | W | T |obD1| s ce Pressure
KM12-50-22-4T 50 | 22 | 50 |{10.4| 6.3 | 64 SEKT1204[][] 4 T20 M5X11
KM12-63-22-4T 63 | 22 | 50 |10.4| 6.3 | 77 SEKT1204[][] 4 T20 M5X11
KM12-80-27-5T 80 | 27 | 50 (12.4| 7 94 SEKT1204[][] 5 T20 M5X11
KM12-100-32-5T 100 | 32 | 50 |14.4| 8 | 114 SEKTH1 204\:|_D 5 T20 M5X11

THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com

&#iF: BENREZWSR=%. hilsEBETI R,
Note: Matching insert we suggest Mitsubishi, Zcccct brand.



#HI7JE | DRILLING TOOLS §AMI §AHI #hHI7J& | DRILLING TOOLS

UD20/25/30/35/40/50 %74 7.5 %5l

TR
RS
w S
03 3.8
04 4.3
05 5.4 5.0
06 6.5 6.0
07 7.94
1. RABRESMNG, REBLLE, THFEEES 08 8.7
Ej]u fﬂi‘f@?—.o W 09 9.8
1.Using highly-strength special steel and surface strength s 11 115
process, making higher strength and more wear-resistanc: :
S |:| 14 14.3

20,25,30,40,50

KEFLE

TIE R4k YIHI 714K B

Cutting Edge Length

2. ZEEREEXR, HiBEIRG.

2.The space of chip flute is much bigger, the discharge is more

Length-diameter Ratio

3. 2P YIHIFERITHTI R RERE, VIRIERZANS L5
FHAEBR, MHNES, HBEERREALEESE

3.Through the insert install the angle, the insert which'is
balance design, cutting in low vibration, the lathe main a
is low. Cutting efficiency is high. Drilling precision and the
finish are much better.

4 KEERAHRITUERARARTI%, HEHT m m
HE, KEBHRPEAE,
o o o o

4.The series of big diameter U drill can be changed in d
size of toolholder, changed in the drilling diameter. Help th
to cost saving substantially.

5. FEIRME ML FL, WAFEBHREL, FHAEIKCR

5.The new type of double helix internal cooling hole, coolin

lubricating are much better, and can drilling deeper. 1
7] E‘%ﬂ C 7 125~580 w ME= EDE&
Type Of Tools |
RS Bt B

P 11° 12.5mm~58mm E D #it Diameter

Adapter

ub AL J]Fl-ﬁﬁ J]E-E?;

U drill Insert Clearance Angle Diameter

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com




#hHI7JB | DRILLING TOOLS §AUI §Au1 #hHI7J2 | DRILLING TOOLS

FLINTJJE Hole-machining Tools

Hole-machining Tools F i1 TJ]&

Y T EILE T A fy &M Indexable U Drill Inse 7@ 7ﬁ
" Tk EEENARESTNTIESSHS Z AN E
= w s re TR EE(mm) r’e JIEEE(mm)
z 03 38 00 0.79 05 5.96
04 43 TO 0.99 T5 5.95
05 5.4 5.0 01 1.59 06 6.35
- o pe | DAEEM | dEEm BES || JREEM | TEEM EES :
rE TR Rak F | 2Zmm) | 2Fmm) | 2aEmmm) | VT SEmm) | 2Fmm) | 28 mm) 06 6.5 6.0 T1 1.98 T6 6.75
A +0.005 +0.025 +0.025 A +0.005 +0.05£0.13 +0.025 02 2.38 07 7.94
07 7.94 : :
S F +0.005 +0.013 +0.025 F +0.013 +0.05£0.13 +0.025 T2 2,58 09 9.52
C +0.013 +0.025 +0.025 C +0.025 +0.05+0.13 +0.025 08 8.7
+0. +0. +0. +0. +0.05+0. +0. o 03 3.18 T9 9.72
9.8
+0. +0. +0. +0.08+0. +0.05£0. +0.
@ H +0.013 0.013 0.013 H 0.08+0.18| £0.05+0.13 0.13 ” o 13 3.97 11 1111
w E +0.025 +0.025 +0.025 E | £0.08+0.18| +0.05+0.13 +0.025 . 04 4.76 12 12.70
G +0.025 +0.025 +0.13 G | £0.13+£0.38| +0.08+0.25 +0.13 14 14.3
T4 4.96
ERKS nE ETKE (mm )
NREE

wlclvxIoalosl: 2] < Row
MTE s | |

RS | BXTL | EXHEE TR EIE RS | ALFL | EEEEE TR EIE

#e| EAmE |KS| ER® s
Vi LS M2 24X 1 o — |
S v o B R w— NLEMER W7 B R 4 2
A B > 65°
= I H| % B ﬁ R| x BE 3 = 08 re 08
>65° 04 0.4mm R a
c D ¢ g x @ F x X : 08 0.8mm L =
> 65°
g \h,w J - - @ A . % D:D 12 1.2mm N Wi
<65°
w| % ﬁ M| 5 BE
E Fl\ I
25° <65°
T| # BE ﬁ G| % wE @

U =l KE

0| Hfttus BB R EEFR

&
<65°
o| | o ol P =T o
30° ~l-0°

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com




#75I7J2 | DRILLING TOOLS §AUI §AHI #hHI7J2 | DRILLING TOOLS

Hole-machining Tools #,;jiTJ]

] 4% 45 3% 7L 5K NS ] 4% 4 3% 7L 5N L
UuD20 L UubD20 L

LI L2 Ll L2

3
@ o1
@ o2

3
o1
@ o2

UD20.SP05.125.W20 125 20 25 50 26 94 L60M2x 4.3 T06 UD20.SP09.285.W32 285 32 45 60 58 146 L60M3.5x 8 T10
UD20.SP05.130.W20 13.0 20 25 50 26 94 L60M2 x 4.3 T06 UD20.SP09.290.W25 290 25 45 56 58 142 L60M3.5x 8 T10
UD20.SP05.135.W20 135 20 25 50 28 96 SPOICI050204 L60M2x 4.3 T06 UD20.SP09.290.W32 290 32 45 60 58 146 L60M3.5x 8 T10
UD20.SP05.140.W20 140 20 25 50 28 96 L60M2x 4.3 T06 UD20.SP09.295.W32 295 32 55 60 60 151 L60M3.5x 8 T10
UD20.SP05.145.W20 145 20 25 50 30 99 L60M2x 4.3 T06 UD20.SP09.295.W40 295 40 55 70 60 161 L60M3.5x 8 T10
UD20.SP05.150.W20 150 20 25 50 30 99 L60M2x4.3 T06 UD20.SP09.300.W32 30.0 32 55 60 60 151 L60M3.5x 8 T10
UD20.SP06.155.W25 1565 25 32 56 32 108 L60M2.2x5.5 T07 UD20.SP09.300.W40 300 40 55 70 60 161 L60M3.5x 8 T10
UD20.SP06.160.W25  16.0 25 32 56 32 108 L60M2.2x5.5 To7 UD20.SP09.305.W32 305 32 55 60 62 154 L60M3.5x 8 T10
UD20.SP06.165.W25 165 25 32 56 34 110 L60M2.2x5.5 To7 UD20.SP09.305.W40 305 40 55 70 62 164 L60M3.5%8 T10
UD20.SP06.170.W25 _ 17.0 25 | 32 | 56 | 34 | 110 L6OM2.2x5.5 oz UD20.SP09.310.W32 31.0 32 55 60 62 154 SP1[1090408 L60M3.5x8 10
UD20.SP06.175.W25 175 25 32 56 36 113 L60M2.2x5.5 To7 UD20.8P09.310.Wa0 310! 40 155 70 | 62 64 L60M3.5x8 T10
UD20.SP06.180.W25 18.0 25 32 56 36 113 L60M2.2x5.5 To7 UD20.SP09.315.W32 |315| 32 | 55 | 60 | 64 | 156 L60M3.5 x 8 10
Seasstostsius Tissl os Tt [ssoalvis]  srmoo niagess [ To pmsrestsuie 13 6 % 10 o4 1
UD20.SP06.195.W25 195 25 32 56 40 119 L60M2.2x 5.5 TO7 32::::::::3:::?;2?; 22'8 iz :2 38 2: 122 tggm':iz Eg
UD20.SP06.200.W25 200 25 32 56 40 119 L60M2.2x5.5 To7 : :

UD20.SP06.205.W25 205 25 32 56 42 121 L60M2.2x5.5 T07 UD20.5P09.326.W32 325 32 | 55 ' 60 | 66 | 159 L6OMS.5x8 1o
UD20.SP06.210.W25 210 25 32 56 42 121 L60M2.2x5.5 To7 D0 RO O N L6OM3.5x8 1o
UD20.SP06.215.W25 215 25 32 56 44 123 L60M2.2x 5.5 T07 UD20.8P09.330.W32 33.0| 32 | 55 | 60 | 66 | 159 L60M3.5x8 10
UD20.SP07.220.W25 220 25 32 56 44 123 L60M2.5 x 6.5 T08 UD20.SP09.330.W40  33.0 40 55 70 66 169 CEOMET5ix8 Tio
UD20.SP07.225.W25 225 25 45 56 46 127 L60M2.5x6.5 T08 UD20.SP11.340.W32 340 32 55 60 68 161 L60M4x 10 T15
UD20.SP07.225.W32 225 32 45 60 46 131 L60M2.5x 6.5 To8 UD20.SP11.340.W40 340 40 55 70 68 171 L60M4 x 10 T15
UD20.SP07.230.W25 230 25 45 56 46 127 L60M2.5x6.5 To8 UD20.SP11.350.W32 350 32 55 60 70 164 L60M4 x 10 T15
UD20.SP07.230.W32 230 32 45 60 46 131 L60M2.5% 6.5 Tos UD20.SP11.350.W40 350 40 55 70 70 174 L60M4 % 10 T15
UD20.SP07.235.W25 235 25 45 56 48 130 L60M2.5% 6.5 T08 UD20.SP11.360.W32 36.0 32 55 60 72 167 L60M4 x 10 T15
UD20.SP07.235.W32 235 32 45 60 48 134 L60M2.5x 6.5 T08 UD20.SP11.360.W40 360 40 55 70 72 177 L60M4 x 10 T15
UD20.SP07.240.W25 240 25 45 56 48 130 L60M2.5x 6.5 To8 UD20.SP11.370.W32 37.0 32 55 60 74 170 L60M4 x 10 Ti5
UD20.SP07.240.W32 240 32 45 60 48 134 L60M2.5x6.5 Tos UD20.SP11.370.W40 37.0 40 55 70 74 180 SP11110408 L60M4 x 10 T15
UD20.SP07.245.W25 245 25 45 56 50 133 L60M2.5x6.5 To8 UD20.SP11.380.W32 380 32 55 60 76 173 L60M4 x 10 Ti5
UD20.SP07.245.W32 245 32 45 60 50 137 L60M2.5x6.5 To8 UD20.SP11.380.W40 380 40 55 70 76 183 L60M4 x 10 T15
UD20.SP07.250.W25 250 25 45 56 50 133 SPI[107T308 L60M2.5x6.5 To8 UD20.SP11.390.W32 390 32 55 60 78 175 L60M4 x 10 T15
UD20.SP07.250.W32 25,0 32 45 60 50 137 L60M2.5x 6.5 T08 UD20.SP11.390.W40 39.0 40 55 70 78 185 L60M4 x 10 T15
UD20.SP07.255.W25 26,5 25 45 56 52 135 L60M2.5x 6.5 TO8 UD20.SP11.400.W32 40.0 32 60 60 80 178 L60M4 x 10 T15
UD20.SP07.255.W32 255 32 45 60 52 139 L60M2.5x6.5 T08 UD20.SP11.400.W40 400 40 60 70 80 188 L60M4 x 10 T15
UD20.SP07.260.W25 26.0 25 45 56 52 135 L60M2.5%6.5 TO8 UD20.SP11.410.W40 41.0 40 60 70 82 191 L60M4 x 10 T15
UD20.SP07.265.W25 265 25 45 56 54 137 L60M2.5x6.5 T08 UD20.SP14.430.W40 430 40 60 70 86 196 L60M5x 13 T20
UD20.SP07.265.W32 265 32 45 60 54 141 L60M2.5x6.5 T08 UD20.SP14.440.W40 440 40 60 70 83 198 L60MEx13 =5
Spsosreraretan sl ol Tl masues T o Do sPrass e 0 0w 70 o e
UD26.5P07.276.W26 275 235 | 45 | 26 | 26 | 140 LMo 5o e To8 UD20.SP14.460.W40 460 40 60 70 92 205 SP[1140512 L60M5 x 13 T20
UD20.SP07.275.W32 275 32 45 60 56 144 L60M2.5x6.5 To8 UD20.8P14.470.W40 | 47.0] 40 | 60 | 70 | 94 | 207 LEOMS x 13 720
UD20.SP09.280.W25 280 25 45 56 56 140 L60M3.5x 8 T10 PR s A0 GO s 20 LEOMS > 13 T20
UD20.SP09.280.W32 28.0 32 45 60 56 144 SPCI1090408 L60M3.5x8 10 UD20.SP14.490.W40 490 40 | 60 | 70 | 98 | 212 L6OMS x 13 120
UDZ0.5P05.285.W25 2851 25 45 56 | 58 143 L60M3 5 x8 T10 UD20.SP14.500.W40 50.0 40 60 70 100 215 L60M5 x 13 T20

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com




#hHI7J& | DRILLING TOOLS §AHI §AHI #hEI7J2 | DRILLING TOOLS
Hole-machining Tools F,JiTJ]E

] 4% 45 3% 7L 5K NS ] §% 45 3% 7L 5N
UD30 L UD30

L1 L2

r-—-
3
@ o1
@ o2

* TIELMHEES * TIEMHES
BRI Dimensor BRI Dimensor —
B82S

UD30.SP05.125.W20 125 20 25 50 39 107 L60M2x 4.3 T06 UD30.SP09.280.W25 280 25 45 56 84 168 L60M3.5x 8 T10
UD30.SP05.130.W20 13.0 20 25 50 39 107 L60M2x 4.3 T06 Ubao-::g:-:::-a:: zgg g: :E—, gg 2471 1;? tggmg-gxg Eg
2% 4. UD30. 5 o . 5%

UB30,5P06,140.W20 1600 20| 25 50| 42 | 110 SPLI050204 LooNizns 3 o6 UD30.SPO9.285.W32 255 2 45 56 67 171 L60N3 5 x5 10
UD30.SP09.290.W25 29.0 25 45 56 87 171 L60M3.5x8 T10

UD30.8P0S.145.W20 | 14.5| 20 | 25 | 50 | 45 | 114 LEOM2>4.3 T06 UD30.SP09.290.W32 290 32 45 60 87 175 L60M3.5x 8 T10
UD30.8P0S.150.W20 _|15.0 20 | 25 50 | 45 | 114 L6OM2x 4.3 Tos UD30.SP09.294.W32 294 32 55 60 90 181 L60M3.5x8 T10
UD30.SP06.155.W25 155 25 32 56 48 124 L60M2.2x5.5 T07 UD30.SP09.294.W40 254 40 | 55 | 70 | 90 | 191 L60M3.5x8 T10
UD30.SP06.160.W25 16.0 25 32 56 48 124 L60M2.2x5.5 To07 UD30.SP09.205.W32 295 32 55 60 90 181 L60M3.5 x 8 T10
UD30.SP06.165.W25 165 25 32 56 51 127 L60M2.2x5.5 To7 UD30.SP09.295.W40 295 40 55 70 90 191 L60M3.5x 8 T10
UD30.SP06.170.W25 17.0 25 32 56 51 127 L60M2.2x5.5 TO07 UD30.SP09.300.W32 30,0 32 55 60 90 181 L60M3.5x 8 T10
UD30.SP06.175.W25 175 25 32 56 54 131 L60M2.2x5.5 T07 UD30.SP09.300.W40 300 40 55 70 90 191 SPEICI090408 L60M3.5x 8 T10
UD30.SP06.180.W25 18.0 25 32 56 54 131 L60M2.2x 5.5 T07 UD30.SP09.305.W32 305 32 55 60 93 185 L60M3.5x8 T10
UD30.SP06.185.W25 185 25 32 56 57 134 SEHlaR L60M2.2x 5.5 T07 UD30.SP09.305.W40 305 40 55 70 93 195 L60M3.5x 8 T10
UD30.SP06.190.W25 190 25 32 56 57 134 L60M2.2x5.5 T07 UD30.SP09.310.W32 31.0 32 55 60 93 185 L60M3.5x 8 T10
UD30.SP06.195.W25 19.5 25 32 56 60 139 L60M2.2x5.5 T07 UD30.SP09.310.W40 31.0 40 55 70 93 195 L60M3.5x 8 T10
UD30.SP06.200.W25 20.0 25 32 56 60 139 L60M2.2x5.5 T07 UD30.SP09.315.W32  31.5 32 55 60 96 188 L60M3.5x 8 T10
UD30.SP06.205.W25 205 25 32 56 63 142 TEONB OXE B St UD30.SP09.315.W40 315 40 55 70 96 198 L60M3.5x 8 T10
' SN ’ UD30.SP09.320.W32 320 32 55 60 96 188 L60M3.5x 8 T10
UD30.SP06.209.W25 209 25 32 56 63 142 L60OM2.2x 5.5 TO7 UD30.SP09.320.Wa0 | 32.0| 40 | 55 | 70 | 95 | 198 L60M3.5 8 10
UD30.SP06.210.W25 210 25 32 56 63 142 L60M2.2x 5.5 T07 UD30.SP09.325.W32 325 32 55 60 99 192 L60M3.5 x 8 T10
UD30.SP06.215.W25 215 25 32 56 66 145 L60M2.2x 5.5 To07 UD30.SP09.325.W40 325 40 55 70 99 202 L60M3.5 x 8 T10
UD30.SP07.220.W25 220 25 32 56 66 145 L60M2.5x6.5 T08 UD30.SP09.330.W32 33.0 32 55 60 99 192 L60M3.5x 8 T10
UD30.SP07.225.W25 225 25 45 56 69 150 L60M2.5%6.5 T08 UD30.SP09.330.W40 33.0 40 55 70 99 202 L60M3.5% 8 T10
UD30.SP07.225.W32 225 32 45 60 69 154 L60M2.5% 6.5 T08 UD30.SP11.340.W32 340 32 55 60 102 195 L60M4 x 10 T15
UD30.SP07.230.W25 230 25 45 56 69 150 L60M2.5x 6.5 T08 UD30.SP11.340.W40 340 40 55 70 102 205 L60M4 x 10 T15
UD30.SP07.230.W32 230 32 45 60 69 154 L60M2.5x 6.5 T08 UD30.SP11.350.W32 350 32 55 60 105 199 L60M4 x 10 T15
UD30.SP07.235.W25 235 25 45 56 72 154 L60M2.5% 6.5 T08 UD30.SP11.350.W40 350 40 55 70 105 209 L60M4 % 10 T15
UD30.SP07.235.W32 235 32 45 60 72 158 L60M2.5x 6.5 To8 UD30.SP11.360.W32  36.0 32 55 60 108 203 L60M4x 10 T15
UD30.SP07.239.W25 239 25 32 56 72 154 L60M2.5 x 6.5 To8 UD30.SP11.360.W40  36.0 40 55 70 108 213 L60M4 x 10 5
UD30.SP07.239.W32 239 32 45 60 72 158 L60M2.5x 6.5 T08 SO0 B0 WG TN - S VRS M1 0/ LEONERGIG 15
UD30.SP11.370.W40 37.0 40 55 70 111 217 L60M4 x 10 T15

UD30.SP07.240.W25 240 25 45 56 72 154 L60M2.5% 6.5 TO8 UD30.8P11.375. W32 375 32 | 55 60 132 [ 211 SPLILI1 10408 LG e 6 ==
UD30.SP07.240.W32 240 32 45 60 72 158 L60M2.5% 6.5 T08 UD30.SP11.375.W40 375 40 55 70 114 221 L60M4 x 10 T15
UD30.SP07.245.W25 245 25 45 56 75 158 L60M2.5x 6.5 TO8 UD30.SP11.380.W32 38.0 32 55 60 114 211 L60M4 x 10 T15
UD30.SP07.245.W32 245 32 45 60 75 162 L60M2.5% 6.5 To8 UD30.SP11.380.W40 38.0 40 55 70 114 221 L60M4 x 10 T15
UD30.SP07.250.W25 250 25 45 56 75 158 SP1J07T308 L60M2.5% 6.5 T08 UD30.SP11.390.W32 390 32 55 60 117 214 L60M4 x 10 T15
UD30.SP07.250.W32 250 32 45 60 75 162 L60M2.5% 6.5 T08 UD30.SP11.390.W40 390 40 55 70 117 224 L60M4 x 10 T15
UD30.SP07.255.W25 255 25 45 56 78 161 L60M2.5% 6.5 T08 UD30.SP11.400.W32 400 32 60 60 120 218 L60M4 x 10 T15
UD30.SP07.255.W32 255 32 45 60 78 165 L60M2.5%6.5 T08 UD30.SP11.400.W40 40.0 40 60 70 120 228 L60M4 x 10 T15
UD30.SP07.260.W25 26.0 25 45 56 78 161 L60M2.5% 6.5 To8 UD30.SP11.405.W40 40.5 40 60 70 123 232 L60M4 x 10 T15
UD30.SP07.260.W32 260 32 45 60 78 165 L60M2.5x 6.5 T08 “°3°-5P”-4‘°-W4g 41.0 40 60 70 123 232 tggmgilg Eg
UD30.SP07.264.W25 264 25 45 56 81 164 L6OM2.5 x6.5 Tos UD30.P14.430W40 | 250 40| 60| 70 | 128 230 L6OMS x 13 20
UD30.SP07.264.W32 264 32 45 60 81 168 L60M2.5%6.5 T08 UD30.SP14.440.W40 | 44.0] 40 | 60 | 70 132 T 242 L60MS x 13 T20
UD30.SP07.265.W25 265 25 45 56 81 164 L60M2.5% 6.5 T08 UD30.SP14.450. W40 450 40 60 70 135 247 L60M5 x 13 T20
UD30.SP07.265.W32 265 32 45 60 81 168 L60M2.5% 6.5 T08 UD30.SP14.460.W40 460 40 60 70 138 251 SPII[1140512 L60M5x 13 T20
UD30.SP07.270.W25 27.0 25 45 56 81 164 L60M2.5x 6.5 TO8 UD30.SP14.470.W40 470 40 60 70 141 254 L60M5 % 13 T20
UD30.SP07.270.W32 27.0 32 45 60 81 168 L60M2.5% 6.5 T08 UD30.SP14.480.W40 48.0 40 60 70 144 258 L60M5x 13 T20
UD30.SP07.275.W25 275 25 45 56 84 168 L60M2.5% 6.5 T08 UD30.SP14.490.W40 490 40 60 70 147 261 L60M5 x 13 T20
UD30.SP07.275.W32 275 32 45 60 84 172 L60M2.5% 6.5 T08 UD30.SP14.500.W40 50.0 40 60 70 150 265 L60M5x 13 T20

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com

=T



#75I7J2 | DRILLING TOOLS §AUI §AHI #hHI7J2 | DRILLING TOOLS

Hole-machining Tools #,;jiTJ]

] 4% 45 3% 7L 5K NS ] §% 45 3% 7L 5N N
uD40 L uD40 | L

LI L2 Ll L2

@ o1
@ o2

3
o1
@ o2

Type EARF(mm) pimension Insert Type EAR(mm) pimension Insert =i

UD40.SP05.125.W20 125 20 25 50 52 120 L60M2 x 4.3 TO6 UD40.SP09.285.W32 285 32 45 60 116 204 L60M3.5x 8 T10
UD40.SP05.130.W20 130 20 25 50 52 120 L60M2 x 4.3 To6 UD40.SP09.290.W25 290 25 45 56 116 200 L60M3.5x 8 T10
UD40.SP05.135.W20 135 20 25 50 56 124 SPOIL1050204 L60M2 x 4.3 To6 UD40.SP09.290.W32 290 32 45 60 116 204 L60M3.5x 8 T10
UD40.SP05.140.W20 140 20 25 50 56 124 L60M2x 4.3 T06 UD40.SP09.295.W32 295 32 55 60 120 211 L60M3.5x 8 T10
UD40.SP05.145.W20 145 20 25 50 60 129 L60M2x4.3 T06 UD40.SP09.295.W40 295 40 55 70 120 221 L60M3.5x 8 T10
UD40.SP05.150.W20 150 20 25 50 60 129 L6OM2x 4.3 T06 UD40.SP09.300.W32 30.0 32 55 60 120 211 L60M3.5x 8 T10
UD40.SP06.155.W25 1152525 32 56 64 140 L60M2.2x5.5 TO7 UD40.SP09.300.W40 30.0 40 55 70 120 221 L60M3.5 x 8 T10
UD40.SP06.160.W25 16.0 25 32 56 64 140 L60M2.2x5.5 To7 UD40.SP09.305.W32 305 32 55 60 124 216 L60M3.5x 8 T10
UD40.SP06.165.W25 |16.5| 25 | 32 | 56 | 68 | 144 LE0M2.2x5.5 o7 UD40.SP09.305.W40  30.5 40 55 70 124 226 L60M3.5x8 T10
UD40.SP06.170.W25 170 25 32 56 68 144 L60M2.2x 5.5 107 UD40.SP09.310.W32 310 32 55 60 124 216 SP[1090408 L60M3.5x 8 T10
UD40.SP06.175.W25 17.5 25 32 56 72 149 L60M2.2x5.5 To7 T T T e 000 A Gy | o | | e L p
Undo.epos.issmas [1s] 5| 22 | a6 | 6 | iss e oMo 255 Tor UD40.SP0S.315.W3Z 315 G2 55 60 128 220
UD40.SP06.190.W25 190 25 32 56 76 153 L60M2.2x 5.5 T07 UD40.3P09.315.W40 | 31.5| 40 | 55 | 70 | 128 | 280 LEOMS.5x8 1o
UD40.SP06.195.W25 195 25 32 56 80 159 L60M2.2x5.5 TO7 UD40.8P09.320.W32 _|32.0 32 | 55 60 | 128220 L6OM3.5x8 1o
UD40.SP06.200.W25 200 25 32 56 80 159 L60M2.2x5.5 T07 len LG A BB A es T e PR L6OM3.5x8 LU0
UD40.SP06.205.W25 205 25 32 56 84 163 L60M2.2x 5.5 T07 UD40.SP09.325.W32 325 32 | 55 | 60 | 132 225 L60M3.5x8 T10
UD40.SP06.210.W25 210 25 32 56 84 163 L60M2.2x5.5 T07 UD40.SP09.325.W40 325 40 55 70 132 235 LBOM3.5x 8 T10
UD40.SP06.215.W25 215 25 32 56 88 167 e To7 UD40.SP09.330.W32 330 32 55 60 132 225 L60M3.5x 8 T10
UD40.SP07.220.W25 220 25 32 56 88 167 L60M2.5x 6.5 T08 UD40.SP09.330.W40  33.0 40 55 70 132 235 L60M3.5x8 T10
UD40.SP07.225.W25 205 25 45 56 92 173 L60M2.5x 6.5 T08 UD40.SP11.340.W32 34.0 32 55 60 136 229 L60M4 x 10 T15
UD40.SP07.225.W32 225 32 45 60 92 177 L60M2.5% 6.5 T8 UD40.SP11.340.W40 340 40 55 70 136 239 L60M4 x 10 T15
UD40.SP07.230.W25 230 25 45 56 92 173 L60M2.5x 6.5 T08 UD40.SP11.350.W32 350 32 55 60 140 234 L60M4 x 10 T15
UD40.SP07.230.W32 230 32 45 60 92 177 L60M2.5x 6.5 Tos UD40.SP11.350.W40 350 40 55 70 140 244 L60M4 x 10 T15
UD40.SP07.235.W25 235 25 45 56 96 178 L60M2.5x6.5 To8 UD40.SP11.360.W32 36.0 32 55 60 144 239 L60M4 x 10 Ti5
UD40.SP07.235.W32 235 32 45 60 96 182 L60M2.5x6.5 T08 UD40.SP11.360.W40 36.0 40 55 70 144 249 L60M4 x 10 T15
UD40.SP07.240.W25 240 25 45 56 96 178 L60M2.5x 6.5 To8 UD40.SP11.370.W32 37.0 32 55 60 148 244 L60M4 x 10 Ti5
UD40.SP07.240.W32 240 32 32 60 96 182 L60M2.5x 6.5 Tos UD40.SP11.370.W40 37.0 40 55 70 148 254 SPLI1110408 L60M4 x 10 T15
UD40.SP07.245.W25 245 25 45 56 100 183 L60M2.5x 6.5 T08 UD40.SP11.380.W32 38.0 32 55 60 152 249 L60M4 x 10 T15
UD40.SP07.245.W32 245 32 45 60 100 187 L60M2.5x6.5 TO8 UD40.SP11.380.W40 38.0 40 55 70 152 259 L60M4 x 10 T15
UD40.SP07.250.W25 250 25 45 56 100 183 SP[1[107T308 L60M2.5x6.5 To8 UD40.SP11.390.W32 39.0 32 55 60 156 253 L60M4 x 10 T15
UD40.SP07.250.W32 250 32 45 60 100 187 L60M2.5x6.5 Tos UD40.SP11.390.W40 390 40 55 70 156 263 L60MAx 10 T15
UD40.SP07.255.W25 255 25 45 56 104 187 L60M2.5x6.5 To8 UD40.SP11.400.W32 400 32 60 60 160 258 L60M4 x 10 15
UD40.SP07.255.W32 255 32 45 60 104 191 L60M2.5x6.5 Tos UD40.SP11.400.W40 400 40 60 70 160 268 ST T —
UD40.SP07.260.W25 26.0 25 45 56 104 187 L60M2.5x6.5 T08 UD40.SP11.410.W40  41.0 40 60 70 164 273 L60MAx 10 T15
UD40.SP07.260.W32 26.0 32 45 60 104 191 L60M2.5x6.5 To8 L e D 286 M| 6o | 36 o 57 T st 120
SSenareTsutat ol o 16 e o o ke sxLs o Upansria e 50 0 60 10 e
UD40.SP07.270.W25 27.0 25 45 56 108 191 L60M2.5x 6.5 T08 NG I g0 LEOMS 13 120
UD40.SP07.270.W32 270 32 45 60 108 195 L60M2.5x 6.5 T08 UD40.SP14.450.W40 450 40 60 70 180 292 L6OMSx 13 20
UD40.SP07.275.W25 275 25 45 56 112 196 L60M2.5x 6.5 T08 UD40.SP14.460.W40 _ |46.0] 40 | 60 | 70 | 184 | 207 SPLILI40512 Codblopdls =0
UD40.SP07.275.W32 275 32 45 60 112 200 L60M2.5 x 6.5 To8 UD40.SP14.470.W40 470 40 60 70 188 301 L60M5x 13 120
UD40.SP09.280.W25  28.0 25 45 56 112 196 L60M3.5x8 T10 UD40.SP14.480.W40 480 40 60 70 192 306 L60M5 x 13 T20
UD40.SP09.280.W32 280 32 45 60 112 200 SP[1[1090408 L60M3.5x8 T10 UD40.SP14.490.W40 490 40 60 70 196 310 L60M5 x 13 T20
UD40.SP09.285.W25 285 25 45 56 116 200 L60M3.5 x 8 T10 UD40.SP14.500.W40 50.0 40 60 70 200 315 L60M5x 13 T20

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com




#hHI7J& | DRILLING TOOLS §AuI §AHI #hEI7JE | DRILLING TOOLS
Hole-machining Tools #,;jiTJ]
] 4% 45 3% 7L 5K NS ] §% 45 3% 7L 5N N

UDS5O0 L UDS50 L
o ¥ 2 i L 2

ol
D02

)
@ o1
@2

* T EFHF Spe * J1E B4 Spe
Type BAR(mM) pimension neert _ EAR(mm) pimension Insert

UD50.SP05.125.W20 125 20 25 50 65 133 L60M2x 4.3 UD50.SP09.290.W32 29.0 32 45 60 145 233 L60M3.5X8 T10
UD50.SP05.130.W20 13.0 20 25 50 65 133 L60M2x 4.3 T06 UD50.SP09.295.W32 295 32 55 60 150 241 L60M3.5X8 T10
UD50.SP05.135.W20 135 20 25 50 70 138 SPCICI050204 L60M2x 4.3 T06 UD50.SP09.300.W32 30.0 32 55 60 150 241 L60M3.5X8 T10
UD50.SP05.140.W20 140 20 25 50 70 138 L60M2x 4.3 T06 UD50.SP09.300.W40 30.0 40 55 70 150 251 L60M3.5X8 T10
UD50.SP05.145.W20 145 20 25 50 75 144 L60M2 x 4.3 T06 UD50.SP09.310.W32 31.0 32 55 60 155 247 SPOII090408 L60M3.5X8 T10
UD50.SP05.150.W20 150 20 25 50 75 144 L60M2x 4.3 T06 UD50.SP09.310.W40 31.0 40 55 70 155 257 L60M3.5X8 T10
UD50.SP06.155.W25 155 25 32 56 80 156 L60M2.2x5.5 T07 UD50.SP09.320.W32 320 32 55 60 160 252 L60M3.5X8 T10
UD50.SP06.160.W25 16.0 25 32 56 80 156 L60M2.2x5.5 T07 UD50.SP09.320.W40 32.0 40 55 70 160 262 L60M3.5X8 T10
UD50.SP06.165.W25 165 25 32 56 85 161 L60M2.2x5.5 T07 UD50.SP09.330.W32 330 32 55 60 165 258 L60M3.5X8 T10
UD50.SP06.170.W25 17.0 25 32 56 85 161 L60M2.2x5.5 T07 UD50.SP09.330.W40 33.0 40 55 70 165 268 L60M3.5X8 T10
UD50.SP06.175.W25 175 25 32 56 90 167 L60M2.2x5.5 T07 UD50.SP11.340.W32 340 32 55 60 170 263 L60M4X10 T15
UD50.SP06.180.W25 180 25 32 56 90 167 L60M2.2x5.5 T07 UD50.SP11.340.W40 34.0 40 55 70 170 273 L60M4X10 T15
UD50.SP06.185.W25 185 25 32 56 95 172 SPI[]060204 L60M2.2x5.5 T07 UD50.SP11.350.W32 350 32 55 60 175 269 L60M4X10 T15
UD50.SP06.190.W25 19.0 25 32 56 95 172 L60M2.2x5.5 T07 UD50.SP11.350.W40 350 40 55 70 175 279 L60M4X10 T15
UD50.SP06.195.W25 195 25 32 56 100 179 L60M2.2x5.5 T07 UD50.SP11.360.W32 36.0 32 55 60 180 275 L60M4X10 T15
UD50.SP06.200.W25 20.0 25 32 56 100 179 L60M2.2x5.5 T07 UD50.SP11.360.W40 36.0 40 55 70 180 285 L60M4X10 Ti5
UD50.SP06.205.W25 205 25 32 56 105 184 L60M2.2x5.5 T07 UD50.SP11.370.W32 37.0 32 55 60 185 281 L60M4X10 T15
UD50.SP06.210.W25 21.0 25 32 56 105 184 L60M2.2x5.5 T07 UD50.SP11.370.W40 37.0 40 55 70 185 291 SPJ[1110408 L60M4X10 Ti5
UD50.SP06.215.W25 215 25 32 56 110 189 L60M2.2x5.5 T07 UD50.SP11.380.W32 380 32 55 60 190 287 L60M4X10 T15
UD50.SP07.220.W25 220 25 32 56 110 189 L60M2.5x6.5 T08 UD50.SP11.380.W40 38.0 40 55 70 190 297 L60M4X10 T15
UD50.SP07.225.W32 225 32 45 60 115 200 L60M2.5x 6.5 T08 UD50.SP11.390.W32 39.0 32 55 60 195 292 L60M4X10 T15
UD50.SP07.230.W32 230 32 45 60 115 200 L60M2.5x 6.5 TO8 UD50.SP11.390.W40 39.0 40 55 70 195 302 L60M4X10 Ti5
UD50.SP07.235.W32 235 32 45 60 120 206 L60M2.5x 6.5 T08 UD50.SP11.400.W32 40.0 32 60 60 200 298 L60M4X10 T15
UD50.SP07.240.W32 240 32 45 60 120 206 L60M2.5x6.5 T08 UD50.SP11.400.W40 40.0 40 60 70 200 308 L60M4X10 Ti5
UD50.SP07.245.W32 245 32 45 60 125 212 SPOCI07T308 L60M2.5x 6.5 T08 UD50.SP11.410.W40 41.0 40 60 70 205 314 L60M4X10 T15
UD50.SP07.250.W32 250 32 45 60 125 212 L60M2.5x6.5 T08 UD50.SP14.420.W40 420 40 60 70 210 319 L60M5X13 T20
UD50.SP07.255.W32 255 32 45 60 130 217 L60M2.5x 6.5 TO8 UD50.SP14.430.W40 43.0 40 60 70 215 325 L60M5X13 T20
UD50.SP07.260.W32 26.0 32 45 60 130 217 L60M2.5x 6.5 TO8 UD50.SP14.440.W40 440 40 60 70 220 330 L60M5X13 T20
UD50.SP07.265.W32 265 32 45 60 135 222 L60M2.5x 6.5 TO8 UD50.SP14.450.W40 450 40 60 70 225 337 L60M5X13 T20
UD50.SP07.270.W32 27.0 32 45 60 135 222 L60M2.5x 6.5 T08 UD50.SP14.460.W40 46.0 40 60 70 230 343 SPI[1140512 L60M5X13 T20
UD50.SP07.275.W32 275 32 45 60 140 228 L60M2.5x 6.5 T08 UD50.SP14.470.W40 47.0 40 60 70 235 348 L60M5X13 T20
UD50.SP09.280.W32 280 32 45 60 140 228 SPLIC1090408 L60M3.5x 8 T10 UD50.SP14.480.W40 48.0 40 60 70 240 354 L60M5X13 T20
UD50.SP09.285.W32 285 32 45 60 145 233 L60M3.5x 8 T10 UD50.SP14.490.W40 49.0 40 60 70 245 359 L60M5X13 T20

UD50.SP14.500.W40 50.0 40 60 70 250 365 L60M5X13 T20

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com




£LEI7JE | DRILLING TOOLS

Al §E K L5

uD25

* J1E Mt Spa

Type
NS

EZAR R~ (mm) Dimension

B = 1 A

&1
EIVIMIES

#H o= 7 A

Al §5 L % FL 6
UD35

* J1E M4 Spa

Type
NS

EAR Rt (mm) Dimension

fLE17J82 | DRILLING TOOLS

Hole—machining Tools 0T 7]

&4
S IPIES

UD25.5P07.510.530.W50

UD25.SP07.540.560.W50

UD25.5P09.570.620.W50

UD25.5P09.630.660.W50

UD25.SP11.670.730.W50

UD25.SP12,740.800.W50

51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50

75
75
75
75
7%
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
S
75
75
75
75
75
7%
75
75
75

133
133
133
140
140
140
155
155
155
155
155
155
165
165
165
165
183
183
183
183
183
183
183
200
200
200
200
200
200
200

80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80

250
250 SPLJ[J07T308
250
260
260 SPLI][J07T308
260
281
281
281
081 SP[1[J090408
281
281
295
295
295 SP[J[]090408
295
320
320
320
320 SPLJ[J110408
320
320
320
330
330
330
330 SP[J[J120408
330
330
330

L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x8
L60M3.5x 8
L60M3.5x 8
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10

THREGEFBERLABEHE] X #EIEEMKMIEwww.hnsant.com

UD 07CA.W11
UD 07CA.W12
UD 07CA.W13
UD 07CA.W21
UD 07CA.W22
UD 07CA.W23
UD 09CA.W11
UD 09CA.W12
UD 09CA.W13
UD 09CA.W14
UD 09CA.W15
UD 09CA.W16
UD 09CA.W21
UD 09CA.W22
UD 09CA.W23
UD 09CA.W24
UD 11CA.W11
UD 11CA.W12
UD 11CA.W13
UD 11CA.W14
UD 11CA.W15
UD 11CA.W16
UD 11CA.W17
UD 12CA.W21
UD 12CA.W22
UD 12CA.W23
UD 12CA.W24
UD 12CA.W25
UD 12CA.W26
UD 12CA.W27

UD 07CA.Z1
UD 07CA.Z1
UD 07CA.Z1
UD 07CA.Z2
UD 07CA.Z2
UD 07CA.Z2
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z2
UD 09CA.Z2
UD 09CA.Z2
UD 09CA.Z2
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2

51
UD35.5P07.510.530.W50 52
53
54
UD35.SP07.540.560.W50 55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
UD35.SP11.670.730.W50 70
71
72
73
74
75
76
UD35.SP12.740.800.W50 77
78
79
80

UD35.5P09.570.620.W50

UD35.5P09.630.660.W50

50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50

75
75
75
75
7%
75
75
75
75
75
73
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75

186
186
186
196
196
196
217
217
217
217
217
217
231

231
231
256
256
256
256
256
256
256
280
280
280
280
280
280
280

80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80
80

303
303
303
316
316
316
343
343
343
343
343
343
361
361
361
361
393
393
393
393
393
393
393
410
410
410
410
410
410
410

THRAKEFERERB X #HEEZEMNwww.hnsant.com

SPJJ07T308

SPLI[J07T308

SP[1[J090408

SP[J[J090408

SPJ[]110408

SP[J[]120408

L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M2.5x6.5
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M3.5x 8
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10
L60M4 x 10

UD 07CA.W11
UD 07CA.W12
UD 07CA.W13
UD 07CA.W21
UD 07CA.W22
UD 07CA.W23
UD 09CA.W11
UD 09CA.W12
UD 09CA.W13
UD 09CA.W14
UD 09CA.W15
UD 09CA.W16
UD 09CA.W21
UD 09CA.W22
UD 09CA.W23
UD 09CA.W24
UD 11CA.W11
UD 11CA.W12
UD 11CA.W13
UD 11CA.W14
UD 11CA.W15
UD 11CA.W16
UD 11CA.W17
UD 12CA.W21
UD 12CA.W22
UD 12CA.W23
UD 12CA.W24
UD 12CA.W25
UD 12CA.W26
UD 12CA.W27

UD 07CA.Z1
UD 07CA.Z1
UD 07CA.ZA1
UD 07CA.Z2
UD 07CA.zZ2
UD07CA.Z2
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.Z1
UD 09CA.zZ2
UD 09CA.Z2
UD 09CA.Z2
UD 09CA.Z2
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 11CA.Z1
UD 12CA.Z2
UD 12CA.zZ2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2
UD 12CA.Z2



#hHI7J& | DRILLING TOOLS §BHI §AMI #hHI7J2 | DRILLING TOOLS

A] 8% {1 i% FL ¥4 A] 8% {1 7% 7L &&
i D <

UD30

BEARS(mm) pimension

UD30.WC05.260.W32 26 32 55 83 60 176
s UD30.WC05.270.W32 27 32 55 86 60 180
8 WC05
UD30.WC05.280.W32 28 32 55 89 60 184
UD30.WC05.290.W32 29 32 55 92 60 188
UD30.WC05.300.W32 30 32 55 95 60 192
UD30.WC06.310.W40 31 40 60 98 70 203
* 718 HHE Spa UD30.WC06.320.W40 32 40 60 101 70 206
J1 5 Insert 71 5 24T Insert Screw W =F Wrench UD30.WC06.330.W40 33 40 60 104 70 209
Q & UD30.WC06.340.W40 34 40 60 107 70 212
A .350.W4 40

WCMX030208 L60 M2.5X6.5 T08 WO0s UD30.WC06.350.W40 35 ey 0 0 215
UD30.WC06.360.W40 36 40 60 113 70 218

WCMX040208 L60 M2.5X6.5 To8
UD30.WC06.370.W40 37 40 60 116 70 221

WCMX050308 L60 M3X8 T10
UD30.WC06.380.W40 38 40 60 119 70 225

WCMX06T308 L60 M3.5X8 T15
UD30.WC06.390.W40 39 40 60 122 70 208

WCMX080412 L60 M4X10 T15
UD30.WC06.400.W40 40 40 60 125 70 231
UD30.WC06.410.W40 41 40 60 128 70 234
* 71EMEBS Type of UD03.WC08.420.W40 42 40 60 131 70 239
EAR(MM) Dimension UDO03.WC08.430.W40 43 40 60 134 70 242
UD03.WC08.440.W40 44 40 60 137 70 245
UD30.WC03.160.W25 s o5 . o 56 129 UD03.WC08.450.W40 45 40 60 140 70 248
UD30.WC03.170.W25 - o5 - o 6 133 UD03.WC08.460.W40 46 40 60 143 70 251

WCo3
UD30.WC03.180.W25 18 o5 » o 5 137 UD03.WC08.470.W40 47 40 60 146 70 253
UD30.WC03.190.W25 19 o5 - o 5 140 UD03.WC08.480.W40 48 40 70 149 70 255
UD30.WC03.200.W25 20 o5 - o 5 143 Wcog  UD03.WC08.490.W40 49 40 70 152 70 257
UD30.WC04.210.W25 o o 40 o = 153 UDO03.WC08.500.W40 50 40 70 155 70 259
UD30.WC04.220.W25 - o 40 o = 156 UD03.WC08.510.W40 51 40 70 158 70 261
WCo4
UD30.WC04.230.W25 23 o5 40 5 =% 150 UD03.WC08.520.W40 52 40 70 161 70 263
UD30.WC04.240.W25 ot »s 40 6 = 160 UD03.WC08.530.W40 53 40 70 164 70 265
D03.WC08.540.W4
UD30.WC04.250.W25 25 25 40 79 56 165 UD03.WC08.540.W40 54 40 70 167 70 267
UD03.WC08.550.W40 55 40 70 170 70 269
UD03.WC08.560.W40 56 40 70 173 70 271
UD03.WC08.570.W40 57 40 70 176 70 273
EH: BETNFEWSEHRIMEEA.  Note:The Insert Is Zcect brand.

UD03.WC08.580.W40 58 40 70 179 70 275

THREAKEFEREHREBE X #EHEZEMiwww.hnsant.com THREKEFBELAEHE] X #¥EiEEMMi#Ewww.hnsant.com




£LEI7JE | DRILLING TOOLS §BNI

LI/

Hole-machinin

ERREHLEIEFEIR

ERRESLREESEROLK , SN ERESRIEBEE.
{ERCNCERITIERL S S E PO REET.

CNCERRBERIAYT 2L , 7] RS RR T BB R 4T,
P e R A ERRR | R S A E R .

WARNING

Use the High Speed Dril the best to drain water from the
high pressure center to extending inserts life and good
for removing the metal chips

Using CNC Lathe the cutting center Foint with spindle
center of Machine best to be parallel.

If you need to expand hole when using CNC Lathe,
the outer insert must parallel with the remove angle of
cutter tower.

The inserts have to be checked regularly for wear,and
stop immediately once noise occurred.

SEMOVE 'LOdS "0z

%I VIRl B iR S %

Recommended cutting parameters for u drills

FLZZE Hole.

%EHU‘}?EDriHing depth FlL 43 = Hole tolerance
2XD +0.2/-0.1
3XD ‘ +0.25/-0.1
4XD +0.3/-0.1
5XD ‘ +0.4/-0.1

HEF-hiIHIRE

Recommended dnlling and cutting condition

# IR HE BHESE fn(mm/rev)

Materials (m/min) @12.5-@15 @155@215 @22-@27.5 @28-@33 @34-941 ©D42-@50 @51-@56 O57-066 @67-O73 O74-@80

1RERH ( -0.3%C) | 480550 | 0.05-0.08 | 0.06-0.10 | 0.06-0.12 | 0.07-0.13  0.08-0.15 | 0.08-0.16 | 0.06-0.12 | 0.08-0.12  0.08-0.12  0.08-0.12
Low carbon stes| |
|

%ﬂ?bgg-gzﬁglc‘l 180-220 ‘ 0.08-0.12 ‘ 0.08-0.15 ‘ 0.10-0,18‘ 0.12-0.22‘ 0,12-0.24‘ 0.13-0.25 ‘ 0.10-0.15 ‘ 0.12-0.18 ‘ 0.12:0.18 0.12:0.18

150-220 | 0.06-0.12 | 0.08-0.14 | 0.10-0.18 | 0.12-0.22 | 0.12-0.23 | 0.13-0.24 | 0.08-0.15 | 0.10-0.18 | 0.10-0.18 | 0.10-0.18

‘ 130-180 ‘ 0.06-0.10 ‘ 0.08-0.15 ‘ 0.10-0.20 ‘ 0,12-0,23‘ 0.12-0.24 ‘ 0.13-0.25 ‘ 0.08-0.15 ‘ 0.10-0.15 ‘ 0.10-0.15 %0.10-0.15

ETE 2R
Low alloy steel

EEA IR
High alloy stesl

W 170-240 0.05-0.10 | 0.06-0.12 | 0.08-0.15 0.09-0.16 0.10-0.17 | 0.11-0.19 | 0.06-0.12 | 0.08-0.15 | 0.18-0.15 | 0.08-0.15
Stainless steel

calik ‘ 180-250 ‘ 0.06-0.12 ‘ 0.08-0,16 ‘ 0.12-0,20‘ 0.15-0,25‘ 0,16-0.28‘ 0.18-0.30 ‘ 0.12-0.20 ‘ 0.15-0.22 ‘ 0.15-0.22 10.15-0,22

PREBEEEE 130-200 | 0.06-0.10 | 0.08-0.15 | 0.10-0.18 | 0.12-0.20 | 0.15-0.23 | 0.16-0.25 | 0.10-0.15  0.10-0.20 | 0.10-0.20 |0.10-0.20
MNodular cast iron
Aumpiraaloy | 330-380 | 0.06-0.14 | 0.080.15 | 0.10-0.20 | 0.120.22  0.14-0.23 | 0.15-0.26 | 0.15:0.22 | 0.15:0.25 | 0.16-0.25 0.15:0.25

ax
Titanium alloy

TREGEFERGHA ¥ F1HHEEMSwww hnsant.com

30-60 0.05-0.10 | 0.06-0.14 | 0.08-0.18 | 0.10-0.22 | 0.14-0.23 | 0.15-0.24 | 0.10-0.15 | 0.12-0.16 | 0.12-0.16 |0.12-0.16

SEEERELTINR

Collet chuck arbors

Extension bar

SR IHTRTIN

Power milling chuck arbors

MIE=717%

Side lock end mill chuck

ZIAL]

Shell end mill arbors

BEREEHER

Morse taper with tang

Fors RELECHER

Morse taper without tang

=HE 7%

Tool shank for side_milling cutter

TERSH

Tool system accessories

TEEFRARGER

Tool system technical information

H=R(=)

CONTENTS

P216~P221

P222

P223~P224

P225~P227

P228~P232

P233~P234

P235~P236

P237~P238

P239~P245

P246~P252



TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

WEERILTIR HEERILTIA/IT)

L I
R
-~
| || | || |
MR EHEAEE AT 58 Rt S
= WBRT R o0 L B8 RERFE
‘ JT30-ER16-70H 30 28 70 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.50
JT30-ER16-100H 30 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.61
ER-A ER-UP ER-DM ER-GB JT30-ER25-60H 30 42 60 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 0.51
JT40-ER11-100H 40 19 100 Hi-Q/ER11 ER11-O0A ER11-00UP | ER11-00ODM | ER11-00OGB E11P 1.04
6 ° JT40-ER16-70H 40 28 70 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.07
JT40-ER16-100H 40 | 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 118
ER11 ER25 ER11 ER25 ER11 ER25 ER11 ER25 ] S e e s e
ER16 ER32 ER16 ER32 ER16 ER32 ER16 ER32 JT40-ER16-160H 40 28 160 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 1.36
ER40 ER40 ER40 ER40
| | | JT40-ER20-70H 40 34 70 Hi-Q/ER20 ER20-00A ER20-00UP | ER20-00DM | ER20-00GB E20P 1.07
| JT40-ER20-100H 40 34 100 Hi-Q/ER20 ER20-000A ER20-00UP | ER20-00DM | ER20-00GB E20P 1.17
JT40-ER25-70H 40 42 70 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.15
JT40-ER25-100H 40 42 100 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.40
JT40-ER25-160H 40 42 160 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.55
JT40-ER32-70H 40 50 70 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.17
JT40-ER32-100H 40 | 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 143
JT40-ER32-160H 40 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.81
/=§ JT40-ER40-80H 40 63 80 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 1.41
§%% 1‘ /é\ — i JT40-ER40-100H 40 63 100 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 1.70
\\!‘!&azi . JT40-ER40-160H 40 63 160 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 2.55

ER-AFIER-UP+ & Bk zht iR
« a " * 71ELHHE Sp

DING499/1SO15488

d L From B ER-A ER-UP TR

R e
3060 160 0.015 0.010 0.005

6.0~10.0 25.0

10.0~18.0 | 40.0

180260 500 0.020 0.010 0.005

26.0~34.0 | 60.0 0.025 0.015 0.010

g . ER-AFMER-UP-F M8 X BENEN/NFDING499/ISO15488 ¥ HIFR K

Bk {E!

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ% TOOL SYSTEM §AHI

JEE 23 TJ4 Collet chek arbore

W EERILITIMIT)

EAXR~(mm)  iRERE AU

oD L P S ALt Kt

JT50-ER16-100H 50 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 3.18

JT50-ER16-160H 50 28 160 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 3.47

JT50-ER20-70H 50 34 70 Hi-Q/ER20 ER20-00A ER20-00UP | ER20-00DM | ER20-00GB E20P 3.30

JT50-ER20-100H 50 34 100 Hi-Q/ER20 ER20-000A ER20-00UP | ER20-00DM | ER20-00GB E20P 3.45

JT50-ER32-100H 50 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 3.36

JT50-ER32-160H 50 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 4.25

JT50-ER40-100H 50 63 100 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 3.62

JT50-ER40-160H 50 63 160 Hi-Q/ER40 ER40-00A ER40-00UP | ER40-00DM | ER40-00GB E40 4.20

* 71EHi+ Spa

G NS S WEFE

iye=t : o &F

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§AHI TEZR% | TOOLSYSTEM

Collet chck arbore 38 IZsL TR

W SRS TIWBT)

EAXAR(mm) #oERE IETABH
oD L 35 'ﬂfgz& géﬁit% W+
BT30-ER16-80H 30 28 80 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 0.57
BT30-ER16-100H 30 28 100 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 0.67
BT30-ER20-70H 30 34 70 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 0.57
BT30-ER20-100H 30 34 100 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 0.75
BT30-ER25-60H 30 42 62.5 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 0.57
BT30-ER25-100H 30 42 100 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 0.79
BT40-ER11-100H 40 19 100 Hi-Q/ER11 ER11-00A | ER11-00UP | ER11-00DM | ER11-00GB E11P 1.16
BT40-ER16-70H w0 | -28 70 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.12
BT40-ER16-100H 40 28 100 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.24
BT40-ER16-160H 40 28 160 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1.33
BT40-ER20-70H 40 34 70 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 1.13
BT40-ER20-100H 40 34 100 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 1.22
BT40-ER20-160H 40 34 160 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00DM | ER20-00GB E20P 1.74
BT40-ER25-70H 40 42 70 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-000DM | ER25-00GB E25 1.20
BT40-ER25-100H 40 42 100 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 1.49
BT40-ER25-160H 40 42 160 Hi-Q/ER25 ER25-00A | ER25-00UP | ER25-00DM | ER25-00GB E25 1.54
BT40-ER32-70H 40 50 70 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 1.25
BT40-ER32-100H 40 50 100 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 1.53
BT40-ER32-160H 40 50 160 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00DM | ER32-00GB E32 1.74
BT40-ER40-80H 40 63 80 Hi-Q/ER40 ER40-00A | ER40-00UP | ER40-00DM | ER40-00GB E40 1.46
BT40-ER40-100H 40 63 100 Hi-Q/ER40 ER40-00A | ER40-00UP | ER40-00DM | ER40-00GB E40 1.79
BT40-ER40-160H 40 63 160 Hi-Q/ER40 ER40-00A | ER40-00UP | ER40-00DM | ER40-00GB E40 2.66

* J1E M Spa

HWERTE SRR E M =& WLEFE

B2 S

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com



TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

W E XL TIM(BT) W 38 % X JIM(HSK)

AR (mm) fRERE I P A4 EX R~ (mm) priAlal iR
BREER ML =
@D L 126 = — WL+ s s  BEER PR
[~ EHEIT D L 1 ‘g g I g ~

BT50-ER16-100H 50 28 100 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 3.50

HSK-A40-ER16-80H 28 80 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.35
BT50-ER16-160H 50 28 160 Hi-Q/ER16 ER16-00A | ER16-00UP | ER16-00DM | ER16-00GB E16P 1 e ) ) e el () I

-------- HSK-A40-ER25-80H 42 80 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB [E25 0.51

BT50-ER20-70H 50 34 70 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00ODM | ER20-00GB E20P 3.60
HSK-A50-ER16-100H 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.69

BT50-ER20-100H 50 34 100 Hi-Q/ER20 ER20-00A | ER20-00UP | ER20-00ODM | ER20-00GB E20P BNE
HSK-A50-ER25-80H 42 80 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 068

BT50-ER32-100H 50 50 100 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00ODM | ER32-00GB E32 4.20
HSK-A50-ER32-100H 50 100 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 0.93

BT50-ER32-160H 50 50 160 Hi-Q/ER32 ER32-00A | ER32-00UP | ER32-00ODM | ER32-00GB E32 4.95
HSK-A63-ER11-100H 19 100 Hi-Q/ER11 ER11-0O0A ER11-00UP | ER11-00ODM | ER11-00GB E11P 0.88

BT50-ER40-100H 50 63 100 Hi-Q/ER40 ER40-00A | ER40-00UP | ER40-0ODM | ER40-00GB E40 4.34
HSK-A63-ER16-80H 28 80 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.87

BT50-ER40-160H 50 63 100 Hi-Q/ER40 ER40-O00A | ER40-00UP | ER40-000ODM | ER40-000GB E40 5.15
HSK-A63-ER16-100H 28 100 Hi-Q/ER16 ER16-00A ER16-00UP | ER16-00DM | ER16-00GB E16P 0.96
HSK-A63-ER20-75H 34 75 Hi-Q/ER20 ER20-00A ER20-00UP | ER20-00ODM | ER20-00GB E20P 0.80
HSK-A63-ER25-80H 42 80 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 0.93
HSK-A63-ER25-160H 42 160 Hi-Q/ER25 ER25-00A ER25-00UP | ER25-00DM | ER25-00GB E25 1.37

718K Spa
* a MT# P HSK-A63-ER32-80H 50 80 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.04
r — < o - HSK-A63-ER32-100H 50 100 Hi-Q/ER3; - - - - .

TR B o L B S Yok S 63 32-100 i-Q 2 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.19
M e e M — = HSK-A63-ER32-160H 50 160 Hi-Q/ER32 ER32-00A ER32-00UP | ER32-00DM | ER32-00GB E32 1.53
HSK-A63-ER40-120H 63 120 Hi-Q/ER40 ER40-0O00A ER40-00UP | ER40-0000DM | ER40-000GB E40 1.80
HSK-A63-ER40-160H 63 160 Hi-Q-ER40 ER40-O00A ER40-O00UP | ER40-00DM | ER40-000GB E40 2.26

* J1E M Spa

WEAFE BREREE MR R

Hi &

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

V4
B EKH W 3E D BERLTIM(IT)

@D

D1

Sl

=
)

-

L1 L

IRERE TERIR
125 RF
G16-ER16-60H 28 16 36.5 60 M8x1 Hi-Q/ER16 E16P 0.18
) EHAR~F(mm)
G20-ER16-50H 28 20 30.5 50 M12x1 Hi-Q/ER16 E16P 0.18
D
G20-ER16-100H 28 20 30.5 100 M12x1 Hi-Q/ER16 E16P 0.26 JT40-2C20-110L 110
40
G20-ER25-50H 42 20 47.0 50 M12x1 Hi-Q/ER25 E25 0.33 JT40-ZC20-160L 160
20 58 ZC20L- WZC20-L
G20-ER25-100H 42 20 47.0 100 M12x1 Hi-Q/ER25 E25 0.42 JT50-2C20-110L 50 110
G25-ER25-50H 42 25 47.0 50 M18x1 Hi-Q/ER25 E25 0.37 AL b
JT40-ZC25-110L 110
G25-ER25-100H 42 25 47.0 100 M18x1 Hi-Q/ER25 E25 0.47 40
JT40-ZC25-160L 160
R : N 25 65 ZC25L- WZC25-L
G25-ER32-50H 50 25 54.0 50 M18x1.5 Hi-Q/ER32 E32 0.51 JT50-2C25-110L ) 110
5
JT50-ZC25-160L 160
JT40-ZC32-110L 40 110
JT50-ZC32-110L 110
50 32 73 ZC32L- WZC32-L
JT50-Z2C32-160L 160
JT60-ZC32-130L 60 130
* J1ELHHE Spare JT50-2C40-120L 5 120
JT50-ZC40-160L 40 88 160 ZC40L- WZC40-L
ERgRE = JT60-ZC40-130L 60 130
— - 3
- 3 i — JT50-ZC50-140L 50 140
HifEE : ' ' - - 50 105 ZC50L- WZC50-L
JT60-ZC50-140L 60 140

* 71E M4 Spare
Wi @ f

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

3B HEEFLTIHE Power milling chuck arbors
W 32 hBER L TIHE(BT) W WERTIHJIT)

E A R~F(mm)
D
BT40-ZC20-110L 110
40
BT40-ZC20-160L 160
20 58 ZC20L- WZzC20-L
BT50-ZC20-110L 5 110
BT50-ZC20-160L 160
BT40-ZC25-110L 40 110
BT40-ZC25-160L 160
- 25 65 ZC25L- WZC25-L (GB77-85)
BT50-ZC25-110L 110
BT50-ZC25-160L 50 160 JT30-XP12-50 30 12 42 50 M12x16 WH60L A 0.60
BT40-2C32-110L 40 . . 110 N JT30-XP16-75 30 16 48 75 M14x16 WHBOL A 0.80
BT50-ZC32-110L 110 JT30-XP20-75 30 20 52 75 M16x16 WH80L A 0.98
50 32 73 ZC32L- WzC32-L
BT50-ZC32-160L 160 JT40-XP12-50 40 12 42 50 M12x16 WHB0L A 1.10
BT60-ZC32-130L 60 130 JT40-XP16-63 40 16 48 63 M14x16 WH60L A 1.30
BTS0-zC40-120L 50 120 JT40-XP20-63 40 20 52 63 M16x16 WH80L A 1.30
BT50-ZC40-160L 40 88 160 ZC40L- WZC40-L
JT40-XP25-100 40 25 65 100 M18(x2)x20 WH100L B 2.30
BT60-ZC40-130L 60 130
JT40-XP32-100 40 32 72 100 M20(x2)x20 WH100L B 2.50
BT50-ZC50-140L 50 140 | T S SR S RO
50 105 ZC50L- WzC50-L - .
BT60-2C50-140L 60 140 JT50-XP12-63 50 12 42 63 M12x16 WH60L A 3.00
JT50-XP16-63 50 16 48 63 M14x16 WH60L A 3.00
JT50-XP20-63 50 20 52 63 M16x16 WHS80L A 3.10
JT50-XP25-100 50 25 65 100 M18(x2)x20 WH100L B 4.20
* 71 EHHEF Spa
JT50-XP32-100 50 32 72 100 M20(x2)x20 WH100L B 4.50
JT50-XP40-100 50 40 80 100 M20(x2)x20 WH100L B 4.70
JT60-XP25-100 60 25 65 100 M18x(2)x16 WH100L B 12.76
Bt
JT60-XP32-100 60 32 72 100 M20x(2)x20 WH100L B 12.96
JT60-XP40-115 60 40 80 115 M20x(2)x20 WH100L B 13.88
JT60-XP50-125 60 50 90 125 M24x(2)x20 WH120L B 14.61
JT60-XP63-150 60 63 120 150 M24x(2)x20 WH120L B 19.65

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

MIE X 7I#8 Side lock end mill chuck Side lock end mill chuck MEX T74%

B UE 7I#(BT)

B U E R JI#(HSK)

A7
AR AR ﬁ l : §T S
L
BA! BEY ﬂ JH_ §T 8
FRERE L
AR (mm)
42T wF
a5 é o175 ARt (mm) IERE
RF

BT30-XP12-50 30 12 42 50 M12x16 WH60L A 0.67 HSK-A40-XP12-70 12 2 70 WHAOL A 061
BT30-XP16-75 30 16 48 75 M14x16 WH60L A 0.92 - 16 28 75 WHAOL A 0.64
BT30-XP20-75 30 20 52 75 M16x16 WH80L A 1.07 HSK-A50-XP12-80 1 42 80 WHSOL A 0.9
BT40-XP12-63 40 12 42 63 M12x16 WH60L A 1.30 TS ) 16 28 80 WHSOL A 0.97
BT40-XP16-63 40 16 48 63 M14x16 WH60L A 140 | HSKA50XP2080 """" » | 5 o | WHSOL A B 168
BT40-XP20-63 40 20 52 63 M16x16 WH80L A 140 || HSKA63XP1280 """" I P | T A - as
BT40-XP25-90 40 25 65 2 M18(x2)x20 WH100L B 2.20 HSK-AG63-XP16-80 16 48 80 WHeAL A 129
BT40-XP32-100 40 32 72 100 M20(x2)x20 WH100L B 2.70 S —— 2 o 80 WHeAL A 136
BT50-XP12-80 50 12 42 80 M12x16 WH60L A 4.00 HSK-A63-XP25-110 25 o o WHBAL 5 929
BT50-)SIT_1_6-80 0 16 8 | 8 M14x16 o WHeoL A 400 HSK-A63-XP32-110 32 72 110 WH63L B 2.58
BT50-XP20-80 50 20 52 80 M16x16 WH80L A 4.10

BT50-XP25-100 50 25 65 | 100 M18(x2)x20  WH1ooL B 4.70

BT50-XP25-165 50 25 65 165 M18(x2)x20 WH100L B 495

BT50-XP32-105 50 32 72 105 M20(x2)x20 WH100L B 5.10

BT50-XP32-165 50 32 72 165 M20(x2)x20 WH100L B 6.08

BT50-XP40-125 50 40 80 125 M20(x2)x20 WH100L B 6.45

BT60-XP25-110 60 25 65 110 M18x(2)x16 WH100L B 16.32

BT60-XP32-125 60 32 72 125 M20x(2)x20 WH100L B 15.52

BT60-XP40-125 60 40 80 125 M20x(2)x20 WH100L B 17.44

BT60-XP50-150 60 50 90 150 M24x(2)x20 WH120L B 18.17

BT60-XP63-180 60 63 120 180 M24x(2)x20 WH120L B 23.21

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZR#% | TOOLSYSTEM §AHI

HEXBETIWMIT)

AZY

D1

AR

BE

I
odm

ERE
EA R (mm) 1257G2 124TG3
(GB70-85) (GB70-85)

JT30-XM22-45 30 22 45 45 - 10 LDZ22 - - WH80L CJ10 M4X12 A 1.20

JT30-XM27-60 30 27 60 60 - 12 LDZ27 Dz27 - WH80L CJ12 M4X12 A 1.25

JT40-XM22-75 40 22 45 75 - 10 LDZ22 - - WH80L CJ10 M4X12 A 1.49

JT40-XM27-75 40 27 60 75 - 12 LDZ27 Dz27 - WH100L CJ12 M4X12 A 1.86

JT40-XM32-75 40 32 70 75 - 14 LDZ32 DZz32 - WH100L CJ14 M5X15 A 2.22
WH100L

JT40-XM40-60 40 40 100 60 66.7 16 LDZ40 DZ40 M12x40 CJ16 M5X16 B 2.40
WH170L

- JT50-XM22-75 50 | | 22 ------ 50 75 - 10 LDZ22 - - WHS80L CJ10 M4X12 A 3.30

JT50-XM27-75 50 27 60 75 - 12 LDZz27 Dz27 - WH100L CJ12 M4X12 A 3.66

JT50-XM32-75 50 32 70 75 - 14 LDZ32 DZ32 - WH100L CJ14 M5X15 A 3.84
WH100L

JT50-XM40-75 50 40 100 75 66.7 16 LDZ40 DZ40 M12x40 CJ16 M5X16 B 5.90
WH170L

JT50-XM60-75 50 60 137 75 101.6 | 254 - - M16x45 | WH140L | CJ25.4 M12X25 B 6.10

JT60-XM32-75 60 32 70 75 - 14 LDZ32 DZ32 - WH140L CJ14 M5x15 A 13.19

JT60-XM40-90 60 40 70 90 - 16 LDZ40 DZ40 - WH170L CJ16 M5x20 A 14.70

JT60-XM50-120 60 50 90 120 - 18 LDZ50 - - WH190L CJ18 M6x25 A 14.80
WH170L

JT60-XM40-75 60 40 90 75 66.7 16 LDZ40 Dz40 M12x45 CJ16 M5x15 B 21.80
WH100L

JT60-XM60-75 60 60 140 75 101.6 | 254 - - M16x45 | WH140L | CJ25.4 M12x25 B 21.50

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com

§AHI TEZR% | TOOLSYSTEM

H EXBTIMWMBT)

AZY 8
N @,
tla| SElE el
BE! >

IRERE
B 12£TG2 12$TG3
(GB70-85) (GB70-85)
BT30-XM27-45 30 | 27 | 60 45 = 12 | LDZ27 | Dz27 = WH100L | CJ12 | M4X12 | A | 1.40
BT40-XM22-75 40 | 22 | 50 75 - 10 | LDZ22 - - WH80L | CJ10 | M4X12 | A | 1.49
BT40-XM27-75 40 27 60 75 - 12 LDz27 Dz27 - WH100L CJ12 M4X12 A 1.86
BT40-XM32-75 40 32 70 75 - 14 LDZ32 DZz32 - WH100L CJ14 M5X15 A 2.22
WH100L
BT40-XM40-50 40 | 40 | 100 | 50 | 66.7 | 16 | LDZ40 | DZ40 | M12x40 CJ16 | M5X16 | B | 2.00
WH170L
BT50-XM22-75 50 | 22 | 50 75 - 10 | LDZ22 - - WH80L | CJ10 | M4X12 | A | 3.30
BT50-XM27-75 50 | 27 | 60 75 = 12 | LDZ27 | DZz27 = WH100L | CJ12 | M4X12 | A | 3.66
BT50-XM32-75 50 | 32 | 70 75 - 14 | LDZ32 | DZz32 - WH100L | CJ14 | M5X15 | A | 3.84
WH100L
BT50-XM40-75 50 | 40 | 100 | 75 | 66.7 | 16 | LDZ40 | DZz40 | M12x40 CJ16 | M5X16 | B | 5.36
WH170L
BT50-XM60-75 50 | 60 | 137 | 75 |101.6| 254 - - M16x45 | WH140L | CJ25.4 | M12X25 | B | 8.60
BT60-XM32-75 60 | 32 | 70 75 - 14 | LDZ32 | DZzZ32 - WH140L | CJ14 M5x15 | A | 16.75
BT60-XM40-90 60 | 40 | 70 90 - 16 | LDZ40 | DZz40 - WH170L | CJ16 M5x20 | A | 18.27
BT60-XM50-120 60 | 50 | 90 | 120 - 18 | LDZ50 = = WH190L | CJ18 M6x25 | A | 18.36
WH170L
BT60-XM40-75 60 40 90 75 66.7 16 LDz40 Dz40 M12x45 CJ16 M5x16 B 25.36
WH100L
BT60-XM60-75 60 60 140 75 101.6 | 25.4 - - M16x45 | WH140L | CJ25.4 | M12x25 B 25.06

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

ERETI# Shell end mill arbors Shell end mill arbors EXEt IR

B kB EXEDHRIT) H kB EXETI#H(BT)

[©)

G3

Q

G3

~

\‘

D1

odm EIL
D1

gdm

IRERE =
AR~ (mm) e HAERE
= (GB70-85) £ R~ (mm) 12$7G3
(GB70-85)
JT40-XM22-120 40 22 45 120 10 LDZz22 WH80L CJ10 M4X12 2.30
BT40-XM22-120 40 22 50 120 10 LDZ22 WH80L CJ10 M4X12 2.43
JT40-XM22-150 40 22 45 150 10 LDZ22 WHS80L CJ10 M4X12 2.50
BT40-XM22-150 40 22 50 150 10 LDZ22 WHS80L CJ10 M4X12 2.65
JT40-XM22-200 40 22 45 200 10 LDZz22 WH80L CJ10 M4X12 4.35
BT40-XM22-200 40 22 50 200 10 LDZ22 WHS80L CJ10 M4X12 4.50
JT50-XM22-120 50 22 45 120 10 LDZz22 WHB80L CJ10 M4X12 6.35
BT50-XM22-120 50 22 50 120 10 LDZ22 WH80L CJ10 M4X12 6.55
JT50-XM22-150 50 22 45 150 10 LDz22 WHS80L CJ10 M4X12 6.80
BT50-XM22-150 50 22 50 150 10 LDZ22 WH80L CJ10 M4X12 6.90
JT50-XM22-200 50 22 45 200 10 LDZz22 WHS80L CJ10 M4X12 7.45
BT50-XM22-200 50 22 50 200 10 LDZz22 WHS80L CJ10 M4X12 7.55
JT50-XM22-250 50 22 45 250 10 LDZz22 WH80L CJ10 M4X12 7.80
BT50-XM22-250 50 22 50 250 10 LDz22 WHS80L CJ10 M4X12 8.15
BT50-XM32-200 50 32 70 200 14 LDZ32 WH100L CJ14 M5X15 7.85

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

EA#EJTIH#E Shell end mill arbors Morse taper with tang 5 E 2 K44

B 1 (S K B HRRERERUT)

AR L
AR | 4 a
£
T
Q
J
gm M r|| el 5 BE. | L
N4 Jd I IS
) BE - L= —EE%—;@
£
o
Q

TENIEHR TR M 44
gdm RE IR R EAR R~ (mm)
$hLER
HSK-A40-XM22-50 22 40 50 FDS22 0.61
HSK-A50-XM22-50 22 40 50 FDS22 0.73 JT40-M1-50 40 MT1 3-14 25 12.065 50 A 0.90
HSK-A50-XM27-65 7 48 65 FDS27 103 JT40-M1-120 40 MT1 3-14 25 12.065 120 B 1.20
JT40-M2-50 40 MT2 14-23 32 17.78 50 A 0.90
HSK-A50-XM32-65 32 58 65 FDS32 1.22
JT40-M2-120 40 MT2 14-23 32 17.78 120 B 1.60
HSK-A63-XM22-60 22 40 60 FDS22 1.08 JT40-M3-70 40 MT3 23-32 40 23.825 70 A 1.10
HSK-A63-XM27-60 27 48 60 FDS27 128 JT40-M3-135 40 MT3 23-32 40 23.825 135 B 2.20
HSK-AB3-XM32-60 32 55 60 FDS32 150 JT40-M4-95 40 MT4 32-50 63 31.267 95 A 1.90
JT40-M4-165 40 MT4 32-50 63 31.267 165 B 2.80
HSK-A63-XM40-70 40 70 70 FDS40 2.15
JT50-M1-45 50 MT1 3-14 25 12.065 45 A 2.70
JT50-M1-120 50 MT1 3-14 25 12.065 120 B 450
JT50-M1-180 50 MT1 3-14 25 12.065 180 B 4.72
JT50-M2-60 50 MT2 14-23 32 17.78 60 A 2.70
JT50-M2-135 50 MT2 14-23 32 17.78 135 B 3.70
* 71 EHiE Spar JT50-M2-180 50 MT2 14-23 32 17.78 180 B 3.96
JT50-M3-65 50 MT3 23-32 40 23.825 65 A 2.80
JT50-M3-150 50 MT3 23-32 40 23.825 150 B 4.30
s JT50-M3-180 50 MT3 23-32 40 23.825 180 B 4.56
. / JT50-M4-95 50 MT4 32-50 48 31.267 95 A 3.10
JT50-M4-180 50 MT4 32-50 48 31.267 180 B 5.40
JT50-M5-105 50 MT5 50-75 63 44.399 105 A 3.20
JT60-M3-190 60 MT3 23-32 190 10.10
40 23.825
JT60-M3-250 60 MT3 23-32 250 10.30
JT60-M4-210 60 MT4 32-50 210 10.60
50 31.267 B
JT60-M4-270 60 MT4 32-50 270 10.80
JT60-M5-240 60 MT5 50-75 240 12.40
--------------------------------- 63 44399 |
JT60-M5-300 60 MT5 50-75 300 13.00
JT60-M6-170 60 MT6 77-100 170 A 12.50
) 63.348
JT60-M6-310 60 MT6 77-100 310 B 15.40

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

HEREZKH#EMBT) B EREZKEMJIT)

L
- WW%
AR Ii ¥ [ __8
€
e}
Q
L
BE! %
BE Y2 g
\ B
€
e}
Q!
IRERE
— AR~ (mm)
PO IVEZES RF
4Z
POIVE S EARR~F(mm) BIEE
=K S 4R (mm)
BT $HELERE !
(mm) (GB70-85) - (GB77-85)
BT40-M1-50 40 MT1 3-14 25 12.065 50 A 1.10 JT40-MW1-50 40 MT1 6-12 25 12.065 50 M6x25 WH50L - 0.90
BT40-M1-120 40 M 314 2 12.065 120 B 120 JT40-MW2-50 40 MT2 14-20 32 17.780 50 M10x25 WH70L s 1.00
BT40-M2-50 40 MT2 14-23 32 17.78 50 A 1.10
e 0 ys ios s 1778 120 5 160 JT40-MW3-70 40 MT3 22-36 40 23.825 70 M12x40 WH80L M6X8 1.10
BT40-M3-70 40 MT3 23-32 40 23.825 70 A 1.20 JT40-MW4-95 40 MT4 32-56 63 31.267 95 M16x45 WH120L M5x6 2.00
BT40-M3-135 40 MT3 23-32 40 23.825 135 B 2.20 JT50-MW1-45 50 MT1 6-12 25 12.065 45 M6x30 WH50L - 2.70
BT40-M4-95 0 1 MT4 : 3250 R - 31267 | % A 210 JT50-MW2-60 50 MT2 14-20 32 17.780 60 M10x45 WHSOL - 2.80
BT40-M4-165 40 MT4 32-50 63 31.267 165 B 2.80
- - MT 22- 4 23.82 - .
e 5 Yo 14 e 12,065 s A 360 JT50-MW3-65 50 3 36 0 3.825 65 M12x40 wHooL |- 2.90
BT50-M1-120 50 MT1 3-14 25 12.065 120 B 450 JT50-MW4-70 50 MT4 32-56 63 31.267 70 M16x40 WH120L 3.40
BT50-M1-180 50 MT1 3-14 25 12.065 180 B 4.72 JT50-MW5-100 50 MT5 40-63 78 44.399 100 M20x50 WH140L M6X10 4.20
BT50-M2-60 S0 MT2 14-23 32 1778 6o A 3.60 JT60-MW3-100 60 MT3 22-36 40 23.825 100 | M12x100 WH100L - 9.70
BT50-M2-135 50 MT2 14-23 32 17.78 135 B 3.70
. 5 ys 1423 s 1778 180 5 396 JT60-MW4-100 60 MT4 32-56 63 31.267 100 M16x85 WH140L 9.87
BT50-M3-65 50 MT3 23-32 40 23.825 65 A 3.60 JT60-MW5-100 60 MT5 40-63 78 44.399 100 M20x55 WH170L M5x12 9.92
BT50-M3-150 50 MT3 23-32 40 23.825 150 B 4.30 JT60-MW6-150 60 MT6 77-100 90 63.348 150 M24x60 WH170L M5x12 12.10
BT50-M3-180 50 MT3 23-32 40 23.825 180 B 456
BT50-M4-95 50 MT4 32-50 48 31.267 95 A 3.80
BT50-M4-180 50 MT4 32-50 48 31.267 180 B 5.40
BT50-M5-105 50 MT5 50-75 63 44.399 105 A 3.80
BT60-M3-190 60 MT3 23-32 190 13.66
40 23.825
BT60-M3-250 60 MT3 23-32 250 13.86
BT60-M4-210 60 MT4 32-50 210 14.16
50 K17 R S — B
BT60-M4-270 60 MT4 32-50 270 14.36
BT60-M5-240 60 MT5 50-75 240 15.96
63 44.399
BT60-M5-300 60 MT5 50-75 300 16.56
BT60-M6-170 60 MT6 77-100 170 A 16.06
90 63.348
BT60-M6-310 60 MT6 77-100 310 B 18.96

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

TREREKH#E Morse taper without tang Tool shank for side milling cutter = 71§k T]#%

B ftimEXKHEWBT) B =E78E7IHMJT)

L
12572
—I:h _g 8 £
A
%/\ - s 1S58
S
92471
L1
L
POPVE-S
( EARRSH(mm)
(GB70-85) (GB77-85) Ly

BT40-MW1-50 40 MT1 6-12 25 12.065 50 M6x25 WH50L - 0.90

JT40-XS27-75 40 40 27 75 130 7 M24X2 7x7x18 |3J1-310-27 2.01
BT40-MW2-50 40 MT2 14-20 32 17.780 50 M10%x25 WH70L - 1.00

JT40-XS27-120 40 40 27 120 175 7 M24X2 7x7x18 |3J1-310-27 2.65
BT40-MW3-70 40 MT3 22-36 40 23.825 70 M12x40 WH80L M6X8 2.00

JT40-XS32-90 40 46 32 90 150 8 M30X2 8x7x20 |3J1-310-32 2.52
BT40-MW4-95 40 MT4 32-56 63 31.267 95 M16x45 WH120L M5x6 2.70

JT50-XS27-90 50 40 27 90 145 7 M24X2 7x7x18 |3J1-310-27 3.93
BT50-MW1-45 50 MT1 6-12 25 12.065 45 M6x30 WH50L - 2.80

JT50-XS27-135 50 40 27 135 190 7 M24X2 7x7x18 |3J1-310-27 4.46
BT50-MW2-60 50 MT2 14-20 32 17.780 60 M10x45 WHS80L - 2.90

JT50-XS32-90 50 46 32 90 150 8 M30X2 8x7x20 |3J1-310-32 &5
BT50-MW3-65 50 MT3 22-36 40 23.825 65 M12x40 WH100L - 3.40

JT50-XS32-135 50 46 32 135 195 8 M30X2 8x7x20 |3J1-310-32 5.57
BT50-MW4-70 50 MT4 32-56 63 31.267 70 M16x40 WH120L 4.20

JT50-XS40-90 50 55 40 90 156 10 M36X3 10x8x20 |3J1-310-40 5.34
BT50-MW5-100 50 MT5 40-63 78 44,399 100 M20x50 WH140L M6X10 9.70

JT50-XS40-135 50 55 40 135 201 10 M36X3 10x8x20 |3J1-310-40 5.66
BT60-MW3-100 60 MT3 22-36 40 23.825 100 M12x100 WH100L - 13.26

JT50-XS50-90 50 68 50 90 175 12 M42X3 12x8x32 |3J1-310-50 6.10
BT60-MW4-100 60 MT4 32-56 63 31.267 100 M16x85 WH140L 13.43

JT50-XS50-135 50 68 50 135 220 12 M42X3 12x8x32 |3J1-310-50 6.55
BT60-MW5-100 60 MT5 40-63 78 44.399 100 M20x55 WH170L M5x12 13.48

JT60-XS40-135 60 55) 40 135 201 10 M36X3 10x8%x20 |3J1-310-40 14.69
BT60-MW6-150 60 MT6 77-100 90 63.348 150 M24x60 WH170L M5x12 15.66

JT60-XS50-135 60 68 50 135 220 12 M42X3 12x8x32 |3J1-310-50 14.80

JT60-XS60-135 60 84 60 135 240 14 M56X3 14x9x40 |3J1-310-60 15.42

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

Spring collet &€

=ME7I%tJI#" Tool shank for side milling cutte

B ERFH(FER)
B =m 718 71#(BT) RS

ER11-0O00A ER16-0O00A ER20-O00A ER25-000A
F 3Bl (mm) s FHHEE (mm) S F4HE B (mm) EilR= F 555 Bl (mm) s
M 1.00-0.50 ER11-1A 1.00-0.50 ER16-1A 2.00-1.00 ER20-2A 2.00-1.00 ER25-2A
£
A
m a o 23 2.00-1.50 ER11-2A 2.00-1.00 ER16-2A 3.00-2.00 ER20-3A 3.00-2.00 ER25-3A
S
n z 3.00-2.50 ER11-3A 3.00-2.00 ER16-3A 4.00-3.00 ER20-4A 4.00-3.00 ER25-4A
. 4.00-3.50 ER11-4A 4.00-3.00 ER16-4A 5.00-4.00 ER20-5A 5.00-4.00 ER25-5A
1
L 5.00-4.50 ER11-5A 5.00-4.00 ER16-5A 6.00-5.00 ER20-6A 6.00-5.00 ER25-6A
6.00-5.50 ER11-6A 6.00-5.00 ER16-6A 7.00-6.00 ER20-7A 7.00-6.00 ER25-7TA
EA R (mm) R E 7.00-6.50 ER11-7A 7.00-6.00 ER16-7TA 8.00-7.00 ER20-8A 8.00-7.00 ER25-8A
L1 ] 8.00-7.00 ER16-8A 9.00-8.00 ER20-9A 9.00-8.00 ER25-9A
9.00-8.00 ER16-9A 10.00-9.00 ER20-10A 10.00-9.00 ER25-10A
BT40-XS27-75 40 40 27 75 130 7 M24X2 | 7x7x18 |3J1-310-27| 2.01
10.00-9.00 ER16-10A 11.00-10.00 ER20-11A 11.00-10.00 ER25-11A
5 . 4 4 27 12 17 7 M24X2 | 7x7x1 1-310-27| 2.
AL ) 0 0 0 s X7x18 |3J1-310 65 12.00-11.00 ER20-12A 12.00-11.00 ER25-12A
BT40-XS32-90 40 46 32 90 150 8 M30X2 | 8x7x20 |3J1-310-32| 2.52 e R — F —
BT50-XS27-90 50 40 27 90 145 7 M24X2 7x7x18 3J1-310-27 3.93 14.00-13.00 ER25-14A
BT50-XS27-135 50 40 27 135 190 7 M24X2 | 7x7x18 |3J1-310-27|  4.46 15.00-14.00 ER25-15A
BT50-XS32-90 50 46 32 90 150 8 M30X2 | 8x7x20 |3J1-310-32| 5.51 16.00-15.00 ER25-16A
BT50-XS32-135 50 46 32 135 195 8 M30X2 | 8x7x20 |3J1-310-32| 557 ER32-0000A
BT50-XS40-90 50 55 40 90 156 10 M36X3 | 10x8x20 |3J1-310-40| 5.34 KFFEE (mm) FFSEE (mm) S R FEE (mm) FHTEE (mm)
BT50-XS40-135 5 o 20 135 201 10 M36x3 | 10x8x20 |as1.31040| 566 3.00-2.00 ER32-3A 8.00-7.00 ER32-8A 13.00-12.00 ER32-13A 18.00-17.00 ER32-18A
4.00-3.00 ER32-4A 9.00-8.00 ER32-9A 14.00-13.00 ER32-14A 19.00-18.00 ER32-19A
BT50-XS50-90 50 68 50 90 175 12 M42X3 | 12x8x32 |3J1-310-50|  6.10
5.00-4.00 ER32-5A 10.00-9.00 ER32-10A 15.00-14.00 ER32-15A 20.00-19.00 ER32-20A
BT50-XS50-135 50 68 50 135 220 12 M42X3 | 12x8x32 |3J1-310-50  6.55
6.00-5.00 ER32-6A 11.00-10.00 ER32-11A 16.00-15.00 ER32-16A
BT60-XS40-135 60 55 40 135 201 10 M36X3 | 10x8x20 |3J1-310-40| 18.25
......... 7.00-6.00 ER32-7A 12.00-11.00 ER32-12A 17.00-16.00 ER32-17A
BT60-XS50-135 60 68 50 135 220 12 M42X3 | 12x8x32 |3J1-310-50| 18.36
ER40-0O00A
BT60-XS60-135 60 84 60 135 240 14 M56X3 | 14x9x40 |3J1-310-60| 18.98 o538 (mm) e (mm) me Fe 535 (mm) S35 (mm)
4.00-3.00 ER40-4A 10.00-9.00 ER40-10A 16.00-15.00 ER40-16A 22.00-21.00 ER40-22A
5.00-4.00 ER40-5A 11.00-10.00 ER40-11A 17.00-16.00 ER40-17A 23.00-22.00 ER40-23A
6.00-5.00 ER40-6A 12.00-11.00 ER40-12A 18.00-17.00 ER40-18A 24.00-23.00 ER40-24A
7.00-6.00 ER40-7A 13.00-12.00 ER40-13A 19.00-18.00 ER40-19A 25.00-24.00 ER40-25A
8.00-7.00 ER40-8A 14.00-13.00 ER40-14A 20.00-19.00 ER40-20A 26.00-25.00 ER40-26A
9.00-8.00 ER40-9A 15.00-14.00 ER40-15A 21.00-20.00 ER40-21A

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




B = 71 A B = 71 A

TEZA% | TOOL SYSTEM

Spring collet &€

TEZA% | TOOL SYSTEM

&3 Spring collet

B ERFH(EFER B #l % K R(ER-DM)

ERTRALTIR

ER11-00UP ER16-00UP ER20-00UP ER25-000UP
F 5B Bl (mm) s F 5B Bl (mm) EilR= F 5B El(mm) S F 5B Bl (mm) s
1.00-0.50 ER11-1UP 1.00-0.50 ER16-1UP 2.00-1.00 ER20-2UP 2.00-1.00 ER25-2UP
2.00-1.50 ER11-2UP 2.00-1.00 ER16-2UP 3.00-2.00 ER20-3UP 3.00-2.00 ER25-3UP ER16-00CIDM ER20-0ICIDM ER25-C1C1DM ER32-C1CIDM
3.00-2.50 ER11-3UP 3.00-2.00 ER16-3UP 4.00-3.00 ER20-4UP 4.00-3.00 ER25-4UP Fe45EE (mm) A2 FHEEE (mm) BE Je453E Bl (mm) RS FHSEE (mm) BS
4.00-3.50 ER11-4UP 4.00-3.00 ER16-4UP 5.00-4.00 ER20-5UP 5.00-4.00 ER25-5UP 3.00 h9 ER16-3DM 3.00 h9 ER20-3DM 6.00 h9 ER25-6DM 6.00 h9 ER32-6DM
5.00-4.50 ER11-5UP 5.00-4.00 ER16-5UP 6.00-5.00 ER20-6UP 6.00-5.00 ER25-6UP 4.00 h9 ER16-4DM 4.00 h9 ER20-4DM 8.00-7.50 ER25-8DM 8.00-7.50 ER32-8DM
6.00-5.50 ER11-6UP 6.00-5.00 ER16-6UP 7.00-6.00 ER20-7UP 7.00-6.00 ER25-7UP 5.00-4.50 ER16-5DM 5.00 h9 ER20-5DM 10.00-9.50 ER25-10DM 10.00-9.50 ER32-10DM
7.00-6.50 ER11-7UP 7.00-6.00 ER16-7UP 8.00-7.00 ER20-8UP 8.00-7.00 ER25-8UP 6.00-5.50 ER16-6DM 6.00 h9 ER20-6DM 12.00-11.50 ER25-12DM 12.00-11.50 ER32-12DM
8.00-7.00 ER16-8UP 9.00-8.00 ER20-9UP 9.00-8.00 ER25-9UP 7.00-6.50 ER16-7DM 7.00-6.50 ER20-7DM 14.00-13.50 ER25-14DM 14.00-13.50 ER32-14DM
9.00-8.00 ER16-9UP 10.00-9.00 ER20-10UP 10.00-9.00 ER25-10UP 8.00-7.50 ER16-8DM 8.00-7.50 ER20-8DM 16.00-15.50 ER25-16DM 16.00-15.50 ER32-16DM
10.00-9.00 ER16-10UP 11.00-10.00 ER20-11UP 11.00-10.00 ER25-11UP 9.00-8.50 ER16-9DM 9.00-8.50 ER20-9DM 18.00-17.50 ER32-18DM
12.00-11.00 ER20-12UP 12.00-11.00 ER25-12UP 10.00-9.50 ER16-10DM 10.00-9.50 ER20-10DM 20.00-19.50 ER32-20DM
13.00-12.00 ER20-13UP 13.00-12.00 ER25-13UP 11.00-10.50 ER20-11DM
14.00-13.00 ER25-14UP 12.00-11.50 ER20-12DM
15.00-14.00 ER25-15UP 13.00-12.50 ER20-13DM
16.00-15.00 ER25-16UP
ER32-00UP
FHFEE (mm) B FeHF3EEl (mm) RS KFEE (mm) BS FFHEE (mm)
3.00-2.00 ER32-3UP 8.00-7.00 ER32-8UP 13.00-12.00 ER32-13UP 18.00-17.00 ER32-18UP
4.00-3.00 ER32-4UP 9.00-8.00 ER32-9UP 14.00-13.00 ER32-14UP 19.00-18.00 ER32-19UP
5.00-4.00 ER32-5UP 10.00-9.00 ER32-10UP 15.00-14.00 ER32-15UP 20.00-19.00 ER32-20UP
6.00-5.00 ER32-6UP 11.00-10.00 ER32-11UP 16.00-15.00 ER32-16UP
7.00-6.00 ER32-7UP 12.00-11.00 ER32-12UP 17.00-16.00 ER32-17UP
ER40-O00UP
FHFEE (mm) FHFEE (mm) BE Je#53E Bl (mm) FeH53E Bl (mm)
4.00-3.00 ER40-4UP 10.00-9.00 ER40-10UP 16.00-15.00 ER40-16UP 22.00-21.00 ER40-22UP
5.00-4.00 ER40-5UP 11.00-10.00 ER40-11UP 17.00-16.00 ER40-17UP 23.00-22.00 ER40-23UP
6.00-5.00 ER40-6UP 12.00-11.00 ER40-12UP 18.00-17.00 ER40-18UP 24.00-23.00 ER40-24UP
7.00-6.00 ER40-7UP 13.00-12.00 ER40-13UP 19.00-18.00 ER40-19UP 25.00-24.00 ER40-25UP
8.00-7.00 ER40-8UP 14.00-13.00 ER40-14UP 20.00-19.00 ER40-20UP 26.00-25.00 ER40-26UP
9.00-8.00 ER40-9UP 15.00-14.00 ER40-15UP 21.00-20.00 ER40-21UP

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ% TOOL SYSTEM §AHI

B N4 4k F(ER-GB)

ER16-00GB ER20-0000GB ER25-0000GB
- -
ns %ﬁfffé mres smee  me %‘ﬁ*j{é mone EmEE  BS f ER
(mm) (mm)
ER16-4GB 4.0 3.0 1SO,JIS ER20-4GB 4.0 3.15/3.2 I1SO, JIS ER25-4GB 4.0 3.0 1SO,JIS
ER16-5GB 5.0 4.0 1ISO,JIS ER20-5GB 5.0 4.0 I1SO, JIS ER25-5GB 5.0 4.0 1SO,JIS
ER16-6GB 6.0 4.9 DIN ER20-6GB 6.0 4.5/4.9 JIS/DIN ER25-6GB 6.0 4.9 DIN
ER16-7GB 7.0 (5.5 DIN,JIS ER20-7GB 7.0 5.5 DIN, JIS ER25-7GB 7.0 545 DIN,JIS
ER16-8GB 8.0 6.2/6.3 DIN,ISO ER20-8GB 8.0 6.2/6.3 DIN, JIS ER25-8GB 8.0 6.2/6.3 DIN,ISO
ER16-9GB 9.0 7.0/71 DIN,ISO ER20-9GB 9.0 7.0/71 DIN, ISO | ER25-9GB 9.0 7.0/71 DIN,ISO
ER20-10GB 10 8.0 DIN, ISO | ER25-10GB 10.0 8.0 DIN,ISO
ER20-11GB 11 9.0 DIN ER25-11GB 11.0 9.0 DIN
ER20-12GB 12 9.0 DIN ER25-12GB 12.0 9.0 DIN
ER25-14GB 14.0 11.0/12.0 |DIN,ISO,JIS
ER25-15GB 15.0 12.0 JIS
ER25-16GB 16.0 12.0 DIN
ER32-000GB ER40-000GB
é(iff)/é %ﬁ%ﬁ(%mﬂm) BRI = é(ﬁ*n?)f - m%&ﬁgﬁ(ﬁm) BRI
ER32-4GB 4.0 3.0 1SO,JIS ER40-6GB 6.0 4.9 DIN
ER32-5GB 5.0 4.0 1SO,JIS ER40-7GB 7.0 515 DIN,JIS
ER32-6GB 6.0 4.9 DIN ER40-8GB 8.0 6.2/6.3 DIN,ISO
ER32-7GB 7.0 55 DIN,JIS ER40-9GB 9.0 7.0/71 DIN,ISO
ER32-8GB 8.0 6.2/6.3 DIN,ISO ER40-10GB 10.0 8.0 DIN,ISO
ER32-9GB 9.0 7.0/71 DIN,ISO ER40-11GB 11.0 9.0 DIN
ER32-10GB 10.0 8.0 DIN,ISO ER40-12GB 12.0 9.0 DIN
ER32-11GB 11.0 9.0 DIN ER40-14GB 14.0 11.0/12.0 DIN,ISO,JIS
ER32-12GB 12.0 9.0 DIN ER40-15GB 15.0 12.0 JIS
ER32-14GB 14.0 11.0/11.2 DIN,ISO,JIS ER40-16GB 16.0 12.0 DIN
ER32-15GB 15.0 12.0 JIS ER40-17GB 17.0 13.0 JIS
ER32-16GB 16.0 12.0 DIN ER40-18GB 18.0 14.0/14.5 DIN,ISO
ER32-17GB 17.0 13.0 JIS ER40-20GB 20.0 16.0 DIN,ISO
ER32-18GB 18.0 14.0/14.5 DIN,ISO
ER32-20GB 20.0 16.0 DIN,ISO

iE: ER-GBRIEIZLFZEUUDINGRAEAE, JTERHEMIMARMNLERIMAT R,

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

§nuI TEZR% | TOOLSYSTEM

Spring collet &€

BENBXIAERRE

EH 7R~ (mm) EH AR~ (mm)
D D
ZC20L-4 4 ZC32L-16 16
ZC20L-5 5 ZC32L-18 18
32 36 65
ZC20L-6 6 ZC32L-20 20
ZC20L-8 8 ZC32L-25 25
ZC20L-10 20 10 23 53 ZC40L-6 6
ZC20L-12 12 ZC40L-8 8
ZC20L-14 14 ZC40L-10 10
ZC20L-16 16 ZC40L-12 12
ZC20L-18 18 ZC40L-14 14
40 44 74
ZC25L-4 4 ZC40L-16 16
ZC25L-5 5 ZC40L-18 18
ZC25L-6 6 ZC40L-20 20
ZC25L-8 8 ZC40L-25 25
ZC25L-10 10 ZC40L-32 32
25 28 60
ZC25L-12 12 ZC50L-6 6
ZC25L-14 14 ZC50L-8 8
ZC25L-16 16 ZC50L-10 10
ZC25L-18 18 ZC50L-12 12
ZC25L-20 20 ZC50L-14 14
ZC32L-5 5 ZC50L-16 50 16 55 85
ZC32L-6 6 ZC50L-18 18
ZC32L-8 8 ZC50L-20 20
32 36 65
ZC32L-10 10 ZC50L-25 25
ZC32L-12 12 ZC50L-32 32
ZC32L-14 ZC50L-40 40

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZ#% TOOL SYSTEM §AHI §AHI TEZR#% | TOOLSYSTEM

B EERLTIBAIRF B #i%T DIN69872

MY ae i ) L

)fox L2 Ls

E11P 32 95

r E16P 44 145

) E20P 52 170

h gl
< %

od
od1
od2
ods
ds
od4

I

T

E25, WER25-S 65 210

Y E32, WER32-S 75 250
E40, WER40-S 90 290 JT40-A 54 26 20 7 23 19 14 M16 17 7 0.07

< JT50-A 74 34 25 10 36 28 21 M24 25 1.5 0.2
L

B HSKEX NHAET =

Ls|
> ]
X 7 TE R4 EEE I g3
FDS22 22 /v 3
FDS27 27 o
- FDS32 32
N FDS40 40
BT40-45° 60 35 28 6 23 15 10 M16 17 45° 0.06
BT40-60° 60 35 28 6 23 15 10 M16 17 60° 0.06
. ai jJ %i * gl 7] m m *ﬁ ¥ BT40-90° 60 35 28 6 23 15 10 M16 17 90° 0.06
'~
BT50-45° 85 45 35 10 38 23 17 M24 25 45° 0.26
BT50-60° 85 45 35 10 38 23 17 M24 25 60° 0.26
I E 42 L
Kids &= BT50-90° 85 45 35 10 38 23 17 M24 25 90° 0.26
WzC20-L 55-62
WZC25.L BEHHIETRTERSTL.
68.72 ERENRN, TTHINEEMA. ROI. BT40-45°W 114,
WZzC32-L Ht B XA ETTRIBERES.
WzC40-L 78-85
WzC50-L 100-100

iE: ERRFHEERMITE,

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com




TEZA% | TOOL SYSTEM

B ARISE Technical information

B HEfRiE

WA X DIN69871-A

JT30
47.8 19.1
Lt 19__19
i o &
N
N
35min
JT40
68.4 35.4min
1191
o 1]
< d
© :rr\r 228 25
S| 9 !
T sl N
S - SRR fan) S
|~ ©
ISIESIESILS Ky 0
<724/ 32+
18.
JT50
101.75 35min_
N o 355_ 377
@ A7
< 2 {
g 8 m [/ N
W;; :: X0l 0| \
== iy O
o Q2 «
AT
=17:24, sl 20

#H = 7 A

#mzX MAS403BT

BT30
48.4 13.6
o
s
g & | O
R E g8
=724 2120
60°
BT40
65.4
9 16.6
o I\
SRRy
~. 7
a |
S ===
<17:24,
2l
25
BT50
101.8
o 1232
@ 3
< g\
=
=
0] I T w8 ©
S 1 7 - E
Q
<17:24
35

N/

@56.144

35.4

Y,

THRAKEFE RSB X #EEZEEMNEwww.hnsant.com

#H o= 7 A

B MR

HSKxE 23X AEI(DIN698I3A)

<1:10

(]

(77
ol
de — 7|»
I

2d13
Le
= /
I
(R 5l =
B R e -
I lu- I kel
RS Ur ®
L2 )
f3
f1
L1 f2

pd12

TEZA% | TOOL SYSTEM

Technical information FAR{EE

HSK32

HSK40

HSK50

HSK63

HSK100

10.54

12.54

20.02

12

16

20

18

22

50

63

100

24

30

38

48

75

17

21

26

34

53

29

37

58

26

34

42

53

88

59.3

72.3

109.75

4 20
4 20
7 26
7 26
7 29

35

35

42

42

45

16

16

18

18

20

16

20

25

32

50

6.3

10

8.92

11.42

14.13

18.13

28.56

THREGEFBEREHE] X #EEEMKMIEwww.hnsant.com




TEZA% | TOOL SYSTEM

B WE IR

t1

13

od4
ds

da(6H)

da(min)

e3(01

)

#H = 7 A

e4 es3

e

#H o= 7 A

B ARERRKEHEMRE

TEZA% | TOOL SYSTEM

Technical information FAR{EE

O
o

T

@D

X RzEh sk
6 25 M6 8 18.0 3.5 8.5 15 uh
HEEE
8 28 M8 10 17 45 10 25 (mm)
10 35 M10 12 20 5.0 15 4.0 MT1 1/20.047 | 0.04988 1°25'43" 12.065 56 52 5.4 19 1 3.00-14.00
12 42 M12 14 20 6.0 20 5.0 MT2 1/20.047 | 0.04988 1°25'50” 17.780 67 62 6.6 22 1 14.00-23.00
14 44 M12 14 25 . 21 6.0 MT3 1/20.047 | 0.04988 1°26'16” 23.825 84 78 8.2 27 1 23.00-32.00
16 48 M14 16 MT4 1/20.047 | 0.04988 1°29'15” 31.267 107 98 12.2 32 15 32.00-50.00
18 50 M14 16 MT5 1/20.047 | 0.04988 1°30'26” 44.399 135 125 16.2 38 15 50.00-75.00
20 52 M16 18
25 65 M18x2 20
32 72 M20x2 22
K 7] ELRI B HREEREER
H NE 7] ERT i JE &
I1 b
e1 e1
( \ z 3 ( 5 z S R c
)_ \ (S L B S v [~
1 ! S Q s
M s g
b1 b1 12 - r
Ll \/450 458 ] e 8“1\8/7/
& B Fd1=06-020 &M Fd1=020-063 l2
d1(hs) (") b1("0%) l2('3) e1() h1(h11)
6 36 42 - 18.0 5.1 . JNSESkE
HES D D1 di d2 11 I2 b © e R Z35E (mm)
8 36 5.5 = 18.0 6.9
MT1 12.065 | 12.240 | 8.972 8.7 62.0 65.5 5.2 8.5 135 5 1.2 3.00-14.00
10 40 7.0 - 20.0 8.5
MT2 17.780 | 18.030 | 14.034 13.5 75.0 80.0 6.3 10.0 16.0 6 16 14.25-23.00
12 45 8.0 = 22.5 10.4
MT3 | 23825 | 24.076 | 19.107 18.5 94.0 99.0 7.9 13.0 20.0 7 2 23.25-31.75
14 45 8.0 - 225 12.7
MT4 31.267 | 31.605 | 25.164 245 1175 124.0 1.9 16.0 24.0 8 25 32.00-50.50
16 48 10.0 = 24.0 14.2
MT5 | 44.399 | 44741 | 36.531 35.7 149.5 156.0 15.9 19.0 29.0 10 3 51.00-76.00
18 48 10.0 - 24.0 16.2
20 50 11.0 = 25.0 18.2
&»
= 25 56 12.0 17 32.0 23.0
—
| 32 60 14.0 19 35.0 30.0

THREKEFBREHE] X ¥I151EEHMiwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com




TEZ#% TOOL SYSTEM §ANI §AHI TEZR#% | TOOLSYSTEM

B ARISE Technical information Technical information FAREE

B EREEE KA W g

L L
L1 L3, . L1
)Y\ L 145 |, L3
k
S g g AR BEE 1 g% BE g3§ i g
4 -8l 8|8 60°
t
I r
I2
= MRS EZSERE

RS D D1 d dr It 12 t r dz K (mm) 44 24 19 5 17 12 8 M12 13 - 0.05
MT1 12.065 12.240 9.396 9 53.5 57 5 0.2 M6 16 6.00-12.00 54 26 20 7 23 19 14 M16 17 7.0 0.07
MT2 17.780 18.030 14.583 14 64 69 & 0.2 M10 24 14.00-20.00 74 34 25 10 36 28 21 M24 25 11.5 0.22
MT3 23.825 24.076 19.759 19 81 86 7 0.6 M12 28 22.00-36.00 27 11.8 8.1 5 17 13.3 9.3 M12 13 _ 0.05
MT4 31.267 31.605 25.943 25 102.5 109 9 1.0 M16 32 32.00-56.00 445 16.40 1.15 7 25 18.95 12.95 M16 17 7.0 0.07
MT5 44.399 44.741 37.584 25.7 129.5 136 9 25 M20 40 40.00-71.00 655 25 55 17.95 10 36.0 2910 19.60 M24 25 15 0.22

j’il L2 L3

ods
ds
od4

[

EE(kg)
44 24 19 5 17 13 9 M12 13 - 0.05
54 26 20 7 23 19 14 M16 17 7.0 0.07
74 34 25 10 36 28 21 M24 25 1.5 0.20

THRAKEFBERERBE X #EEZMNwww.hnsant.com THREAKEFEREREBE] X #EHEEMMEkwww.hnsant.com




TEZ% TOOL SYSTEM §BNT

HAR{SE Technical information :l.'_

N
Il
i
ch

LT e
'o! '-ig‘ I/- \/] ! v‘
S B3 Al =] ‘# 9
e o | Bl45el#h,. FiaidthY
Al

29 11.80 8.15 2.75 165 13.55 9.30 M12 415 0.02
39 16.40 ‘ 115 3.25 225 18.95 ‘ 12.95 M16 7.35 0.07
60 2555 | 17.95 5.25 37.0 2910 |  19.60 M24 155 | 020

R (mm)
43 23 I 18 5 16.5 11 T M12 12.5 45° 0.03
43 23 18 ‘ 5 ‘ 16.5 i ‘ 7 ‘ M12 ‘ 12.5 60" ‘ 0.03
60 35 28 | 6 23 15 10 . M16 17 457 0.06
60 as 28 ‘ (5] ‘ 23 15 ‘ 10 ‘ M16 ‘ 7 60" ‘ 0.06
85 45 35 10 38 23 17 : M24 ! 25 45° 0.20
85 45 35 ‘ 10 ‘ 38 23 ‘ 17 ‘ M24 ‘ 25 ‘ 60" ‘ 0.20

Yoo 65 "
L. SRSy . § .
3 293
[ |
el =N\ o
STSTRES B 1 S =8
l I‘. o A=y
By ki
S 48
SANT FRME A e AR A=
w FE:2018- 2095 FRERMAEFRESRERS, EFEEEENR, Skt ZHUZHOU SANT CUTTING TOOLS CO.,LTD

TEHEEEGHELESE] R FHiEERMiwww hnsant.com




	00-封面-1
	01-简介
	02-目录
	03-目录+P1
	04-车刀1（02-37页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

	05-车刀2（38-95页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29

	06-P96
	07-铣削(97-162页)
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33

	08-铣削2（163-214页）
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26

	09-P215
	10-铣削3
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19


